THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

Bid MB-1663 Ended At Feb 28, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Renovations City Hall Old Channel 20 Studio

Company:	Pillar Contracting	Globe Construction Co.	
MB-1663 Base Bid	\$144,750.00	\$183,287.00	
TOTAL BID:	\$144,750.00	\$183,287.00	

Tresha Willi City Clerk	<u>Chad Harrison</u> Purchasing Agent	Brett Rangel Auditor
Poten	tial Bid Defects Noted:	
#1	Anti-collusion affidavit not properly notarized	
#2	Bid Bond missing	
#3	Bid Bond incorrect awarding agency	
#4	Bid Bond insufficient amount	

Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

#5

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MB-1663 - Renovations City Hall Old Channel 20 Studio

Creation Date **Jan 8, 2024** End Date **Feb 28, 2024 10:00:00 AM CST**

Start Date Jan 17, 2024 8:22:35 AM CST Awarded Date Not Yet Awarded

MB-166301-01 MB-1663 Base Bid: MB-1663 Base Bid								
Supplier	Qty/Unit	Total Price	Attch.	Docs				
Pillar Contracting	First Offer - \$144,750.00	1 / lump sum	\$144,750.00	Υ	Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Globe Construction Co.	First Offer - \$183,287.00	1 / lump sum	\$183,287.00	Υ	Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

Supplier Totals

f Pillar Contra	acting	\$144,750.00	
Bid Contact	Kyle Plemons kplemons@pillarcontracting.com Ph 405-721-9992	Address Oklahoma Oklahoma Oklahoma City, OK 7313	2
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes	:	Supplier Notes:	Head Attch:
f Globe Const	truction Co.	\$183,287.00	
f Globe Const Bid Contact	ruction Co. Peter Morrical pmorrical@globebuilds.com Ph 405-478-3502	\$183,287.00 Address PO Box 17420 Oklahoma City, OK 7313	
	Peter Morrical pmorrical@globebuilds.com Ph 405-478-3502	Address PO Box 17420	

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

Bid PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080 Ended At Feb 28, 2024 10:00:00 AM CST CONSTRUCTION/CITY - Roadway Widening and Improvements

Company:	SCHWARZ PAVING CO., INC.	T.J. Campbell Construction Co.	Atlas Paving Company
Base Bid PC-0557	\$3,888,709.90	\$4,250,414.50	\$4,302,640.60
Alternate 1 PC-0557	\$3,337,542.00	\$3,894,112.75	\$3,276,797.00
Alternate 2 PC-0557	\$4,765,695.75	\$4,614,488.30	\$5,878,595.00
Add Alternate 1 PC-0557	\$167,920.00	\$211,398.00	\$195,455.00
Base Bid PC-0558	\$5,626,259.95	\$5,738,451.10	\$5,743,428.55
Alternate A PC-0558	\$803,749.50	\$967,673.75	\$880,500.00
Alternate B PC-0558	\$1,532,175.00	\$1,334,475.00	\$1,647,500.00
TOTAL BID:	\$20,122,052.10	\$21,011,013.40	\$21,924,916.15

Company:	Allen Contracting, Inc.	Silver Star Construction Company
Base Bid PC-0557	\$4,465,868.20	\$4,327,227.216
Alternate 1 PC-0557	\$4,505,957.00	\$3,545,210.15
Alternate 2 PC-0557	\$4,952,685.25	\$5,401,117.25
Add Alternate 1 PC-0557	\$192,205.00	\$271,543.40
Base Bid PC-0558	\$5,783,223.10	\$6,236,645.20
Alternate A PC-0558	\$1,206,890.00	\$797,585.00
Alternate B PC-0558	\$1,190,318.75	\$1,743,055.00
TOTAL BID:	\$22,297,147.30	\$22,322,383.216

Tresha Williams	Chad Harrison	Brett Rangel
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
 and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a nonpublished document for review by staff.

Bid #PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080 - Roadway Widening and Improvements

Start Date Jan 31, 2024 8:05:27 AM CST Awarded Date Not Yet Awarded

C-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-01 Base Bid PC-0557: UNCLASSIFIED EXCAVATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$8.00	22680 / cubic yard	\$181,440.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: BID BONI	D ATTACHED				
Silver Star Construction Company	First Offer - \$9.05	22680 / cubic yard	\$205,254.00	Υ	Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$14.00	22680 / cubic yard	\$317,520.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Atlas Paving Company	First Offer - \$18.00	22680 / cubic yard	\$408,240.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$18.00	22680 / cubic yard	\$408,240.00	Υ	Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-02 Base Bid PC-0557: SUBGRADE METHOD B							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$2.00	9645 / square yard	\$19,290.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$2.60	9645 / square yard	\$25,077.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$4.00	9645 / square yard	\$38,580.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$6.00	9645 / square yard	\$57,870.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$8.00	9645 / square yard	\$77,160.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080--01-03 Base Bid PC-0557: TACK COAT

Unit Price	Qty/Unit	Total Price	Attch.	Docs
First Offer - \$3.75	723 / gallon	\$2,711.25		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$4.10	723 / gallon	\$2,964.30		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$4.50	723 / gallon	\$3,253.50		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$5.00	723 / gallon	\$3,615.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
First Offer - \$8.00	723 / gallon	\$5,784.00		Y
	Supplier Product Cod	e:		
	Supplier Notes:			
	First Offer - \$3.75 First Offer - \$4.10 First Offer - \$4.50 First Offer - \$5.00	First Offer - \$3.75 Supplier Product Cod Supplier Notes: First Offer - \$4.10 Supplier Product Cod Supplier Product Cod Supplier Notes: First Offer - \$4.50 Supplier Product Cod Supplier Notes: First Offer - \$5.00 Supplier Product Cod Supplier Notes: First Offer - \$5.00 Supplier Product Cod Supplier Notes: First Offer - \$8.00 Supplier Product Cod Supplier Notes: First Offer - \$8.00 Supplier Product Cod Supplier Notes:	First Offer - \$3.75 723 / gallon \$2,711.25 Supplier Product Code: Supplier Notes: First Offer - \$4.10 723 / gallon \$2,964.30 Supplier Product Code: Supplier Notes: First Offer - \$4.50 723 / gallon \$3,253.50 Supplier Product Code: Supplier Notes: First Offer - \$5.00 723 / gallon \$3,615.00 Supplier Product Code: Supplier Notes: First Offer - \$8.00 723 / gallon \$5,784.00 Supplier Product Code: Supplier Product Code:	First Offer - \$3.75

PC-0557 and WC-1085 PC-0558, WC-1106 an	d SC-108001-04 Base Bid PC-0	557: SUPERPAVE, TYP	E S3 (PG 64-22 OK)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$90.00	2161 / ton	\$194,490.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$95.00	2161 / ton	\$205,295.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$110.00	2161 / ton	\$237,710.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$150.00	2161 / ton	\$324,150.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$151.05	2161 / ton	\$326,419.05		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-05 Base Bid PC-0557: SUPERPAVE, TYPE S4 (PG 64-22 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$95.00	1080 / ton	\$102,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
SCHWARZ PAVING CO., INC.	First Offer - \$105.00	1080 / ton	\$113,400.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
T.J. Campbell Construction Co.	First Offer - \$120.00	1080 / ton	\$129,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$162.40	1080 / ton	\$175,392.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Allen Contracting, Inc.	First Offer - \$165.00	1080 / ton	\$178,200.00		Υ				
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:									

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-06 Base Bid PC-0557: REINFORCED CONCRETE PIPE (18 INCHES)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Allen Contracting, Inc.	First Offer - \$85.00	1544 / linear foot	\$131,240.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$96.00	1544 / linear foot	\$148,224.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	1544 / linear foot	\$154,400.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$106.20	1544 / linear foot	\$163,972.80	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$110.00	1544 / linear foot	\$169,840.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-07 Base Bid PC-0557: REINFORCED CONCRETE PIPE (24 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$95.00	854 / linear foot	\$81,130.00		Υ			
		Supplier Product Code Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$110.00	854 / linear foot	\$93,940.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Atlas Paving Company	First Offer - \$125.00	854 / linear foot	\$106,750.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$127.90	854 / linear foot	\$109,226.60		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$130.00	854 / linear foot	\$111,020.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-08 Base Bid PC-0557: REINFORCED CONCRETE PIPE (30 INCHES)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$115.00	347 / linear foot	\$39,905.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$130.00	347 / linear foot	\$45,110.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$130.00	347 / linear foot	\$45,110.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$177.70	347 / linear foot	\$61,661.90		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$185.00	347 / linear foot	\$64,195.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-09 Base Bid PC-0557: REINFORCED CONCRETE PIPE (36 INCHES)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Allen Contracting, Inc.	First Offer - \$125.00	207 / linear foot	\$25,875.00		Υ	

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:	
T.J. Campbell Construction Co.	First Offer - \$160.00	207 / linear foot	\$33,120.00	Υ
Product Code:		Supplier Product Code	•	
Agency Notes:		Supplier Notes:		
Atlas Paving Company	First Offer - \$230.00	207 / linear foot	\$47,610.00	Y
Product Code:		Supplier Product Code:	:	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$247.10	207 / linear foot	\$51,149.70	Y
Product Code:		Supplier Product Code:	:	
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	207 / linear foot	\$51,750.00	Y
Product Code:		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-10 Base Bid PC-0557: REINFORCED CONCRETE PIPE (42 INCHES)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$200.00	31 / linear foot	\$6,200.00		Υ			
		Supplier Product Code Supplier Notes:	e:					
T.J. Campbell Construction Co.	First Offer - \$205.00	31 / linear foot	\$6,355.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					
Atlas Paving Company	First Offer - \$350.00	31 / linear foot	\$10,850.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$355.45	31 / linear foot	\$11,018.95		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$370.00	31 / linear foot	\$11,470.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-11 Base Bid PC-0557: REINFORCED CONCRETE PIPE 18 INCHES "O" RING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$90.00	211 / linear foot	\$18,990.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$110.00	211 / linear foot	\$23,210.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$134.40	211 / linear foot	\$28,358.40		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$140.00	211 / linear foot	\$29,540.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$200.00	211 / linear foot	\$42,200.00		Υ			
Product Code:		Supplier Product Code	<u> </u>					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-12 Base Bid PC-0557: REINFORCED CONCRETE PIPE 24 INCHES "O" RING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$115.00	113 / linear foot	\$12,995.00		Υ		
Product Code:		Supplier Product Code	•				

Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$130.00	113 / linear foot	\$14,690.00	Υ
Product Code:		Supplier Product Code	.	
Agency Notes:		Supplier Notes:		
Silver Star Construction Company	First Offer - \$174.45	113 / linear foot	\$19,712.85	Υ
Product Code:		Supplier Product Code		
Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$180.00	113 / linear foot	\$20,340.00	Y
Product Code:		Supplier Product Code		
Agency Notes:		Supplier Notes:		
Atlas Paving Company	First Offer - \$230.00	113 / linear foot	\$25,990.00	Υ
Product Code:		Supplier Product Code		
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-13 Base Bid PC-0557: REINFORCED CONCRETE PIPE 30 INCHES "O" RING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$130.00	226 / linear foot	\$29,380.00		Υ			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$135.00	226 / linear foot	\$30,510.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$222.15	226 / linear foot	\$50,205.90		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$225.00	226 / linear foot	\$50,850.00		Υ			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$270.00	226 / linear foot	\$61,020.00		Υ			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-14 Base Bid PC-0557: REINFORCED CONCRETE PIPE 42 INCHES "O" RING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$225.00	44 / linear foot	\$9,900.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$230.00	44 / linear foot	\$10,120.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$350.00	44 / linear foot	\$15,400.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$364.10	44 / linear foot	\$16,020.40		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$380.00	44 / linear foot	\$16,720.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-15 Base Bid PC-0557: REINFORCED CONCRETE PIPE END SECTION (36")								
Supplier	Unit Price Qty/Unit Total Price Attch. Docs							
T.J. Campbell Construction Co.	First Offer - \$2,000	00 1 / linear foot	\$2,000.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

Allen Contracting, Inc.		First Offer - \$2,700.00	1 / linear foot	\$2,700.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Atlas Paving Company		First Offer - \$3,000.00	1 / linear foot	\$3,000.00		Υ
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
Silver Star Construction Company		First Offer - \$3,370.25	1 / linear foot	\$3,370.25		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
SCHWARZ PAVING CO., INC.		First Offer - \$3,800.00	1 / linear foot	\$3,800.00		Υ
Product Code:			Supplier Product Cod	de:		
Agency Notes:			Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-16 Base Bid PC-0557: JUNCTION BOX (4'X4')										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Allen Contracting, Inc.	First Offer - \$3,300.00	17 / each	\$56,100.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$4,646.85	17 / each	\$78,996.45		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$4,800.00	17 / each	\$81,600.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Atlas Paving Company	First Offer - \$6,000.00	17 / each	\$102,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$6,500.00	17 / each	\$110,500.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-17 Base Bid PC-0557: JUNCTION BOX (5'x5')									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Allen Contracting, Inc.	First Offer - \$4,200.00	3 / each	\$12,600.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$5,800.00	3 / each	\$17,400.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$5,814.00	3 / each	\$17,442.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$6,600.00	3 / each	\$19,800.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$9,000.00	3 / each	\$27,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-18 Base Bid PC-0557: MANHOLE (4' DIA.)										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Allen Contracting, Inc.		First Offer - \$2,500.00	1 / each	\$2,500.00		Υ				
Product Code:			Supplier Product Co	de:						
Agency Notes:			Supplier Notes:							
T.J. Campbell Construction Co.		First Offer - \$3,100.00	1 / each	\$3,100.00		Υ				

Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
Silver Star Construction Company	First Offer - \$3,110.20	1 / each	\$3,110.20	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
SCHWARZ PAVING CO., INC.	First Offer - \$3,800.00	1 / each	\$3,800.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	·
Atlas Paving Company	First Offer - \$5,000.00	1 / each	\$5,000.00	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-19 Base Bid PC-0557: DESIGN 2-0 INLET COMPLETE IN PLACE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$3,200.00	8 / each	\$25,600.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Allen Contracting, Inc.	First Offer - \$4,000.00	8 / each	\$32,000.00		Υ					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$5,320.90	8 / each	\$42,567.20		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$5,500.00	8 / each	\$44,000.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Atlas Paving Company	First Offer - \$7,500.00	8 / each	\$60,000.00		Υ					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-20 Base Bid PC-0557: DESIGN 2-1 INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$4,400.00	10 / each	\$44,000.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							
Allen Contracting, Inc.	First Offer - \$5,000.00	10 / each	\$50,000.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							
Silver Star Construction Company	First Offer - \$6,382.90	10 / each	\$63,829.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							
SCHWARZ PAVING CO., INC.	First Offer - \$6,750.00	10 / each	\$67,500.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							
Atlas Paving Company	First Offer - \$8,500.00	10 / each	\$85,000.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-21 Base Bid PC-0557: DESIGN 2-2 INLET COMPLETE IN PLACE										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
T.J. Campbell Construction Co.	First Offer - \$5,000.00	5 / each	\$25,000.00		Y					
Product Code:		Supplier Product Co	de:							
Agency Notes:		Supplier Notes:								
Allen Contracting, Inc.	First Offer - \$5,500.00	5 / each	\$27,500.00		Υ					
Product Code:		Supplier Product Co	de:							

Agency Notes:	Supplier Notes:				
Silver Star Construction Company	First Offer - \$7,721.25	5 / each	\$38,606.25		Υ
Product Code:	Supplier Product Co	de:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$8,000.00	5 / each	\$40,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$11,000.00	5 / each	\$55,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-22 Base Bid PC-0557: DESIGN 2-3 INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Allen Contracting, Inc.	First Offer - \$6,500.00	3 / each	\$19,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$7,500.00	3 / each	\$22,500.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$10,414.25	3 / each	\$31,242.75		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$10,500.00	3 / each	\$31,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$13,000.00	3 / each	\$39,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-23 Base Bid PC-0557: DESIGN 2-4 INLET COMPLETE IN PLACE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Allen Contracting, Inc.	First Offer - \$6,000.00	1 / each	\$6,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$9,500.00	1 / each	\$9,500.00		Y				
Product Code:	Supplier Product Co	de:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$11,866.40	1 / each	\$11,866.40		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$12,000.00	1 / each	\$12,000.00		Y				
Product Code:		Supplier Product Code:							
		Supplier Notes:							
Atlas Paving Company	First Offer - \$16,000.00	1 / each	\$16,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-24 Base Bid PC-0557: 5'X5' BOX TYPE INLET, OPEN ON 1 SIDE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$3,700.00	1 / each	\$3,700.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$5,743.55	1 / each	\$5,743.55		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

•				
SCHWARZ PAVING CO., INC.	First Offer - \$6,000.00	1 / each	\$6,000.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$6,500.00	1 / each	\$6,500.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		
Atlas Paving Company	First Offer - \$10,000.00	1 / each	\$10,000.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-25 Base Bid PC-0557: 7'x5' BOX TYPE INLET, OPEN ON 1 SIDE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$5,500.00	1 / each	\$5,500.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$6,816.40	1 / each	\$6,816.40		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$7,000.00	1 / each	\$7,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$7,000.00	1 / each	\$7,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$12,000.00	1 / each	\$12,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-26 Base Bid PC-0557: 8'x8' BOX TYPE INLET, OPEN ON 2 SIDES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$7,986.80	1 / each	\$7,986.80		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$8,000.00	1 / each	\$8,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$8,400.00	1 / each	\$8,400.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$9,000.00	1 / each	\$9,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$15,000.00	1 / each	\$15,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-27 Base Bid PC-0557: E.P.S. OPTICAL DETECTOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,130.00	4 / each	\$4,520.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,224.55	4 / each	\$4,898.20		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,300.00	4 / each	\$5,200.00		Υ			

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
Allen Contracting, Inc.	First Offer - \$1,300.00 4 / each \$5,200.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	
SCHWARZ PAVING CO., INC.	First Offer - \$1,300.00 4 / each \$5,200.00	Y
Product Code:	Supplier Product Code:	
Agency Notes:	Supplier Notes:	

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-28 Base Bid PC-0557: E.P.S. 2 CHANNEL PHASE SELECTOR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1,780.00	2 / each	\$3,560.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				
Silver Star Construction Company	First Offer - \$1,928.95	2 / each	\$3,857.90		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				
T.J. Campbell Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				
Allen Contracting, Inc.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-29 Base Bid PC-0557: OPTICAL DETECTOR CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$2.60	965 / linear foot	\$2,509.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2.80	965 / linear foot	\$2,702.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$3.00	965 / linear foot	\$2,895.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$3.00	965 / linear foot	\$2,895.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	965 / linear foot	\$2,895.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-30 Base Bid PC-0557: TRAFFIC SIGNAL CONTROLLER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$50,391.45	1 / lump sum	\$50,391.45		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$52,000.00	1 / lump sum	\$52,000.00		Y		
Product Code:		Supplier Product Co	de:				

Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.		First Offer - \$53,000.00	1 / lump sum	\$53,000.00		Y
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$54,000.00	1 / lump sum	\$54,000.00		Y
Product Code:			Supplier Product Co	de:		
Agency Notes:			Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-31 Base Bid PC-0557: 2" TRAFFIC SIGNAL CONDUIT (TRENCHED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$24.00	360 / linear foot	\$8,640.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$26.00	360 / linear foot	\$9,360.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$26.00	360 / linear foot	\$9,360.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$27.00	360 / linear foot	\$9,720.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$28.00	360 / linear foot	\$10,080.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-32 Base Bid PC-0557: 3" TRAFFIC SIGNAL CONDUIT (TRENCHED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$30.00	340 / linear foot	\$10,200.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$32.50	340 / linear foot	\$11,050.00		Y		
Product Code:		Supplier Product Code:	:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$33.00	340 / linear foot	\$11,220.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$34.00	340 / linear foot	\$11,560.00		Y		
Product Code:		Supplier Product Code:	:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$35.00	340 / linear foot	\$11,900.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-33 Base Bid PC-0557: 3" TRAFFIC SIGNAL CONDUIT (BORED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$40.00	1000 / linear foot	\$40,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$43.35	1000 / linear foot	\$43,350.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$45.00	1000 / linear foot	\$45,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

Allen Contracting, Inc.	First Offer - \$45.00	1000 / linear foot	\$45,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	1000 / linear foot	\$45,000.00	Υ	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-34 Base Bid PC-0557: TWO CONDUCTOR SHIELDED CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1.70	120 / linear foot	\$204.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$1.85	120 / linear foot	\$222.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1.90	120 / linear foot	\$228.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2.00	120 / linear foot	\$240.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	120 / linear foot	\$240.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-35 Base Bid PC-0557: (5) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$3.50	5500 / linear foot	\$19,250.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$3.80	5500 / linear foot	\$20,900.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$4.00	5500 / linear foot	\$22,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$4.00	5500 / linear foot	\$22,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	5500 / linear foot	\$22,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-36 Base Bid PC-0557: (7) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$5.00	300 / linear foot	\$1,500.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$5.40	300 / linear foot	\$1,620.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$5.50	300 / linear foot	\$1,650.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$5.50	300 / linear foot	\$1,650.00		Υ				

Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$6.00	300 / linear foot	\$1,800.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-37 Base Bid PC-0557: (21) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$11.00	800 / linear foot	\$8,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$11.90	800 / linear foot	\$9,520.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$12.00	800 / linear foot	\$9,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$12.00	800 / linear foot	\$9,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	800 / linear foot	\$9,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-38 Base Bid PC-0557: (1/C) (AWG NO. 6) ELEC. CONDUCTOR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$2.20	500 / linear foot	\$1,100.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$2.40	500 / linear foot	\$1,200.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2.50	500 / linear foot	\$1,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2.50	500 / linear foot	\$1,250.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	500 / linear foot	\$1,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-39 Base Bid PC-0557: (1/C) (AWG NO. 10) ELEC. CONDUCTOR							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1.40	1600 / linear foot	\$2,240.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1.50		\$2,400.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$1.50	1600 / linear foot	\$2,400.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$1.50	1600 / linear foot	\$2,400.00		Υ		
Product Code:		Supplier Product Code:					

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$1.50	1600 / linear foot	\$2,400.00	Y
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-40 Base Bid PC-0557: 3 SECTION TRAFFIC SIGNAL HEAD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$925.00	8 / each	\$7,400.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,000.00	8 / each	\$8,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,002.40	8 / each	\$8,019.20		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$1,100.00	8 / each	\$8,800.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	8 / each	\$8,800.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-41 Base Bid PC-0557: 4 SECTION TRAFFIC SIGNAL HEAD							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1,080.00	4 / each	\$4,320.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,170.40	4 / each	\$4,681.60		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,200.00	4 / each	\$4,800.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-42 Base Bid PC-0557: PEDESTRIAN SIGNAL HEAD									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$710.00	16 / each	\$11,360.00		Y				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$769.40	16 / each	\$12,310.40		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$800.00	16 / each	\$12,800.00		Y				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$800.00	16 / each	\$12,800.00		Υ				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							

SCHWARZ PAVING CO., INC.	First Offer - \$800.00	16 / each	\$12,800.00	Y
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-43 Base Bid PC-0557: PEDESTRIAN PUSH BUTTON AND SIGN									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$985.00	16 / each	\$15,760.00		Υ				
		Supplier Product Co Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$1,067.45	16 / each	\$17,079.20		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
T.J. Campbell Construction Co.	First Offer - \$1,100.00	16 / each	\$17,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$1,100.00	16 / each	\$17,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	16 / each	\$17,600.00		Υ				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC- (INSTALLED)	108001-44 Base Bid PC-05	57: POLE & SPECIFIED	40' MAST ARM & LUN	/IINAIRE A	RM	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$22,000.00	1 / each	\$22,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Silver Star Construction Company	First Offer - \$23,830.30	1 / each	\$23,830.30		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$24,000.00	1 / each	\$24,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$25,000.00	1 / each	\$25,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$25,000.00	1 / each	\$25,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

Supplier	U	Jnit Price Otv	y/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$3		each	\$70,000.00	22000	Υ	
Product Code:		Sup	plier Product Cod	le:			
Agency Notes:			plier Notes:				
Silver Star Construction Company	First Offer - \$3	35,490.75 27	each	\$70,981.50		Υ	
Product Code:		Sup	Supplier Product Code:				
Agency Notes:		Sup	Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$3	36,000.00 27	each	\$72,000.00		Υ	
Product Code:		Sup	Supplier Product Code:				
Agency Notes:		Sup	plier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$3	36,000.00 27	each	\$72,000.00		Υ	
Product Code:		Sup	Supplier Product Code:				

Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$38,000.00	2 / each	\$76,000.00	Υ
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC- (INSTALLED)	1080-01-46 Base Bid PC-05	57: POLE & SPECIFIED	55 MAST ARM & LUI	MINAIRE A	KIVI	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$35,100.00	1 / each	\$35,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			
Silver Star Construction Company	First Offer - \$37,994.10	1 / each	\$37,994.10		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$39,000.00	1 / each	\$39,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$40,000.00	1 / each	\$40,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$40,000.00	1 / each	\$40,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-47 Base Bid PC-0557: PEDESTAL POLE W/ 8-FT MOUNTING HEIGHT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$755.00	8 / each	\$6,040.00		Υ				
		Supplier Product Coo Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$818.20	8 / each	\$6,545.60		Υ				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$850.00	8 / each	\$6,800.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$850.00	8 / each	\$6,800.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$900.00	8 / each	\$7,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080-01-48 Base Bid PC-0557: PEDESTAL POLE W/ 10-FT MOUNTING HEIGHT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$930.00	5 / each	\$4,650.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,000.00	5 / each	\$5,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,007.85	5 / each	\$5,039.25		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,100.00	5 / each	\$5,500.00		Y			
Product Code:		Supplier Product Co	de:					

Agency Notes:		Supplier Notes:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,200.00	5 / each	\$6,000.00	Υ
Product Code:		Supplier Product Cod	de:	
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-49 Base Bid PC-0557: STRUCTURAL CONCRETE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,250.00	32 / cubic yard	\$40,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,354.60	32 / cubic yard	\$43,347.20		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,400.00	32 / cubic yard	\$44,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,400.00	32 / cubic yard	\$44,800.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,500.00	32 / cubic yard	\$48,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-50 Base Bid PC-0557: REINFORCING STEEL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$2.40	4310 / pound	\$10,344.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	4310 / pound	\$10,775.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$2.60	4310 / pound	\$11,206.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2.75	4310 / pound	\$11,852.50		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$3.00	4310 / pound	\$12,930.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-51 Base Bid PC-0557: PULL BOX TYPE II							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1,260.00	8 / each	\$10,080.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,365.45	8 / each	\$10,923.60		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,400.00	8 / each	\$11,200.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,400.00	8 / each	\$11,200.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

Allen Contracting, Inc.	First Offer - \$1,500.00	8 / each	\$12,000.00	Y
Product Code:		Supplier Product Co	de:	
Agency Notes:		Supplier Notes:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-52 Base Bid PC-0557: SCHOOL FLASHERS							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer -	\$8,000.00	4 / each	\$32,000.00		Y	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
Silver Star Construction Company	First Offer -	\$8,669.50	4 / each	\$34,678.00		Y	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
Allen Contracting, Inc.	First Offer -	\$9,000.00	4 / each	\$36,000.00		Y	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
SCHWARZ PAVING CO., INC.	First Offer -	\$9,000.00	4 / each	\$36,000.00		Y	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			
T.J. Campbell Construction Co.	First Offer -	\$9,300.00	4 / each	\$37,200.00		Υ	
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-53 Base Bid PC-0557: SHEET ALUMINUM SIGNS						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC.	First Offer - \$40.00	589 / square foot	\$23,560.00		Y	
		Supplier Product Code: Supplier Notes:				
Atlas Paving Company	First Offer - \$50.00	589 / square foot	\$29,450.00		Y	
		Supplier Product Code: Supplier Notes:				
Silver Star Construction Company	First Offer - \$52.55	589 / square foot	\$30,951.95		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$55.00	589 / square foot	\$32,395.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$55.00	589 / square foot	\$32,395.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-54 Base Bid PC-0557: REMOVAL OF EXISTING SIGNS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$75.00	42 / each	\$3,150.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$81.30	42 / each	\$3,414.60		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$85.00	42 / each	\$3,570.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$100.00	42 / each	\$4,200.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$165.00	42 / each	\$6,930.00		Υ		

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-55 Base Bid PC-0557: REMOVE AND RESET GROUND MOUNTED SIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$341.60	4 / each	\$1,366.40		Υ			
		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$350.00	4 / each	\$1,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:					
Atlas Paving Company	First Offer - \$350.00	4 / each	\$1,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$350.00	4 / each	\$1,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	4 / each	\$2,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-56 Base Bid PC-0557: MAST ARM MOUNTED SIGNS							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$60.00	118 / square foot	\$7,080.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$65.00	118 / square foot	\$7,670.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$65.00	118 / square foot	\$7,670.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$65.00	118 / square foot	\$7,670.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$70.00	118 / square foot	\$8,260.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-57 Base Bid PC-0557: SQUARE STEEL SIGN POST (2")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$8.50	651 / linear foot	\$5,533.50		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$8.85	651 / linear foot	\$5,761.35		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$9.00	651 / linear foot	\$5,859.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$9.00	651 / linear foot	\$5,859.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$15.00	651 / linear foot	\$9,765.00		Y		
Product Code:		Supplier Product Code:					

Agency Notes: Supplier Notes:

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-58 Base Bid PC-0557: TRAFFIC STRIPE (4 INCH WIDE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$1.20	21062 / linear foot	\$25,274.40		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$1.30	21062 / linear foot	\$27,380.60		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1.50	21062 / linear foot	\$31,593.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1.55	21062 / linear foot	\$32,646.10		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$1.60	21062 / linear foot	\$33,699.20		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-59 Base Bid PC-0557: TRAFFIC STRIPE (8 INCH WIDE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$2.00	775 / linear foot	\$1,550.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$2.15	775 / linear foot	\$1,666.25		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$2.25	775 / linear foot	\$1,743.75		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$2.50	775 / linear foot	\$1,937.50		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	775 / linear foot	\$1,937.50		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-60 Base Bid PC-0557: TRAFFIC STRIPE (12 INCH WIDE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	184 / linear foot	\$736.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Atlas Paving Company	First Offer - \$8.00	184 / linear foot	\$1,472.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$8.65	184 / linear foot	\$1,591.60		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$9.00	184 / linear foot	\$1,656.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$9.00	184 / linear foot	\$1,656.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	08001-61 Base Bid PC	C-0557: TRAFFIC STRIPE (2	4 INCH WIDE)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	1432 / linear foot	\$8,592.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$17.00	1432 / linear foot	\$24,344.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$17.35	1432 / linear foot	\$24,845.20		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$18.00	1432 / linear foot	\$25,776.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$18.00	1432 / linear foot	\$25,776.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-62 Base Bid PC-0557: TRAFFIC STRIPE (ARROW)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$285.00	30 / each	\$8,550.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
SCHWARZ PAVING CO., INC.	First Offer - \$300.00	30 / each	\$9,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$308.85	30 / each	\$9,265.50		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$325.00	30 / each	\$9,750.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$350.00	30 / each	\$10,500.00		Υ				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-63 Base Bid PC-0557: RADAR VEHICLE DETECTION FOR 4-WAY INTERSECTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$90,000.00	1 / each	\$90,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$95,364.50	1 / each	\$95,364.50		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$100,000.00	1 / each	\$100,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$100,000.00	1 / each	\$100,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$100,000.00	1 / each	\$100,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-64 Base Bid PC-0557: CONSTRUCTION STAKING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$32,239.70	1 / lump sum	\$32,239.70		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$44,000.00	1 / lump sum	\$44,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$70,000.00	1 / lump sum	\$70,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-65 Base Bid PC-0557: CONSTRUCTION TRAFFIC CONTROL								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$136,978.10	1 / lump sum	\$136,978.10		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$151,000.00	1 / lump sum	\$151,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$175,000.00	1 / lump sum	\$175,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$180,000.00	1 / lump sum	\$180,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-66 Base Bid PC-0557: PORTABLE TRAFFIC SIGNAL SYSTEM (SP)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$125.00	300 / day	\$37,500.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Atlas Paving Company	First Offer - \$350.00	300 / day	\$105,000.00		Y				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$487.65	300 / day	\$146,295.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$500.00	300 / day	\$150,000.00		Y				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
T.J. Campbell Construction Co.	First Offer - \$520.00	300 / day	\$156,000.00		Υ				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-67 Base Bid PC-0557: MOBILIZATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company	First Offer - \$215,000.00	1 / lump sum	\$215,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$350,000.00	1 / lump sum	\$350,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$350,000.00	1 / lump sum	\$350,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$375,000.00	1 / lump sum	\$375,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$400,000.00	1 / lump sum	\$400,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-68 Base Bid PC-0557: CLEARING AND GRUBBING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$13,000.00	1 / lump sum	\$13,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$54,184.35	1 / lump sum	\$54,184.35		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-69 Base Bid PC-0557: STRUCTURE REMOVAL (TRAFFIC SIGNAL EQUIPMENT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$4,500.00	1 / lump sum	\$4,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:					
Silver Star Construction Company	First Offer - \$4,876.60	1 / lump sum	\$4,876.60		Y			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$5,300.00	1 / lump sum	\$5,300.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:					
SCHWARZ PAVING CO., INC.	First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	le:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-70 Base Bid PC-0557: REMOVAL OF STRUCTURES & OBSTRUCTIONS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$3,686.85	1 / lump sum	\$3,686.85		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$13,500.00	1 / lump sum	\$13,500.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$16,000.00	1 / lump sum	\$16,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-71 Base Bid PC-0557: REMOVE CURB AND GUTTER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$8.00	2537 / linear foot	\$20,296.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$8.00	2537 / linear foot	\$20,296.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$8.90	2537 / linear foot	\$22,579.30		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$9.00	2537 / linear foot	\$22,833.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$13.00	2537 / linear foot	\$32,981.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-72 Base Bid PC-0557: CONCRETE PAVEMENT REMOVAL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$10.00	2028 / square yard	\$20,280.00		Υ				
		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	2028 / square yard	\$26,364.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$15.95	2028 / square yard	\$32,346.60		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$16.00	2028 / square yard	\$32,448.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$18.00	2028 / square yard	\$36,504.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-73 Base Bid PC-0557: REMOVAL OF ASPHALT PAVEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	31794 / square yard	\$95,382.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$4.40	31794 / square yard	\$139,893.60		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$5.00	31794 / square yard	\$158,970.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$6.50	31794 / square yard	\$206,661.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$7.00	31794 / square yard	\$222,558.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-74 Base Bid PC-0557: REMOVAL OF MANHOLES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$866.95	4 / each	\$3,467.80		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$900.00	4 / each	\$3,600.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$900.00	4 / each	\$3,600.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$1,000.00	4 / each	\$4,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,800.00	4 / each	\$7,200.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-75 Base Bid PC-0557: REMOVAL OF EXISTING PIPE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$15.00	1862 / linear foot	\$27,930.00		Υ			
		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$17.00	1862 / linear foot	\$31,654.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$24.00	1862 / linear foot	\$44,688.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$30.00	1862 / linear foot	\$55,860.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$30.35	1862 / linear foot	\$56,511.70		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-76 Base Bid PC-0557: SAWCUT PAVEMENT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$3.00	6571 / linear foot	\$19,713.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company	First Offer - \$3.00	6571 / linear foot	\$19,713.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	6571 / linear foot	\$19,713.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$3.80	6571 / linear foot	\$24,969.80		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$7.00	6571 / linear foot	\$45,997.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-77 Base Bid PC-0557: REMOVAL OF SIDEWALK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$16.05	20 / square yard	\$321.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20.00	20 / square yard	\$400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$20.00	20 / square yard	\$400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	20 / square yard	\$600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$80.00	20 / square yard	\$1,600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-78 Base Bid PC-0557: 4" CONCRETE SIDEWALK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$55.00	1433 / square yard	\$78,815.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$65.00	1433 / square yard	\$93,145.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$65.00	1433 / square yard	\$93,145.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$68.00	1433 / square yard	\$97,444.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$69.75	1433 / square yard	\$99,951.75		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-79 Base Bid PC-0557: 6" CONCRETE DRIVEWAY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$80.00	3031 / square yard	\$242,480.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$85.00	3031 / square yard	\$257,635.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$86.00	3031 / square yard	\$260,666.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$90.00	3031 / square yard	\$272,790.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$121.55	3031 / square yard	\$368,418.05		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-80 Base Bid PC-0557: ADA CURB RAMP (8")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$125.00	55 / square yard	\$6,875.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$175.00	55 / square yard	\$9,625.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$180.00	55 / square yard	\$9,900.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$274.00	55 / square yard	\$15,070.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$330.00	55 / square yard	\$18,150.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-81 Base Bid PC-0557: TACTILE MARKERS/TRUNCATED DOMES								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$20.90	120 / square foot	\$2,508.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$30.00	120 / square foot	\$3,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$35.00	120 / square foot	\$4,200.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$40.00	120 / square foot	\$4,800.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	120 / square foot	\$5,400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-82 Base Bid PC-0557: TEMPORARY SILT FENCE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$1.95	200 / linear foot	\$390.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2.50	200 / linear foot	\$500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$3.25	200 / linear foot	\$650.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$10.00	200 / linear foot	\$2,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20.00	200 / linear foot	\$4,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-83 Base Bid PC-0557: TEMPORARY SEDIMENT FILTER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$13.00	24 / each	\$312.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$175.00	24 / each	\$4,200.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$200.00	24 / each	\$4,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$216.75	24 / each	\$5,202.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$300.00	24 / each	\$7,200.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-84 Base Bid PC-0557: TEMPORARY SILT DIKE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$10.85	50 / square yard	\$542.50		Υ			
		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$15.00	50 / square yard	\$750.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$17.00	50 / square yard	\$850.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20.00	50 / square yard	\$1,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	50 / square yard	\$1,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-85 Base Bid PC-0557: SOLID SLAB SODDING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Allen Contracting, Inc.	First Offer - \$2.50	9695 / square yard	\$24,237.50		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Silver Star Construction Company	First Offer - \$3.10	9695 / square yard	\$30,054.50		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$3.75	9695 / square yard	\$36,356.25		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Atlas Paving Company	First Offer - \$4.00	9695 / square yard	\$38,780.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
SCHWARZ PAVING CO., INC.	First Offer - \$6.50	9695 / square yard	\$63,017.50		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-86 Base Bid PC-0557: VEGETATIVE MULCHING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$1,000.00	4.33 / acre	\$4,330.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$1,200.00	4.33 / acre	\$5,196.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$2,000.00	4.33 / acre	\$8,660.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2,900.00	4.33 / acre	\$12,557.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$3,585.20	4.33 / acre	\$15,523.916		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1 WALL THICK)	08001-87 Base Bid PC-0	0557: (6 IN) (C900 DR14	PVC) WATER LINE PIP	E (MJ) (0.49	93 IN
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCHWARZ PAVING CO., INC.	First Offer - \$120.00	17 / linear foot	\$2,040.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$130.00	17 / linear foot	\$2,210.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$150.00	17 / linear foot	\$2,550.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$295.00	17 / linear foot	\$5,015.00		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$319.70	17 / linear foot	\$5,434.90		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC- WALL THICK)	108001-88 Base Bid PC-	0557: (12 IN) (C900 DR14	1 PVC) WATER LINE PI	PE (MJ) (0.9	943 IN
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$260.00	168 / linear foot	\$43,680.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$360.00	168 / linear foot	\$60,480.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$370.00	168 / linear foot	\$62,160.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$375.00	168 / linear foot	\$63,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$400.95	168 / linear foot	\$67,359.60		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	108001-89 Base Bid PC-	0557: (16 IN) (C900 DR1	4 PVC) WATER LINE PI	PE (MJ) (1.2	242 IN
WALL THICK)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$275.00	70 / linear foot	\$19,250.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$400.00	70 / linear foot	\$28,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$433.45	70 / linear foot	\$30,341.50		Y
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$450.00	70 / linear foot	\$31,500.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$450.00	70 / linear foot	\$31,500.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-90 Base Bid PC-0557: FITTINGS (12 IN - 45� BEND RESTRAINED MJ & MEGALUG)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,500.00	8 / each	\$12,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,625.55	8 / each	\$13,004.40		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2,200.00	8 / each	\$17,600.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$2,300.00	8 / each	\$18,400.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,900.00	8 / each	\$23,200.00		Υ			
Product Code:		Supplier Product Co	de:					

Agency Notes: Supplier Notes:

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-91 Base Bid PC-0557: FITTINGS (16 IN - 45تزيء BEND RESTRAINED MJ & MEGALUG)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$2,600.00	4 / each	\$10,400.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$2,817.60	4 / each	\$11,270.40		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$3,200.00	4 / each	\$12,800.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$4,500.00	4 / each	\$18,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$4,600.00	4 / each	\$18,400.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-92 Base Bid PC-0557: FITTINGS (12 IN X 6 IN TEE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$2,500.00	1 / each	\$2,500.00		Y				
		Supplier Product Co Supplier Notes:	de:						
Allen Contracting, Inc.	First Offer - \$2,500.00	1 / each	\$2,500.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Atlas Paving Company	First Offer - \$2,800.00	1 / each	\$2,800.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$2,800.00	1 / each	\$2,800.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$3,034.35	1 / each	\$3,034.35		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-93 Base Bid PC-0557: FITTINGS (12 IN X 12 IN TEE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$2,900.00	1 / each	\$2,900.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Atlas Paving Company	First Offer - \$3,500.00	1 / each	\$3,500.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Allen Contracting, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$3,792.90	1 / each	\$3,792.90		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
SCHWARZ PAVING CO., INC.	First Offer - \$3,800.00	1 / each	\$3,800.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC- MEGALUG)	108001-94 Base Bid PC-0	557: FITTINGS (12 IN x	6 IN REDUCER RESTR	AINED MJ 8	<u>&</u>
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc.	First Offer - \$1,500.00	1 / each	\$1,500.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$2,200.00	1 / each	\$2,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$3,650.00	1 / each	\$3,650.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Silver Star Construction Company	First Offer - \$3,955.45	1 / each	\$3,955.45		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-95 Base Bid PC-0557: (12 IN SOLID SLEEVE & MEGALUG) TAP									
Supplier	Unit	t Price (Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$1,8	300.00	4 / each	\$7,200.00		Y			
Product Code:		S	Supplier Product Cod	de:					
Agency Notes:		S	Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,8	300.00	4 / each	\$7,200.00		Y			
Product Code:		S	Supplier Product Cod	de:					
Agency Notes:		S	Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,1	100.00	4 / each	\$8,400.00		Y			
Product Code:		S	Supplier Product Cod	de:					
Agency Notes:		S	Supplier Notes:						
Atlas Paving Company	First Offer - \$5,9	900.00 4	4 / each	\$23,600.00		Y			
Product Code:		S	Supplier Product Cod	de:					
Agency Notes:		S	Supplier Notes:						
Silver Star Construction Company	First Offer - \$6,3	393.75	4 / each	\$25,575.00		Y			
Product Code:		S	Supplier Product Cod	de:					
Agency Notes:		S	Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-96 Base Bid PC-0557: (16 IN SOLID SLEEVE & MEGALUG) TAP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$3,400.00	1 / each	\$3,400.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$4,300.00	1 / each	\$4,300.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$4,500.00	1 / each	\$4,500.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$7,000.00	1 / each	\$7,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$7,585.80	1 / each	\$7,585.80		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-97 Base Bid PC-0557: FIRE HYDRANT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$7,300.00	1 / each	\$7,300.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$7,500.00	1 / each	\$7,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$8,300.00	1 / each	\$8,300.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$8,500.00	1 / each	\$8,500.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$9,211.35	1 / each	\$9,211.35		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-98 Base Bid PC-0557: REMOVAL OF FIRE HYDRANT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$475.00	1 / each	\$475.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$1,000.00	1 / each	\$1,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,083.70	1 / each	\$1,083.70		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC- VALVE AND BOX	108001-99 Base Bid PC-05	57: (12 IN) (AVT EZ INS	SERTION GATE VALVE) (3-4 FOO	T DEPTH)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$26,000.00	1 / each	\$26,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$26,000.00	1 / each	\$26,000.00		Y
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$28,175.90	1 / each	\$28,175.90		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$34,000.00	1 / each	\$34,000.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$34,000.00	1 / each	\$34,000.00		Υ
Product Code:		Supplier Product Co	de:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC- VALVE AND BOX	108001-100 Base Bid PC-0	557: (16 IN) (AVT EZ IN	ISERTION GATE VALV	'E) (3-4 FO	OT DEPTH)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$47,650.00	1 / each	\$47,650.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
Silver Star Construction Company	First Offer - \$51,637.70	1 / each	\$51,637.70		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$56,000.00	1 / each	\$56,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$56,000.00	1 / each	\$56,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$58,000.00	1 / each	\$58,000.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-101 Base Bid PC-0557: (12 IN) (GATE VALVE) (3-4 FOOT DEPTH) VALVE AND BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$6,200.00	1 / each	\$6,200.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$8,000.00	1 / each	\$8,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$15,000.00	1 / each	\$15,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$50,000.00	1 / each	\$50,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$54,184.35	1 / each	\$54,184.35		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-102 Base Bid PC-0557: HYDROSTATIC PRESSURE TESTING AND DISINFECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$7,000.00	1 / lump sum	\$7,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$7,500.00	1 / lump sum	\$7,500.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$10,836.90	1 / lump sum	\$10,836.90		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-103 Base Bid PC-0557: REMOVE EXISTING WATERLINE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$11.00	189 / linear foot	\$2,079.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	189 / linear foot	\$2,268.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$25.00	189 / linear foot	\$4,725.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$27.10	189 / linear foot	\$5,121.90		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$29.00	189 / linear foot	\$5,481.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-104 Base Bid PC-0557: BORROW								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$4.00	2200 / cubic yard	\$8,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	2200 / cubic yard	\$13,200.00		Y			
		Supplier Product Code:						
Agency Notes:	F: + O	Supplier Notes:	±15 500 00					
T.J. Campbell Construction Co.	First Offer - \$7.50	2200 / cubic yard	\$16,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$20.00	2200 / cubic yard	\$44,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$25.30	2200 / cubic yard	\$55,660.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-105 Base Bid PC-0557: REMOVABLE PAVEMENT MARKING TAPE (4" WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1.00	94700 / linear foot	\$94,700.00		Υ			
		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1.00	94700 / linear foot	\$94,700.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1.70	94700 / linear foot	\$160,990.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1.70	94700 / linear foot	\$160,990.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1.80	94700 / linear foot	\$170,460.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–01-106 Base Bid PC-0557: PAVEMENT MRKNG. REMOVAL (TRAF.STRP)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$0.30	94700 / linear foot	\$28,410.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$0.50	94700 / linear foot	\$47,350.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$0.69	94700 / linear foot	\$65,343.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$0.70	94700 / linear foot	\$66,290.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$0.75	94700 / linear foot	\$71,025.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-107 Base Bid PC-0557: DELIVER PORTABLE LONGITUDINAL BARRIER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$15.00	1488 / linear foot	\$22,320.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$21.00	1488 / linear foot	\$31,248.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$42.25	1488 / linear foot	\$62,868.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$45.80	1488 / linear foot	\$68,150.40		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$50.00	1488 / linear foot	\$74,400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-108 Base Bid PC-0557: RELOCATION OF PORT. LONGITUDINAL BARRIER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1.50	5135 / linear foot	\$7,702.50		Y		
Product Code:		Supplier Product Code: Supplier Notes:					
Agency Notes:	F: + 0.55 +4.55		+0.470.75				
Silver Star Construction Company	First Offer - \$1.65	5135 / linear foot	\$8,472.75		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	5135 / linear foot	\$15,405.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$11.25	5135 / linear foot	\$57,768.75		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$14.00	5135 / linear foot	\$71,890.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108001-109 Base Bid PC-0557: PEDESTAL POLE W/ 15-FT MOUNTING HEIGHT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,300.00	4 / each	\$5,200.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,332.95	4 / each	\$5,331.80		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,400.00	4 / each	\$5,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,400.00	4 / each	\$5,600.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,500.00	4 / each	\$6,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-01 Alternate 1 PC-0557: CEMENTITIOUS STABILIZED SUBGRADE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$3.00	31849 / square yard	\$95,547.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$4.00	31849 / square yard	\$127,396.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$4.25	31849 / square yard	\$135,358.25		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$6.25	31849 / square yard	\$199,056.25		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$6.50	31849 / square yard	\$207,018.50		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-10	08002-02 Alternate 1 P	C-0557: CEMENT KILN	DUST		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Silver Star Construction Company	First Offer - \$64.00	1720 / ton	\$110,080.00		Υ
		Supplier Product Coo Supplier Notes:	de:		
SCHWARZ PAVING CO., INC.	First Offer - \$70.00	1720 / ton	\$120,400.00		Υ
Product Code: Supplier Product Code: Supplier Notes: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$86.00	1720 / ton	\$147,920.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$90.00	1720 / ton	\$154,800.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		
Atlas Paving Company	First Offer - \$110.00	1720 / ton	\$189,200.00		Υ
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:		

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-03 Alternate 1 PC-0557: AGGREGATE BASE TYPE A							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$70.00	1566 / cubic yard	\$109,620.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$90.00	1566 / cubic yard	\$140,940.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$92.00	1566 / cubic yard	\$144,072.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$95.00	1566 / cubic yard	\$148,770.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$110.00	1566 / cubic yard	\$172,260.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-04 Alternate 1 PC-0557: 2'-8" COMB. CRB. & GUT. (8" BARRIER)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$23.00	10038 / linear foot	\$230,874.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$28.00	10038 / linear foot	\$281,064.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$30.00	10038 / linear foot	\$301,140.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$33.00	10038 / linear foot	\$331,254.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$40.00	10038 / linear foot	\$401,520.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-05 Alternate 1 PC-0557: 8" INTEGRAL CURB								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$7.00	1627 / linear foot	\$11,389.00		Υ			
		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$8.00	1627 / linear foot	\$13,016.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$11.75	1627 / linear foot	\$19,117.25		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$12.00	1627 / linear foot	\$19,524.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	1627 / linear foot	\$19,524.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-06 Alternate 1 PC-0557: TACK COAT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$3.75	6227 / gallon	\$23,351.25		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$4.00	6227 / gallon	\$24,908.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$4.50	6227 / gallon	\$28,021.50		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$5.00	6227 / gallon	\$31,135.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$5.00	6227 / gallon	\$31,135.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-07 Alternate 1 PC-0557: SUPERPAVE, TYPE S3 (PG 70-28 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$105.00	4649 / ton	\$488,145.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$105.00	4649 / ton	\$488,145.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$115.00	4649 / ton	\$534,635.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$116.00	4649 / ton	\$539,284.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$164.00	4649 / ton	\$762,436.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-08 Alternate 1 PC-0557: SUPERPAVE, TYPE S3 (PG 58-28 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$90.00	11655 / ton	\$1,048,950.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$95.00	11655 / ton	\$1,107,225.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$101.00	11655 / ton	\$1,177,155.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$118.00	11655 / ton	\$1,375,290.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$150.00	11655 / ton	\$1,748,250.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	08002-09 Alternate 1 P	C-0557: SUPERPAVE, T	YPE S5 (PG 70-28 OK)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$115.00	3100 / ton	\$356,500.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$125.00	3100 / ton	\$387,500.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$135.00	3100 / ton	\$418,500.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$155.00	3100 / ton	\$480,500.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$178.00	3100 / ton	\$551,800.00		Y
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–02-10 Alternate 1 PC-0557: DOWEL JOINTED P.C.C. PAVT. (PLACEMENT)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$78.00	6383 / square yard	\$497,874.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$80.00	6383 / square yard	\$510,640.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$85.00	6383 / square yard	\$542,555.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$90.00	6383 / square yard	\$574,470.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$108.30	6383 / square yard	\$691,278.90		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108002-11 Alternate 1 PC-0557: UNCLASSIFIED EXCAVATION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1.00	6500 / cubic yard	\$6,500.00		Υ		
		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$8.00	6500 / cubic yard	\$52,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$9.05	6500 / cubic yard	\$58,825.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$14.50	6500 / cubic yard	\$94,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$15.00	6500 / cubic yard	\$97,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108003-01 Alternate 2 PC-0557: SUBGRADE METHOD B								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$2.00	38657 / square yard	\$77,314.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$2.75	38657 / square yard	\$106,306.75		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$4.00	38657 / square yard	\$154,628.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company	First Offer - \$5.00	38657 / square yard	\$193,285.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$6.75	38657 / square yard	\$260,934.75		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108003-02 Alternate 2 PC-0557: AGGREGATE BASE TYPE A								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$57.25	9642 / cubic yard	\$552,004.50		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:	E: + O.((#0E 00	Supplier Notes:	#040 F70 00					
Allen Contracting, Inc.	First Offer - \$85.00	9642 / cubic yard	\$819,570.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$90.00	9642 / cubic yard	\$867,780.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$94.50	9642 / cubic yard	\$911,169.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$110.00	9642 / cubic yard	\$1,060,620.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108003-03 Alternate 2 PC-0557: CEMENT TREATED BASE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$16.70	38657 / square yard	\$645,571.90		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$18.00	38657 / square yard	\$695,826.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20.00	38657 / square yard	\$773,140.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$21.50	38657 / square yard	\$831,125.50		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$31.00	38657 / square yard	\$1,198,367.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108003-04 Alternate 2 PC-0557: 8" INTEGRAL CURB								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$7.00	11665 / linear foot	\$81,655.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$10.00	11665 / linear foot	\$116,650.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$12.00	11665 / linear foot	\$139,980.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	11665 / linear foot	\$139,980.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$15.00	11665 / linear foot	\$174,975.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108003-05 Alternate 2 PC-0557: DOWEL JOINTED P.C.C. PAVT. (PLACEMENT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$72.25	37349 / square yard	\$2,698,465.25		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$75.00	37349 / square yard	\$2,801,175.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$80.70	37349 / square yard	\$3,014,064.30		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$95.40	37349 / square yard	\$3,563,094.60		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$100.00	37349 / square yard	\$3,734,900.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108004-01 Add Alternate 1 PC-0557: 4 IN CONCRETE SIDEWALK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$55.00	2752 / square yard	\$151,360.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$65.00	2752 / square yard	\$178,880.00		Υ			
Product Code:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$65.00	2752 / square yard	\$178,880.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$69.00	2752 / square yard	\$189,888.00		Υ			
		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$91.30	2752 / square yard	\$251,257.60		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108004-02 Add Alternate 1 PC-0557: ADA CURB RAMP (8")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$125.00	81 / square yard	\$10,125.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$160.00	81 / square yard	\$12,960.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$175.00	81 / square yard	\$14,175.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$229.80	81 / square yard	\$18,613.80		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$230.00	81 / square yard	\$18,630.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108004-03 Add Alternate 1 PC-0557: TACTILE MARKERS/TRUNCATED DOMES						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$20.90	80 / square foot	\$1,672.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$30.00	80 / square foot	\$2,400.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$36.00	80 / square foot	\$2,880.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$40.00	80 / square foot	\$3,200.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	80 / square foot	\$3,600.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-01 Base Bid PC-0558: 801 CONSTRUCTION STAKING							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$26,550.35	1 / lump sum	\$26,550.35		Υ		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:					
Atlas Paving Company	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				
SCHWARZ PAVING CO., INC.	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				
T.J. Campbell Construction Co.	First Offer - \$97,000.00	1 / lump sum	\$97,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-02 Base Bid PC-0558: 802 CONSTRUCTION TRAFFIC CONTROL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$59,808.70	1 / lump sum	\$59,808.70		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$79,000.00	1 / lump sum	\$79,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$80,000.00	1 / lump sum	\$80,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$140,000.00	1 / lump sum	\$140,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-03 Base Bid PC-0558: 809 MOBILIZATION (5% MAX)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$200,000.00	1 / lump sum	\$200,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$300,000.00	1 / lump sum	\$300,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$310,000.00	1 / lump sum	\$310,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$325,000.00	1 / lump sum	\$325,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-04 Base Bid PC-0558: 200 UNCLASSIFIED EXCAVATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$9.05	12080 / cubic yards	\$109,324.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	12080 / cubic yards	\$157,040.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$16.00	12080 / cubic yards	\$193,280.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$18.00	12080 / cubic yards	\$217,440.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$25.00	12080 / cubic yards	\$302,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-05 Base Bid PC-0558: 202 BORROW									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$7.00	1420 / cubic yards	\$9,940.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$7.00	1420 / cubic yards	\$9,940.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$20.00	1420 / cubic yards	\$28,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$25.00	1420 / cubic yards	\$35,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$25.30	1420 / cubic yards	\$35,926.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-06 Base Bid PC-0558: 810 CLEARING AND GRUBBING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$81,276.55	1 / lump sum	\$81,276.55		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-07 Base Bid PC-0558: 221 (H) TEMPORARY INLET SEDIMENT FILTER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$14.00	14 / each	\$196.00		Υ			
		Supplier Product Coo Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$175.00	14 / each	\$2,450.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$200.00	14 / each	\$2,800.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$216.75	14 / each	\$3,034.50		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$300.00	14 / each	\$4,200.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-08 Base Bid PC-0558: 221 TEMPORARY SILT FENCE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Silver Star Construction Company	First Offer - \$1.95	5600 / linear foot	\$10,920.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$2.50	5600 / linear foot	\$14,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$3.00	5600 / linear foot	\$16,800.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$3.25	5600 / linear foot	\$18,200.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$5.00	5600 / linear foot	\$28,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-09 Base Bid PC-0558: 221 TEMPORARY SILT DIKE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$10.85	70 / linear foot	\$759.50		Υ			
Product Code:		Supplier Product Code	: :					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$15.00	70 / linear foot	\$1,050.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$17.00	70 / linear foot	\$1,190.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20.00	70 / linear foot	\$1,400.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	70 / linear foot	\$2,100.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-10 Base Bid PC-0558: 840 SOLID SLAB SODDING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$2.50	4978 / square yard	\$12,445.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$3.70	4978 / square yard	\$18,418.60		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$4.00	4978 / square yard	\$19,912.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$5.00	4978 / square yard	\$24,890.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$6.50	4978 / square yard	\$32,357.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-11 Base Bid PC-0558: 811 STRUCTURE REMOVAL (GUARDRAIL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$5.00	700 / linear foot	\$3,500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$7.30	700 / linear foot	\$5,110.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$8.00	700 / linear foot	\$5,600.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$10.00	700 / linear foot	\$7,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$10.00	700 / linear foot	\$7,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-12 Base Bid PC-0558: 811 STRUCTURE REMOVAL (CULVERT AND PIPE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$28,000.00	1 / lump sum	\$28,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$28,826.10	1 / lump sum	\$28,826.10		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$45,000.00	1 / lump sum	\$45,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-13 Base Bid PC-0558: 812 REMOVE SIDEWALK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$12.00	737 / square yard	\$8,844.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$12.05	737 / square yard	\$8,880.85		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$18.00	737 / square yard	\$13,266.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20.00	737 / square yard	\$14,740.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$20.00	737 / square yard	\$14,740.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-14 Base Bid PC-0558: 812 REMOVE PAVEMENT (ASPHALT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$3.80	12203 / square yard	\$46,371.40		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$4.00	12203 / square yard	\$48,812.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$6.00	12203 / square yard	\$73,218.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$8.00	12203 / square yard	\$97,624.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$10.00	12203 / square yard	\$122,030.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-15 Base Bid PC-0558: 812 REMOVE PAVEMENT (CONCRETE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$18.15	154 / square yard	\$2,795.10		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$20.00	154 / square yard	\$3,080.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$23.00	154 / square yard	\$3,542.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$25.00	154 / square yard	\$3,850.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$35.00	154 / square yard	\$5,390.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-16 Base Bid PC-0558: 813 REMOVE DRIVEWAY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	2102 / square yard	\$27,326.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$15.00	2102 / square yard	\$31,530.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$19.36	2102 / square yard	\$40,694.72		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$20.00	2102 / square yard	\$42,040.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$20.00	2102 / square yard	\$42,040.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-17 Base Bid PC-0558: 222 LIME								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	234 / tons	\$58,500.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$318.00	234 / tons	\$74,412.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$350.00	234 / tons	\$81,900.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$350.00	234 / tons	\$81,900.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$370.00	234 / tons	\$86,580.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-18 Base Bid PC-0558: 222 LIME STABILIZED SUBGRADE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$3.50	18700 / square yard	\$65,450.00		Υ			
		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$5.00	18700 / square yard	\$93,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$6.75	18700 / square yard	\$126,225.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$7.00	18700 / square yard	\$130,900.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$8.80	18700 / square yard	\$164,560.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-19 Base Bid PC-0558: 225 AGGREGATE BASE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$71.00	546 / cubic yards	\$38,766.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$90.00	546 / cubic yards	\$49,140.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$98.00	546 / cubic yards	\$53,508.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$100.00	546 / cubic yards	\$54,600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	546 / cubic yards	\$54,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-20 Base Bid PC-0558: 305 CURB AND GUTTER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$30.00	5287 / linear foot	\$158,610.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$31.65	5287 / linear foot	\$167,333.55		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$33.00	5287 / linear foot	\$174,471.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company	First Offer - \$38.00	5287 / linear foot	\$200,906.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$45.00	5287 / linear foot	\$237,915.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-21 Base Bid PC-0558: 307 TACK COAT									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$2.00	2411 / gallon	\$4,822.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$4.00	2411 / gallon	\$9,644.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$4.14	2411 / gallon	\$9,981.54		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$4.50	2411 / gallon	\$10,849.50		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$5.00	2411 / gallon	\$12,055.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-10	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-22 Base Bid PC-0558: 311 SUPERPAVE, TYPE S3(PG 64-22 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$100.00	3142 / tons	\$314,200.00		Υ				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Atlas Paving Company	First Offer - \$105.00	3142 / tons	\$329,910.00		Y				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
T.J. Campbell Construction Co.	First Offer - \$115.00	3142 / tons	\$361,330.00		Υ				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Silver Star Construction Company	First Offer - \$138.03	3142 / tons	\$433,690.26		Υ				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						
Allen Contracting, Inc.	First Offer - \$150.00	3142 / tons	\$471,300.00		Υ				
Product Code: Agency Notes:		Supplier Product Coc Supplier Notes:	le:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-23 Base Bid PC-0558: 311 SUPERPAVE, TYPE S5(PG 64-22 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$125.00	682 / tons	\$85,250.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$140.00	682 / tons	\$95,480.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$145.00	682 / tons	\$98,890.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$163.10	682 / tons	\$111,234.20		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$180.00	682 / tons	\$122,760.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-24 Base Bid PC-0558: 312 COLD MILLING PAVEMENT							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$4.25	5413 / square yard	\$23,005.25		Y		
		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$4.50	5413 / square yard	\$24,358.50		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$4.50	5413 / square yard	\$24,358.50		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$5.00	5413 / square yard	\$27,065.00		Y		
		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$7.00	5413 / square yard	\$37,891.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-25 Base Bid PC-0558: 823 SIDEWALK								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$55.00	2407 / square yard	\$132,385.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$61.00	2407 / square yard	\$146,827.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$65.00	2407 / square yard	\$156,455.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$70.00	2407 / square yard	\$168,490.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$126.99	2407 / square yard	\$305,664.93		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-26 Base Bid PC-0558: 823 DRIVEWAY								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$85.00	1910 / square yard	\$162,350.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$90.00	1910 / square yard	\$171,900.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$95.00	1910 / square yard	\$181,450.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$100.00	1910 / square yard	\$191,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$108.73	1910 / square yard	\$207,674.30		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-27 Base Bid PC-0558: 212 STRUCTURAL EXCAVATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$39.55	90 / cubic yards	\$3,559.50		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$47.00	90 / cubic yards	\$4,230.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$50.00	90 / cubic yards	\$4,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$52.00	90 / cubic yards	\$4,680.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$105.00	90 / cubic yards	\$9,450.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-28 Base Bid PC-0558: 304 APPROACH SLABS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$450.00	164 / square yard	\$73,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$578.69	164 / square yard	\$94,905.16		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$675.00	164 / square yard	\$110,700.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$750.00	164 / square yard	\$123,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,100.00	164 / square yard	\$180,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-29 Base Bid PC-0558: 404 CONCRETE CLASS A							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$1,500.00	36 / cubic yards	\$54,000.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$2,250.00	36 / cubic yards	\$81,000.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$2,300.00	36 / cubic yards	\$82,800.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$2,481.64	36 / cubic yards	\$89,339.04		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$2,500.00	36 / cubic yards	\$90,000.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-30 Base Bid PC-0558: 404 CONCRETE (FLOWABLE FILL)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$250.00	120 / cubic yards	\$30,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$450.00	120 / cubic yards	\$54,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$462.73	120 / cubic yards	\$55,527.60		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$470.00	120 / cubic yards	\$56,400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	120 / cubic yards	\$60,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-31 Base Bid PC-0558: 404 CONCRETE CLASS AA								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$1,200.00	143 / cubic yards	\$171,600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$1,350.00	143 / cubic yards	\$193,050.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,350.00	143 / cubic yards	\$193,050.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2,337.51	143 / cubic yards	\$334,263.93		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,750.00	143 / cubic yards	\$393,250.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	108005-32 Base Bid PC-	0558: 405 PRE-STRESSED	CONCRETE BEAM (T	YPE III)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc.	First Offer - \$325.00	208 / linear foot	\$67,600.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$360.00	208 / linear foot	\$74,880.00		Y
Product Code:		Supplier Product Code:	•		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$400.00	208 / linear foot	\$83,200.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$405.00	208 / linear foot	\$84,240.00		Y
Product Code:		Supplier Product Code:	•		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$460.57	208 / linear foot	\$95,798.56		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	108005-33 Base Bid PC-0	558: 408 STRUCTURAI	L STEEL		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$5.75	150 / pound	\$862.50		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$9.37	150 / pound	\$1,405.50		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$13.00	150 / pound	\$1,950.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$120.00	150 / pound	\$18,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$135.00	150 / pound	\$20,250.00		Υ
Product Code:		Supplier Product Cod	de:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-34 Base Bid PC-0558: 408 STEEL PILE W/ INSTALLATION (HP 10 X 42)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$93.00	450 / linear foot	\$41,850.00		Υ		
		Supplier Product Code Supplier Notes:	:				
Allen Contracting, Inc.	First Offer - \$105.00	450 / linear foot	\$47,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				
Silver Star Construction Company	First Offer - \$118.12	450 / linear foot	\$53,154.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$220.00	450 / linear foot	\$99,000.00		Υ		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$240.00	450 / linear foot	\$108,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-35 Base Bid PC-0558: 408 (PL) FIXED BEARING ASSEMBLY							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$1,000.00	6 / each	\$6,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,625.53	6 / each	\$9,753.18		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,900.00	6 / each	\$17,400.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$3,220.00	6 / each	\$19,320.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$3,500.00	6 / each	\$21,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-36 Base Bid PC-0558: 411 REINFORCING STEEL EPOXY COATED								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$2.00	34837 / pound	\$69,674.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$2.25	34837 / pound	\$78,383.25		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2.93	34837 / pound	\$102,072.41		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$3.00	34837 / pound	\$104,511.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$3.50	34837 / pound	\$121,929.50		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	108005-37 Base Bid Po	C-0558: 412 DEEP PENETR/	ATING WATER REPELI	ENT (DPW	/R)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc.	First Offer - \$6.00	392 / square yard	\$2,352.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$8.00	392 / square yard	\$3,136.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$9.00	392 / square yard	\$3,528.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$15.17	392 / square yard	\$5,946.64		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$46.00	392 / square yard	\$18,032.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-38 Base Bid PC-0558: 454 PRECAST REINFORCED BOX CULVERT (8'X4')							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$910.00	164 / linear foot	\$149,240.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,000.00	164 / linear foot	\$164,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,062.01	164 / linear foot	\$174,169.64		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$1,075.00	164 / linear foot	\$176,300.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	164 / linear foot	\$180,400.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	108005-39 Base Bid PC-0	558: 454 PRECAST REIN	FORCED BOX CULVER	RT (10'X4')	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$1,200.00	82 / linear foot	\$98,400.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1,310.00	82 / linear foot	\$107,420.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$1,400.00	82 / linear foot	\$114,800.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$1,701.39	82 / linear foot	\$139,513.98		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$1,750.00	82 / linear foot	\$143,500.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-40 Base Bid PC-0558: 811 STRUCTURE REMOVAL (BRIDGE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$35,000.00	1 / each	\$35,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$50,000.00	1 / each	\$50,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$129,500.64	1 / each	\$129,500.64		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$150,000.00	1 / each	\$150,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$200,000.00	1 / each	\$200,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-41 Base Bid PC-0558: 825 (TYPE 1) PLAIN RIPRAP							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$95.00	1350 / tons	\$128,250.00		Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$110.00	1350 / tons	\$148,500.00		Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$136.00	1350 / tons	\$183,600.00		Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$161.00	1350 / tons	\$217,350.00		Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$224.32	1350 / tons	\$302,832.00		Υ		
Product Code:		Supplier Product Cod	le:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-42 Base Bid PC-0558: 825 (RIP RAP) FILTER BLANKET							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$81.00	90 / tons	\$7,290.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$82.00	90 / tons	\$7,380.00		Υ		
Product Code:	Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$85.00	90 / tons	\$7,650.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$97.53	90 / tons	\$8,777.70		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$200.00	90 / tons	\$18,000.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-43 Base Bid PC-0558: 826 PERFORATED UNDERDRAIN PIPE (6")							
Unit Price	Qty/Unit	Total Price	Attch.	Docs			
First Offer - \$37.00	58 / linear foot	\$2,146.00		Υ			
	Supplier Product Code Supplier Notes:	: :					
First Offer - \$41.00	58 / linear foot	\$2,378.00		Υ			
	Supplier Product Code Supplier Notes:	: :					
First Offer - \$45.00	58 / linear foot	\$2,610.00		Υ			
	Supplier Product Code	:					
	Supplier Notes:						
First Offer - \$60.00	58 / linear foot	\$3,480.00		Υ			
	Supplier Product Code	2:					
	Supplier Notes:						
First Offer - \$83.44	58 / linear foot	\$4,839.52		Υ			
	' '	:					
	First Offer - \$41.00 First Offer - \$45.00 First Offer - \$60.00	Unit Price Qty/Unit First Offer - \$37.00 58 / linear foot Supplier Product Code Supplier Notes: First Offer - \$41.00 58 / linear foot Supplier Product Code Supplier Notes: First Offer - \$45.00 58 / linear foot Supplier Product Code Supplier Notes: First Offer - \$60.00 58 / linear foot Supplier Product Code Supplier Product Code Supplier Notes: First Offer - \$83.44 58 / linear foot	Unit Price Qty/Unit Total Price First Offer - \$37.00 58 / linear foot \$2,146.00 Supplier Product Code: Supplier Notes: First Offer - \$41.00 58 / linear foot \$2,378.00 Supplier Product Code: Supplier Notes: First Offer - \$45.00 58 / linear foot \$2,610.00 Supplier Product Code: Supplier Notes: First Offer - \$60.00 58 / linear foot \$3,480.00 Supplier Product Code: Supplier Notes: First Offer - \$83.44 58 / linear foot \$4,839.52 Supplier Product Code:	Unit Price Qty/Unit Total Price Attch. First Offer - \$37.00 58 / linear foot \$2,146.00 Supplier Product Code: Supplier Notes: First Offer - \$41.00 58 / linear foot \$2,378.00 Supplier Product Code: Supplier Notes: First Offer - \$45.00 58 / linear foot \$2,610.00 Supplier Product Code: Supplier Notes: First Offer - \$60.00 58 / linear foot \$3,480.00 Supplier Product Code: Supplier Notes: First Offer - \$83.44 58 / linear foot \$4,839.52 Supplier Product Code:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-44 Base Bid PC-0558: 826 NON-PERFORATED UNDERDRAIN PIPE (6")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$37.00	60 / linear foot	\$2,220.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Atlas Paving Company	First Offer - \$41.00	60 / linear foot	\$2,460.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::					
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	60 / linear foot	\$2,700.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::					
Allen Contracting, Inc.	First Offer - \$60.00	60 / linear foot	\$3,600.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	::					
Silver Star Construction Company	First Offer - \$86.70	60 / linear foot	\$5,202.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-45 Base Bid PC-0558: 827 TRAFFIC RAILING (TR4)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$150.00	100 / linear foot	\$15,000.00		Υ			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$216.74	100 / linear foot	\$21,674.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$225.00	100 / linear foot	\$22,500.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	100 / linear foot	\$25,000.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$350.00	100 / linear foot	\$35,000.00		Y			
Product Code:		Supplier Product Code	<u> </u>					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-46 Base Bid PC-0558: 982 PIPE RAILING									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Allen Contracting, Inc.	First Offer - \$200.00	155 / linear foot	\$31,000.00		Υ				
		Supplier Product Code Supplier Notes:	:						
Silver Star Construction Company	First Offer - \$236.24	155 / linear foot	\$36,617.20		Y				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
SCHWARZ PAVING CO., INC.	First Offer - \$240.00	155 / linear foot	\$37,200.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$300.00	155 / linear foot	\$46,500.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$450.00	155 / linear foot	\$69,750.00		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-47 Base Bid PC-0558: 450 STORM SEWER INLET DES. 2-0								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$3,200.00	10 / each	\$32,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$4,500.00	10 / each	\$45,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$5,304.65	10 / each	\$53,046.50		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$5,400.00	10 / each	\$54,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$7,000.00	10 / each	\$70,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-48 Base Bid PC-0558: 450 STORM SEWER INLET DES. 2-1								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$4,400.00	3 / each	\$13,200.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$5,500.00	3 / each	\$16,500.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$6,323.31	3 / each	\$18,969.93		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$6,500.00	3 / each	\$19,500.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$8,250.00	3 / each	\$24,750.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-49 Base Bid PC-0558: 450 STORM SEWER INLET DES. 2-2								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$5,100.00	1 / each	\$5,100.00		Υ			
		Supplier Product Co Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$6,500.00	1 / each	\$6,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$7,564.13	1 / each	\$7,564.13		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$7,700.00	1 / each	\$7,700.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$10,320.00	1 / each	\$10,320.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-50 Base Bid PC-0558: 451 REINFORCED CONCRETE PIPE (18 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$95.00	341 / linear foot	\$32,395.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$98.00	341 / linear foot	\$33,418.00		Y			
Product Code:		Supplier Product Code:	:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$100.00	341 / linear foot	\$34,100.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$106.20	341 / linear foot	\$36,214.20		Y			
Product Code:		Supplier Product Code:	:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$165.00	341 / linear foot	\$56,265.00		Y			
Product Code:		Supplier Product Code:	•					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-51 Base Bid PC-0558: 451 REINFORCED CONCRETE PIPE (24 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$110.00	805 / linear foot	\$88,550.00		Υ			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$120.00	805 / linear foot	\$96,600.00		Y			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$127.88	805 / linear foot	\$102,943.40		Y			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$130.00	805 / linear foot	\$104,650.00		Y			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$173.00	805 / linear foot	\$139,265.00		Y			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-52 Base Bid PC-0558: 451 REINFORCED CONCRETE PIPE (30 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$125.00	243 / linear foot	\$30,375.00		Υ			
		Supplier Product Code Supplier Notes:	:					
T.J. Campbell Construction Co.	First Offer - \$135.00	243 / linear foot	\$32,805.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Silver Star Construction Company	First Offer - \$177.72	243 / linear foot	\$43,185.96		Υ			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$180.00	243 / linear foot	\$43,740.00		Y			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$207.00	243 / linear foot	\$50,301.00		Υ			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-53 Base Bid PC-0558: 451 REINFORCED CONCRETE PIPE (36 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$150.00	409 / linear foot	\$61,350.00		Υ			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$160.00	409 / linear foot	\$65,440.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$208.00	409 / linear foot	\$85,072.00		Y			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$247.08	409 / linear foot	\$101,055.72		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$250.00	409 / linear foot	\$102,250.00		Υ			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-54 Base Bid PC-0558: 451 REINFORCED CONCRETE PIPE (42 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$220.00	158 / linear foot	\$34,760.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$225.00	158 / linear foot	\$35,550.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$279.00	158 / linear foot	\$44,082.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$330.52	158 / linear foot	\$52,222.16		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$335.00	158 / linear foot	\$52,930.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-55 Base Bid PC-0558: 451 REINFORCED CONCRETE ARCH PIPE (36 IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$175.00	341 / linear foot	\$59,675.00		Υ			
		Supplier Product Code Supplier Notes:	:					
T.J. Campbell Construction Co.	First Offer - \$250.00	341 / linear foot	\$85,250.00		Y			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:					
Atlas Paving Company	First Offer - \$285.00	341 / linear foot	\$97,185.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$308.85	341 / linear foot	\$105,317.85		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$315.00	341 / linear foot	\$107,415.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-56 Base Bid PC-0558: 455 (5' DIA) STORM SEWER MANHOLE (0'-6')							
Supplier	Unit Pric	e Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$3,521.9	7 / each	\$24,653.86		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$3,600.0	7 / each	\$25,200.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$4,500.0	7 / each	\$31,500.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$4,600.0	7 / each	\$32,200.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$7,500.0	7 / each	\$52,500.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	08005-57 Base Bid PC-05	58: 455 (6' DIA) STORI	M SEWER MANHOLE (0'-6')		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Silver Star Construction Company	First Offer - \$5,483.46	3 / each	\$16,450.38		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$5,500.00	3 / each	\$16,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$6,000.00	3 / each	\$18,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$6,000.00	3 / each	\$18,000.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$10,500.00	3 / each	\$31,500.00		Υ	
Product Code:		Supplier Product Co	de:			
Agency Notes:		Supplier Notes:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-58 Base Bid PC-0558: 613 36" PREFAB. CULVERT END SECTION, ARCH							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$2,600.00	1 / each	\$2,600.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$3,381.11	1 / each	\$3,381.11		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$3,550.00	1 / each	\$3,550.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$3,600.00	1 / each	\$3,600.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-59 Base Bid PC-0558: 613 42" PREFAB. CULVERT END SECTION, ROUND							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$4,200.00	1 / each	\$4,200.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$4,296.83	1 / each	\$4,296.83		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$4,500.00	1 / each	\$4,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$4,500.00	1 / each	\$4,500.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$5,000.00	1 / each	\$5,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-60 Base Bid PC-0558: SERVICE DROP (POWER)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$2,709.22	1 / each	\$2,709.22		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$3,000.00	1 / each	\$3,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$3,000.00	1 / each	\$3,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$4,000.00	1 / each	\$4,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$10,000.00	1 / each	\$10,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-61 Base Bid PC-0558: 623 BEAM-W GUARDRAIL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$24.00	443 / linear foot	\$10,632.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$26.01	443 / linear foot	\$11,522.43		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$28.00	443 / linear foot	\$12,404.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$30.00	443 / linear foot	\$13,290.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$37.00	443 / linear foot	\$16,391.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-62 Base Bid PC-0558: 623 GUARDRAIL END TREATMENT (31")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$3,400.00	4 / each	\$13,600.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$3,684.54	4 / each	\$14,738.16		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$4,000.00	4 / each	\$16,000.00		Y		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$4,000.00	4 / each	\$16,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$5,500.00	4 / each	\$22,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-63 Base Bid PC-0558: 623 GUARDRAIL BRIDGE CONN-THRIE BEAM (31")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$3,400.00	4 / each	\$13,600.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$3,684.54	4 / each	\$14,738.16		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$4,000.00	4 / each	\$16,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$4,000.00	4 / each	\$16,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$4,500.00	4 / each	\$18,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

	Qty/Unit 1 / each Supplier Product Co- Supplier Notes:	*50,000.00 de:	Attch.	Docs Y
	Supplier Product Co			Υ
	· ·	de:		
First Offer \$50,000,00				
First Offer - \$30,000.00	1 / each	\$50,000.00		Υ
	Supplier Product Co Supplier Notes:	de:		
First Offer - \$50,391.46	1 / each	\$50,391.46		Υ
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$52,000.00	1 / each	\$52,000.00		Υ
	Supplier Product Co	de:		
	Supplier Notes:			
First Offer - \$55,000.00	1 / each	\$55,000.00		Υ
	Supplier Product Co	de:		
	First Offer - \$52,000.00	Supplier Product Consupplier Notes: First Offer - \$52,000.00 1 / each Supplier Product Consupplier Notes: First Offer - \$55,000.00 1 / each	Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes:

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-65 Base Bid PC-0558: 713 (3") RIGID PLASTIC CONDUIT (TRENCHED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$31.00	80 / linear foot	\$2,480.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$33.59	80 / linear foot	\$2,687.20		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$34.00	80 / linear foot	\$2,720.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$35.00	80 / linear foot	\$2,800.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$36.00	80 / linear foot	\$2,880.00		Y		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-66 Base Bid PC-0558: 713 (4") RIGID PLASTIC CONDUIT (TRENCHED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$39.00	75 / linear foot	\$2,925.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$42.26	75 / linear foot	\$3,169.50		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$44.00	75 / linear foot	\$3,300.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$44.00	75 / linear foot	\$3,300.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$45.00	75 / linear foot	\$3,375.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-67 Base Bid PC-0558: 714 (7) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CAB					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$5.50	310 / linear foot	\$1,705.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$5.96		\$1,847.60		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$6.00	310 / linear foot	\$1,860.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	310 / linear foot	\$1,860.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$6.25	310 / linear foot	\$1,937.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-68 Base Bid PC-0558: 714 (21) CONDUCTOR TRAFFIC SIGNAL ELECTRICAL CABLE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$12.00	120 / linear foot	\$1,440.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$13.00	120 / linear foot	\$1,560.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	120 / linear foot	\$1,560.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$14.00	120 / linear foot	\$1,680.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$14.00	120 / linear foot	\$1,680.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-69 Base Bid PC-0558: 714 (1/C)(6 AWG) ELECTRICAL CONDUCTOR (COATED)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$2.10	110 / linear foot	\$231.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$2.28	110 / linear foot	\$250.80		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2.50	110 / linear foot	\$275.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$2.50	110 / linear foot	\$275.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	110 / linear foot	\$275.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-70 Base Bid PC-0558: 714 (1/C)(6 AWG) ELECTRICAL CONDUCTOR (BARE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$2.10	55 / linear foot	\$115.50		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
Silver Star Construction Company	First Offer - \$2.28	55 / linear foot	\$125.40		Υ				
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	:						
T.J. Campbell Construction Co.	First Offer - \$2.50	55 / linear foot	\$137.50		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$2.50	55 / linear foot	\$137.50		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	55 / linear foot	\$137.50		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-10	08005-71 Base Bid PC	C-0558: 714 (1/C)(10 AWG) ELECTRICAL CONDU	CTOR (COA	ATED)
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$1.60	240 / linear foot	\$384.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$1.73	240 / linear foot	\$415.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$1.80	240 / linear foot	\$432.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$2.00	240 / linear foot	\$480.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	240 / linear foot	\$480.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-72 Base Bid PC-0558: 714 (1/C)(10 AWG) ELECTRICAL CONDUCTOR (BARE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$1.60	120 / linear foot	\$192.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$1.73	120 / linear foot	\$207.60		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$1.80	120 / linear foot	\$216.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$2.00	120 / linear foot	\$240.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$2.00	120 / linear foot	\$240.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-73 Base Bid PC-0558: 715 THREE (3) SECTION TRAFFIC SIGNAL HEAD								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer -	\$1,000.00	6 / each	\$6,000.00		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				
Silver Star Construction Company	First Offer -	\$1,002.41	6 / each	\$6,014.46		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				
T.J. Campbell Construction Co.	First Offer -	\$1,100.00	6 / each	\$6,600.00		Υ		
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer -	\$1,100.00	6 / each	\$6,600.00		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				
SCHWARZ PAVING CO., INC.	First Offer -	\$1,200.00	6 / each	\$7,200.00		Υ		
Product Code: Agency Notes:			Supplier Product Co Supplier Notes:	de:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-10	08005-74 Base Bid PC-0	558: 717 PEDESTRIAN	SIGNAL HEAD		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Atlas Paving Company	First Offer - \$710.00	2 / each	\$1,420.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$769.42	2 / each	\$1,538.84		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$800.00	2 / each	\$1,600.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$800.00	2 / each	\$1,600.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$850.00	2 / each	\$1,700.00		Y
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-75 Base Bid PC-0558: 722 PEDESTRIAN PUSH BUTTON AND SIGN								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,100.00	2 / each	\$2,200.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,181.22	2 / each	\$2,362.44		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,200.00	2 / each	\$2,400.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,300.00	2 / each	\$2,600.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-76 Base Bid PC-0558: 724 POLE AND 1-40' MAST ARM AND LUMINAIRE ARM							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$22,000.00	2 / each	\$44,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$23,830.29	2 / each	\$47,660.58		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$25,000.00	2 / each	\$50,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$25,000.00	2 / each	\$50,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$26,000.00	2 / each	\$52,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-77 Base Bid PC-0558: 725 STRUCTURAL CONCRETE							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$1,300.00	9 / cubic yards	\$11,700.00		Υ		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$1,408.79	9 / cubic yards	\$12,679.11		Υ		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$1,500.00	9 / cubic yards	\$13,500.00		Y		
Product Code:		Supplier Product Code	9:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$1,500.00	9 / cubic yards	\$13,500.00		Υ		
Product Code:		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	9 / cubic yards	\$13,500.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-78 Base Bid PC-0558: 725 REINFORCING STEEL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$2.30	1341 / pound	\$3,084.30		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$2.49	1341 / pound	\$3,339.09		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$2.50	1341 / pound	\$3,352.50		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$2.75	1341 / pound	\$3,687.75		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$3.00	1341 / pound	\$4,023.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-79 Base Bid PC-0558: 726 PULL BOX TYPE I								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,310.00	3 / each	\$3,930.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$1,419.63	3 / each	\$4,258.89		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
T.J. Campbell Construction Co.	First Offer - \$1,500.00	3 / each	\$4,500.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,500.00	3 / each	\$4,500.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,500.00	3 / each	\$4,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-80 Base Bid PC-0558: 729 SHEET ALUMINUM SIGNS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$40.00	35 / square foot	\$1,400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$65.00	35 / square foot	\$2,275.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$70.44	35 / square foot	\$2,465.40		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$75.00	35 / square foot	\$2,625.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$76.00	35 / square foot	\$2,660.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-81 Base Bid PC-0558: 735 TRAFFIC STRIPE (4 INCH WIDE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$1.10	18037 / linear foot	\$19,840.70		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$1.75	18037 / linear foot	\$31,564.75		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2.00	18037 / linear foot	\$36,074.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2.00	18037 / linear foot	\$36,074.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2.25	18037 / linear foot	\$40,583.25		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-82 Base Bid PC-0558: 735 TRAFFIC STRIPE (ARROWS) (SINGLE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$275.00	19 / each	\$5,225.00		Υ				
Product Code:		Supplier Product Cod	de:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$285.00	19 / each	\$5,415.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$308.85	19 / each	\$5,868.15		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$330.00	19 / each	\$6,270.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$350.00	19 / each	\$6,650.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-83 Base Bid PC-0558: (12") INSERTION VALVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$19,500.00	2 / each	\$39,000.00		Y				
		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$21,131.90	2 / each	\$42,263.80		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
T.J. Campbell Construction Co.	First Offer - \$35,000.00	2 / each	\$70,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$50,000.00	2 / each	\$100,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$50,000.00	2 / each	\$100,000.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-84 Base Bid PC-0558: 212 TRENCH EXCAVATION & BACKFILL - 0' TO 10'								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$14.00	126 / linear foot	\$1,764.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$15.17	126 / linear foot	\$1,911.42		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	126 / linear foot	\$2,772.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$25.00	126 / linear foot	\$3,150.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$40.00	126 / linear foot	\$5,040.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-85 Base Bid PC-0558: 500 ADJUST EXISTING STRUCTURE (WATER METER)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$850.00	2 / each	\$1,700.00		Υ			
		Supplier Product Co Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$921.14	2 / each	\$1,842.28		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
T.J. Campbell Construction Co.	First Offer - \$1,300.00	2 / each	\$2,600.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-86 Base Bid PC-0558: 500 ADJUST EXISTING STRUCTURE (WATER VALVE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$550.00	4 / each	\$2,200.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$600.00	4 / each	\$2,400.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$900.00	4 / each	\$3,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$975.32	4 / each	\$3,901.28		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,100.00	4 / each	\$4,400.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-87 Base Bid PC-0558: 501 (12")(PVC) WATER LINE PIPE (RJ)(DR-14)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$210.00	126 / linear foot	\$26,460.00		Υ			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$290.00	126 / linear foot	\$36,540.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$300.00	126 / linear foot	\$37,800.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$310.00	126 / linear foot	\$39,060.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$314.27	126 / linear foot	\$39,598.02		Y			
Product Code:		Supplier Product Code						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-88 Base Bid PC-0558: 501 FITTINGS (12" MJ)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$3.50	3000 / pound	\$10,500.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$5.50	3000 / pound	\$16,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$6.00	3000 / pound	\$18,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$6.00	3000 / pound	\$18,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$6.50	3000 / pound	\$19,500.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-89 Base Bid PC-0558: 504 METER RELOCATION (1")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$1,400.00	1 / each	\$1,400.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$5,000.00	1 / each	\$5,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$5,418.44	1 / each	\$5,418.44		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$6,000.00	1 / each	\$6,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$6,500.00	1 / each	\$6,500.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-90 Base Bid PC-0558: 505 (2") TAP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$582.00	2 / each	\$1,164.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$2,500.00	2 / each	\$5,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$2,709.22	2 / each	\$5,418.44		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$7,300.00	2 / each	\$14,600.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$7,500.00	2 / each	\$15,000.00		Y				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-91 Base Bid PC-0558: 505 (12") TAP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$1,600.00	2 / each	\$3,200.00		Y				
		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$10,000.00	2 / each	\$20,000.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ipplier Product Code: ipplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$10,000.00	2 / each	\$20,000.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Atlas Paving Company	First Offer - \$14,000.00	2 / each	\$28,000.00		Y				
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$15,171.62	2 / each	\$30,343.24		Y				
		Supplier Product Co Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-92 Base Bid PC-0558: 505 (12"X6") TAP									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
T.J. Campbell Construction Co.	First Offer - \$1,200.00	2 / each	\$2,400.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$8,500.00	2 / each	\$17,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
SCHWARZ PAVING CO., INC.	First Offer - \$8,500.00	2 / each	\$17,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$9,500.00	2 / each	\$19,000.00		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$10,295.03	2 / each	\$20,590.06		Υ				
Product Code:		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-93 Base Bid PC-0558: 507 FIRE HYDRANT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$7,300.00	2 / each	\$14,600.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$7,500.00	2 / each	\$15,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$7,500.00	2 / each	\$15,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$8,127.66	2 / each	\$16,255.32		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$9,300.00	2 / each	\$18,600.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-94 Base Bid PC-0558: 508 REMOVAL OF FIRE HYDRANT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$580.00	2 / each	\$1,160.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$1,000.00	2 / each	\$2,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$1,083.69	2 / each	\$2,167.38		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	2 / each	\$3,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-95 Base Bid PC-0558: 511 (12")(GATE VALVE)(0'-10') VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$5,100.00	2 / each	\$10,200.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$5,526.81	2 / each	\$11,053.62		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$6,300.00	2 / each	\$12,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$7,200.00	2 / each	\$14,400.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$7,300.00	2 / each	\$14,600.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-96 Base Bid PC-0558: 511 (6")(GATE VALVE)(0'-10') VALVE AND VALVE BOX								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$1,750.00	2 / each	\$3,500.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,896.45	2 / each	\$3,792.90		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$2,500.00	2 / each	\$5,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,700.00	2 / each	\$5,400.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-97 Base Bid PC-0558: 511 (5'X5')(CONCRETE)(0'-10') VALVE VAULT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$5,600.00	1 / each	\$5,600.00		Υ			
		Supplier Product Co Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$14,000.00	1 / each	\$14,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$14,000.00	1 / each	\$14,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20,000.00	1 / each	\$20,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$20,980.19	1 / each	\$20,980.19		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-98 Base Bid PC-0558: 513 HYDROSTATIC PRESSURE TESTING AND DISINFECTION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$2,200.00	1 / lump sum	\$2,200.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,400.00	1 / lump sum	\$2,400.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2,500.00	1 / lump sum	\$2,500.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$6,000.00	1 / lump sum	\$6,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$6,231.21	1 / lump sum	\$6,231.21		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-99 Base Bid PC-0558: 518 STEEL CASING PIPE (12" CARRIER PIPE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$340.00	72 / linear foot	\$24,480.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$340.00	72 / linear foot	\$24,480.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$350.00	72 / linear foot	\$25,200.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$417.22	72 / linear foot	\$30,039.84		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$500.00	72 / linear foot	\$36,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-100 Base Bid PC-0558: 811 REMOVAL OF 12" WATER LINE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$27.09	100 / linear foot	\$2,709.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$29.00	100 / linear foot	\$2,900.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-101 Base Bid PC-0558: 212 TRENCH EXCAVATION & BACKFILL - 0' TO 15'								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$18.00	210 / linear foot	\$3,780.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$19.51	210 / linear foot	\$4,097.10		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	210 / linear foot	\$4,620.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$25.00	210 / linear foot	\$5,250.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$45.00	210 / linear foot	\$9,450.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-102 Base Bid PC-0558: 212 TRENCH EXCAVATION & BACKFILL - 0' TO 20'								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	420 / linear foot	\$9,240.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$25.00	420 / linear foot	\$10,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$30.00	420 / linear foot	\$12,600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$32.51	420 / linear foot	\$13,654.20		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$50.00	420 / linear foot	\$21,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-103 Base Bid PC-0558: 21 CRUSHED ROCK FOUNDATION								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$73.00	300 / cubic yards	\$21,900.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$80.00	300 / cubic yards	\$24,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$160.00	300 / cubic yards	\$48,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$173.39	300 / cubic yards	\$52,017.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$245.00	300 / cubic yards	\$73,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-104 Base Bid PC-0558: 601 SANITARY SEWER PIPE (8")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$116.00	35 / linear foot	\$4,060.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$200.00	35 / linear foot	\$7,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$216.74	35 / linear foot	\$7,585.90		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$475.00	35 / linear foot	\$16,625.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$500.00	35 / linear foot	\$17,500.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-105 Base Bid PC-0558: 601 SANITARY SEWER PIPE (12")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$207.00	100 / linear foot	\$20,700.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$224.32	100 / linear foot	\$22,432.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$405.00	100 / linear foot	\$40,500.00		Y			
Product Code:		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	100 / linear foot	\$50,000.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$525.00	100 / linear foot	\$52,500.00		Y			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-106 Base Bid PC-0558: 601 SANITARY SEWER PIPE (21")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Atlas Paving Company	First Offer - \$335.00	15 / linear foot	\$5,025.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$350.00	15 / linear foot	\$5,250.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$363.04	15 / linear foot	\$5,445.60		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$530.00	15 / linear foot	\$7,950.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$550.00	15 / linear foot	\$8,250.00		Y		
Product Code:		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-107 Base Bid PC-0558: 601 SANITARY SEWER PIPE (24")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$430.00	520 / linear foot	\$223,600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$446.00	520 / linear foot	\$231,920.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$483.32	520 / linear foot	\$251,326.40		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$560.00	520 / linear foot	\$291,200.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$575.00	520 / linear foot	\$299,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-108 Base Bid PC-0558: 604 ABANDONING SEWER							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$350.00	31 / cubic yards	\$10,850.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$500.00	31 / cubic yards	\$15,500.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$500.00	31 / cubic yards	\$15,500.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$578.00	31 / cubic yards	\$17,918.00		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$626.37	31 / cubic yards	\$19,417.47		Y		
Product Code:		Supplier Product Code	:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-109 Base Bid PC-0558: 608 SEWER FLOW CONTROL							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.	First Offer - \$90,000.00	1 / lump sum	\$90,000.00		Υ		
		Supplier Product Co Supplier Notes:	de:				
SCHWARZ PAVING CO., INC.	First Offer - \$110,000.00	1 / lump sum	\$110,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:				
Allen Contracting, Inc.	First Offer - \$125,000.00	1 / lump sum	\$125,000.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$125,400.00	1 / lump sum	\$125,400.00		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$135,894.40	1 / lump sum	\$135,894.40		Υ		
Product Code:		Supplier Product Co	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-110 Base Bid PC-0558: 613 DEFLECTION TEST (8")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$560.00	1 / lump sum	\$560.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$2,230.00	1 / lump sum	\$2,230.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,300.00	1 / lump sum	\$2,300.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2,416.62	1 / lump sum	\$2,416.62		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-111 Base Bid PC-0558: 613 DEFLECTION TEST (12")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$560.00	1 / lump sum	\$560.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$2,300.00	1 / lump sum	\$2,300.00		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$2,445.00	1 / lump sum	\$2,445.00		Υ		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$2,649.61	1 / lump sum	\$2,649.61		Y		
Product Code:		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-112 Base Bid PC-0558: 613 DEFLECTION TEST (21")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	1 / lump sum	\$1,700.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,300.00	1 / lump sum	\$2,300.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$2,565.00	1 / lump sum	\$2,565.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2,779.66	1 / lump sum	\$2,779.66		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-113 Base Bid PC-0558: 613 DEFLECTION TEST (24")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$4.30	520 / linear foot	\$2,236.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$5.00	520 / linear foot	\$2,600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$7.00	520 / linear foot	\$3,640.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$41.00	520 / linear foot	\$21,320.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$44.43	520 / linear foot	\$23,103.60		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-114 Base Bid PC-0558: 614 TELEVISION INSPECTION (CCTV)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCHWARZ PAVING CO., INC.	First Offer - \$3.40	655 / linear foot	\$2,227.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$5.00	655 / linear foot	\$3,275.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$8.00	655 / linear foot	\$5,240.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$17.00	655 / linear foot	\$11,135.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$18.42	655 / linear foot	\$12,065.10		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-115 Base Bid PC-0558: 615 SEWER LEAK TEST (8")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	1 / lump sum	\$1,100.00		Υ			
		Supplier Product Coo Supplier Notes:	de:					
T.J. Campbell Construction Co.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$1,625.54	1 / lump sum	\$1,625.54		Υ			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-116 Base Bid PC-0558: 615 SEWER LEAK TEST (12")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$1,100.00	1 / lump sum	\$1,100.00		Υ		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				
T.J. Campbell Construction Co.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				
Allen Contracting, Inc.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Atlas Paving Company	First Offer - \$1,520.00	1 / lump sum	\$1,520.00		Y		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				
Silver Star Construction Company	First Offer - \$1,647.21	1 / lump sum	\$1,647.21		Υ		
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-117 Base Bid PC-0558: 615 SEWER LEAK TEST (21")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$1,500.00	1 / lump sum	\$1,500.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$1,540.00	1 / lump sum	\$1,540.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,668.87	1 / lump sum	\$1,668.87		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	1 / lump sum	\$1,700.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-118 Base Bid PC-0558: 615 SEWER LEAK TEST (24")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$5.50	520 / linear foot	\$2,860.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$6.00	520 / linear foot	\$3,120.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$15.00	520 / linear foot	\$7,800.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$16.26	520 / linear foot	\$8,455.20		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$20.00	520 / linear foot	\$10,400.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-119 Base Bid PC-0558: 616 (4') SANITRAY SEWER MANHOLE (0'-6')								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$2,300.00	2 / each	\$4,600.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$6,000.00	2 / each	\$12,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$6,502.12	2 / each	\$13,004.24		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$12,000.00	2 / each	\$24,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$12,000.00	2 / each	\$24,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-120 Base Bid PC-0558: 616 EXTRA DEPTH MANHOLE WALL (4')								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$260.00	14 / vertical foot	\$3,640.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$575.00	14 / vertical foot	\$8,050.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$623.12	14 / vertical foot	\$8,723.68		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$700.00	14 / vertical foot	\$9,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$700.00	14 / vertical foot	\$9,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-121 Base Bid PC-0558: 616 (5') SANITRAY SEWER MANHOLE (0'-6')								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$2,100.00	5 / each	\$10,500.00		Υ			
		Supplier Product Co Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$9,850.00	5 / each	\$49,250.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$10,674.32	5 / each	\$53,371.60		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$13,500.00	5 / each	\$67,500.00		Y			
		Supplier Product Co Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$14,000.00	5 / each	\$70,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-122 Base Bid PC-0558: 616 EXTRA DEPTH MANHOLE WALL (5')								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$290.00	88 / vertical foot	\$25,520.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$850.00	88 / vertical foot	\$74,800.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$900.00	88 / vertical foot	\$79,200.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Atlas Paving Company	First Offer - \$920.00	88 / vertical foot	\$80,960.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Silver Star Construction Company	First Offer - \$996.99	88 / vertical foot	\$87,735.12		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-123 Base Bid PC-0558: 617 MANHOLE TESTING (<24")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	1 / lump sum	\$1,700.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2,000.00	1 / lump sum	\$2,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$2,150.00	1 / lump sum	\$2,150.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,300.00	1 / lump sum	\$2,300.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2,329.93	1 / lump sum	\$2,329.93		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-124 Base Bid PC-0558: 617 MANHOLE TESTING (24")								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$580.00	5 / each	\$2,900.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$780.00	5 / each	\$3,900.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$800.00	5 / each	\$4,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$2,450.00	5 / each	\$12,250.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2,655.04	5 / each	\$13,275.20		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-125 Base Bid PC-0558: 629 REMOVING MANHOLE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Allen Contracting, Inc.	First Offer - \$850.00	5 / each	\$4,250.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$850.00	5 / each	\$4,250.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$866.95	5 / each	\$4,334.75		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,050.00	5 / each	\$5,250.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$5,205.00	5 / each	\$26,025.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC- PIPE)	108005-126 Base Bid PC	C-0558: 635 STEEL ENCAS	SEMENT BY TRENCHIN	NG (24" CA	RRIER
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$405.00	183 / linear foot	\$74,115.00		Y
		Supplier Product Code: Supplier Notes:			
Atlas Paving Company	First Offer - \$700.00	183 / linear foot	\$128,100.00		Y
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$758.58	183 / linear foot	\$138,820.14		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$780.00	183 / linear foot	\$142,740.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$800.00	183 / linear foot	\$146,400.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1 PIPE)	08005-127 Base Bid PC-	0558: 635 STEEL ENCAS	EMENT BY TRENCHIN	IG (12" CA	RRIER
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
T.J. Campbell Construction Co.	First Offer - \$270.00	26 / linear foot	\$7,020.00		Υ
		Supplier Product Code: Supplier Notes:			
Allen Contracting, Inc.	First Offer - \$600.00	26 / linear foot	\$15,600.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$615.00	26 / linear foot	\$15,990.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$997.00	26 / linear foot	\$25,922.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Silver Star Construction Company	First Offer - \$1,080.44	26 / linear foot	\$28,091.44		Υ
Product Code:		Supplier Product Code	e:		

Agency Notes: Supplier Notes:

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-	108005-128 Base Bid PC-	0558: 635 BORE AND S	TEEL ENCASEMENT (1	2" CARRIEI	R PIPE)	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Atlas Paving Company	First Offer - \$1,255.00	48 / linear foot	\$60,240.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$1,300.00	48 / linear foot	\$62,400.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$1,360.03	48 / linear foot	\$65,281.44		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$1,400.00	48 / linear foot	\$67,200.00		Y	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$2,100.00	48 / linear foot	\$100,800.00		Υ	
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-129 Base Bid PC-0558: 640 FOOTING								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$3,700.00	2 / each	\$7,400.00		Y			
		Supplier Product Co Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$14,500.00	2 / each	\$29,000.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$15,713.47	2 / each	\$31,426.94		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$20,000.00	2 / each	\$40,000.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$20,000.00	2 / each	\$40,000.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-130 Base Bid PC-0558: 811 REMOVAL OF 8" SANITARY SEWER PIPE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	30 / linear foot	\$660.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$25.00	30 / linear foot	\$750.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$36.00	30 / linear foot	\$1,080.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$39.01	30 / linear foot	\$1,170.30		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$70.00	30 / linear foot	\$2,100.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-131 Base Bid PC-0558: 811 REMOVAL OF 10" SANITARY SEWER PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	45 / linear foot	\$990.00		Υ				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$25.00	45 / linear foot	\$1,125.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$39.00	45 / linear foot	\$1,755.00		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$42.26	45 / linear foot	\$1,901.70		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$81.00	45 / linear foot	\$3,645.00		Y				
Product Code:		Supplier Product Code	2:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-132 Base Bid PC-0558: 811 REMOVAL OF 12" SANITARY SEWER PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	170 / linear foot	\$3,740.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$25.00	170 / linear foot	\$4,250.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$40.00	170 / linear foot	\$6,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$43.35	170 / linear foot	\$7,369.50		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$93.00	170 / linear foot	\$15,810.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-133 Base Bid PC-0558: 811 REMOVAL OF 21" SANITARY SEWER PIPE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	170 / linear foot	\$3,740.00		Υ				
		Supplier Product Code Supplier Notes:	:						
Allen Contracting, Inc.	First Offer - \$25.00	170 / linear foot	\$4,250.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:						
Atlas Paving Company	First Offer - \$41.00	170 / linear foot	\$6,970.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Silver Star Construction Company	First Offer - \$44.43	170 / linear foot	\$7,553.10		Y				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$105.00	170 / linear foot	\$17,850.00		Υ				
Product Code:		Supplier Product Code	:						
Agency Notes:		Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-134 Base Bid PC-0558: 811 REMOVAL OF 24" SANITARY SEWER PIPE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$22.00	160 / linear foot	\$3,520.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$25.00	160 / linear foot	\$4,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$43.00	160 / linear foot	\$6,880.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$46.60	160 / linear foot	\$7,456.00		Y			
Product Code:		Supplier Product Code:	}					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$116.00	160 / linear foot	\$18,560.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-135 Base Bid PC-0558: 456 RAISING MANHOLE (TYPE I)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
T.J. Campbell Construction Co.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$2,000.00	1 / each	\$2,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$2,709.22	1 / each	\$2,709.22		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$2,800.00	1 / each	\$2,800.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$2,800.00	1 / each	\$2,800.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-136 Base Bid PC-0558: 456-06 LOWERING MANHOLE (TYPE II)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$500.00	2 / vertical foot	\$1,000.00		Υ			
		Supplier Product Code Supplier Notes:	e:					
Allen Contracting, Inc.	First Offer - \$1,700.00	2 / vertical foot	\$3,400.00		Υ			
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:	e:					
SCHWARZ PAVING CO., INC.	First Offer - \$1,700.00	2 / vertical foot	\$3,400.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,788.08	2 / vertical foot	\$3,576.16		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$2,000.00	2 / vertical foot	\$4,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-137 Base Bid PC-0558: 456-7 RESETTING EXISTING RING AND COVER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Atlas Paving Company	First Offer - \$500.00	1 / each	\$500.00		Y				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
Silver Star Construction Company	First Offer - \$541.85	1 / each	\$541.85		Y				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
T.J. Campbell Construction Co.	First Offer - \$950.00	1 / each	\$950.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$3,900.00	1 / each	\$3,900.00		Y				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						
SCHWARZ PAVING CO., INC.	First Offer - \$4,000.00	1 / each	\$4,000.00		Y				
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-138 Base Bid PC-0558: 456-8 SETTING NEW MANHOLE RING AND COVER								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$500.00	1 / each	\$500.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$1,029.51	1 / each	\$1,029.51		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$1,500.00	1 / each	\$1,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$3,900.00	1 / each	\$3,900.00		Υ			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$4,000.00	1 / each	\$4,000.00		Y			
Product Code:		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-139 Base Bid PC-0558: 812 REMOVE CURB AND GUTTER									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
SCHWARZ PAVING CO., INC.	First Offer - \$9.00	1912 / linear foot	\$17,208.00		Y				
		Supplier Product Code: Supplier Notes:							
Allen Contracting, Inc.	First Offer - \$10.00	1912 / linear foot	\$19,120.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
Silver Star Construction Company	First Offer - \$10.02	1912 / linear foot	\$19,158.24		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Atlas Paving Company	First Offer - \$12.00	1912 / linear foot	\$22,944.00		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$14.00	1912 / linear foot	\$26,768.00		Y				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-140 Base Bid PC-0558: 820 SAWCUT PAVEMENT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$3.79	234 / linear foot	\$886.86		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$5.00	234 / linear foot	\$1,170.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$6.00	234 / linear foot	\$1,404.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$7.00	234 / linear foot	\$1,638.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$20.00	234 / linear foot	\$4,680.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-141 Base Bid PC-0558: 805(A) REMOVAL OF EXISTING SIGNS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$75.00	4 / each	\$300.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$81.28	4 / each	\$325.12		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$90.00	4 / each	\$360.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$100.00	4 / each	\$400.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$275.00	4 / each	\$1,100.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-142 Base Bid PC-0558: 805(D) REMOVE AND RESET EXISTING SIGNS								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
SCHWARZ PAVING CO., INC.	First Offer - \$165.00	17 / each	\$2,805.00		Y			
		Supplier Product Coo Supplier Notes:	de:					
Silver Star Construction Company	First Offer - \$341.58	17 / each	\$5,806.86		Y			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Allen Contracting, Inc.	First Offer - \$350.00	17 / each	\$5,950.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$375.00	17 / each	\$6,375.00		Y			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					
Atlas Paving Company	First Offer - \$600.00	17 / each	\$10,200.00		Y			
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-143 Base Bid PC-0558: 824 TEMPORARY SURFACING (ASPHALT)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$96.02	100 / ton	\$9,602.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$125.00	100 / ton	\$12,500.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$160.00	100 / ton	\$16,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$200.00	100 / ton	\$20,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$225.00	100 / ton	\$22,500.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-144 Base Bid PC-0558: 733 SQUARE STEEL SIGN POST								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$8.83	44 / linear foot	\$388.52		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$9.50	44 / linear foot	\$418.00		Y			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$10.00	44 / linear foot	\$440.00		Υ			
Product Code:		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$10.00	44 / linear foot	\$440.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$13.00	44 / linear foot	\$572.00		Υ			
Product Code:		Supplier Product Code	2:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-145 Base Bid PC-0558: 735 TRAFFIC STRIPE (12 INCH WIDE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$3.00	832 / linear foot	\$2,496.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Atlas Paving Company	First Offer - \$7.00	832 / linear foot	\$5,824.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$7.59	832 / linear foot	\$6,314.88		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$8.00	832 / linear foot	\$6,656.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$8.25	832 / linear foot	\$6,864.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-146 Base Bid PC-0558: 735 TRAFFIC STRIPE (24 INCH WIDE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$10.00	140 / linear foot	\$1,400.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$20.00	140 / linear foot	\$2,800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$21.67	140 / linear foot	\$3,033.80		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$22.00	140 / linear foot	\$3,080.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$23.25	140 / linear foot	\$3,255.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-147 Base Bid PC-0558: 823 (SP) PORTABLE TRAFFIC SIGNAL SYSTEM								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Atlas Paving Company	First Offer - \$120.00	104 / day	\$12,480.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
SCHWARZ PAVING CO., INC.	First Offer - \$125.00	104 / day	\$13,000.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Silver Star Construction Company	First Offer - \$127.88	104 / day	\$13,299.52		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$135.00	104 / day	\$14,040.00		Υ			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						
T.J. Campbell Construction Co.	First Offer - \$140.00	104 / day	\$14,560.00		Y			
Product Code:		Supplier Product Cod	de:					
Agency Notes:		Supplier Notes:						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-1080–05-148 Base Bid PC-0558: 857(C) REMOVABLE PAVEMENT MARKING TAPE (4" WIDE)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCHWARZ PAVING CO., INC.	First Offer - \$1.00	8142 / linear foot	\$8,142.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Atlas Paving Company	First Offer - \$2.00	8142 / linear foot	\$16,284.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Silver Star Construction Company	First Offer - \$2.17	8142 / linear foot	\$17,668.14		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$2.30	8142 / linear foot	\$18,726.60		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$2.30	8142 / linear foot	\$18,726.60		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-149 Base Bid PC-0558: 830 ADA CURB RAMP (8")							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Allen Contracting, Inc.	First Offer - \$125.00	160 / square yard	\$20,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$160.00	160 / square yard	\$25,600.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$175.00	160 / square yard	\$28,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$230.00	160 / square yard	\$36,800.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Silver Star Construction Company	First Offer - \$246.52	160 / square yard	\$39,443.20		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108005-150 Base Bid PC-0558: 830 TACTILE MARKERS/TRUNCATED DOMES							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Silver Star Construction Company	First Offer - \$20.90	200 / square foot	\$4,180.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Atlas Paving Company	First Offer - \$30.00	200 / square foot	\$6,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
T.J. Campbell Construction Co.	First Offer - \$36.00	200 / square foot	\$7,200.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Allen Contracting, Inc.	First Offer - \$40.00	200 / square foot	\$8,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
SCHWARZ PAVING CO., INC.	First Offer - \$45.00	200 / square foot	\$9,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108006-01 Alternate A PC-0558: 307 TACK COAT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Silver Star Construction Company	First Offer - \$4.00	4943 / gallon	\$19,772.00		Y			
		Supplier Product Cod Supplier Notes:	e:					
T.J. Campbell Construction Co.	First Offer - \$4.25	4943 / gallon	\$21,007.75		Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
SCHWARZ PAVING CO., INC.	First Offer - \$4.50	4943 / gallon	\$22,243.50		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Atlas Paving Company	First Offer - \$5.00	4943 / gallon	\$24,715.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Allen Contracting, Inc.	First Offer - \$5.00	4943 / gallon	\$24,715.00		Y			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					
Agency Notes.		Supplier 140res.						

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-10	08006-02 Alternate A P	C-0558: 311 SUPERPA\	/E, TYPE S3(PG 64-22 C	K)		
Supplier	Unit Price	t Price Qty/Unit Total Price Attch.				
SCHWARZ PAVING CO., INC.	First Offer - \$98.00	5997 / tons	\$587,706.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Silver Star Construction Company	First Offer - \$99.00	5997 / tons	\$593,703.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Atlas Paving Company	First Offer - \$105.00	5997 / tons	\$629,685.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$118.00	5997 / tons	\$707,646.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$150.00	5997 / tons	\$899,550.00		Υ	
Product Code:		Supplier Product Cod	le:			
Agency Notes:		Supplier Notes:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-10	08006-03 Alternate A P	C-0558: 311 SUPERPA	VE, TYPE S5(PG 64-22 C	OK)		
Supplier	Unit Price	Qty/Unit Total Price		Attch.	Docs	
Silver Star Construction Company	First Offer - \$114.00	1615 / tons	\$184,110.00		Υ	
Product Code:	Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:				
SCHWARZ PAVING CO., INC.	First Offer - \$120.00	1615 / tons	\$193,800.00		Υ	
Product Code:	Supplier Product Cod	de:				
Agency Notes:	Supplier Notes:					
Atlas Paving Company	First Offer - \$140.00	1615 / tons	\$226,100.00		Y	
Product Code:	Supplier Product Code:					
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$148.00	1615 / tons	\$239,020.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Allen Contracting, Inc.	First Offer - \$175.00	1615 / tons	\$282,625.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

PC-0557 and WC-1085 PC-0558, WC-1106 and SC-108007-01 Alternate B PC-0558: 314 DOWEL JOINTED P.C.C. PAVT. (PLACEMENT)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Allen Contracting, Inc.	First Offer - \$72.25	16475 / square yard	\$1,190,318.75		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$81.00	16475 / square yard	\$1,334,475.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
SCHWARZ PAVING CO., INC.	First Offer - \$93.00	16475 / square yard	\$1,532,175.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Atlas Paving Company	First Offer - \$100.00	16475 / square yard	\$1,647,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Silver Star Construction Company	First Offer - \$105.80	16475 / square yard	\$1,743,055.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

Supplier Totals

f SCHWARZ PA	AVING CO., INC.	\$20,122,052.10 (282/282 items	5)
Bid Contact	BRIAN SCHWARZ RICHARD.SCHWARZ@SCHWARZPAVING.COM Ph 405-789-7203	Address 8251 WEST RENO AVE OKLAHOMA CITY, OK 73127	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid bond attached to first item.		
Agency Notes:		Supplier Notes: Bid bond attached to first item.	Head Attch:
f T.J. Campbel	ll Construction Co.	\$21,011,013.40 (282/282 items)	
Bid Contact	Donnie Dorn TJCESTIMATING@TJCAMPBELL.COM Ph 405-672-6768 Fax 405-513-6786	Address PO Box 3788 Edmond, OK 73083	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		• •	Head Attch: 🖟
f Atlas Paving	; Company	\$21,924,916.15 (282/282 items)
Bid Contact	Carol McCoin cmccoin@atlaspavingok.com Ph 405-947-2381 Fax 405-947-3670	Address 3800 NW 8th Street Oklahoma City, OK 73107	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Bid Bond Attached to item #01		
Agency Notes:		Supplier Notes: Bid Bond Attached to item #01	Head Attch:
f Allen Contra	acting, Inc.	\$22,297,147.30 (282/282 items)
Bid Contact	Reed W Greenhill estimating@allen-contracting.com Ph 405-677-4450	Address 516 W. California Ave. Oklahoma City, OK 73102	:
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes:		Supplier Notes:	Head Attch:
f Silver Star C	onstruction Company	\$22,322,383.216 (282/282 i	tems)
Bid Contact	Amber Harris tim@silverstarconst.com Ph 405-793-1725	Address 2401 S Broadway Moore, OK 73160	
Qualifications	CS ARCH ENG OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Bid Notes	BID BOND UPLOADED ON LINE ITEM Base Bid PC-0557	: UNCLASSIFIED EXCAVATION	
Agency Notes:		Supplier Notes: BID BOND UPLOADED ON LINE ITEM BId PC-0557: UNCLASSIFIED EXCAVAT	

bid #PC-0557 and WC-1085 PC-0558,

**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #25102 - Document Scanning, Conversion, Destruction, and Data Entry Services

Start Date Feb 14, 2024 7:40:21 AM CST Awarded Date Not Yet Awarded

мірсо	ON Data Services			\$301.51 (76/76 items)
Bid Co	ntact Kenny Leonard kleonard@midcondata.com Ph 405-205-2240	Address 13 Ol	lway Ext _r , OK 73114	
Agency	Notes:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -01-01	Document Conversion and Scanning Services: Paper up to 11 x 17 converted into TIFF Group 4 (black and white) - 200 dpi - First Offer		1 / each	\$0.05
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-02	Document Conversion and Scanning Services: Paper up to 11 x 17 converted into TIFF Group 4 (color or grayscale) - 400 dpi - First Offer	I .	1 / each	\$0.09
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-03	Document Conversion and Scanning Services: Paper up to 11 x 17 converted into TIFF Group 4 (color or grayscale) - 600 dpi - First Offer		1 / each	\$0.16
Produc		Supplier Product Code: Supplier Notes:		
25102- -01-04	Document Conversion and Scanning Services: 12 x 18 converted into TIFF Group 4 (black and white) images at 200 dpi - First Offer		1 / each	\$0.92
Produc		Supplier Product Code: Supplier Notes:		
25102- -01-05	Document Conversion and Scanning Services: 12 x 18 converted into TIFF Group 4 (color or grayscale) images at 400 dpi - First Offer		1 / each	\$1.01
Produc		Supplier Product Code: Supplier Notes:		
25102- -01-06	Document Conversion and Scanning Services: 13 x 18 converted into TIFF Group 4 (color or grayscale) images at 600 dpi - First Offer	\$1.50	1 / each	\$1.50
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-07	Document Conversion and Scanning Services: 18 x 24 converted into TIFF Group 4 (black and white) images at 200 dpi - First Offer		1 / each	\$0.95
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-08	Document Conversion and Scanning Services: 18 x 24 converted into TIFF Group 4 (color or grayscale) images at 400 dpi - First Offer		1 / each	\$1.05
Produc Agency		Supplier Product Code: Supplier Notes:	,	

illing, Co	inversion, its	Trusis		
25102- -01-09	Document Conversion and Scanning Services: 19 x 24 converted into TIFF Group 4 (color or grayscale) images at 600 dpi - First Offer	\$1.55	1 / each	\$1.55
Product	7	Supplier Product Code:		
Agency	Γ	Supplier Notes:		I
25102- -01-10	Document Conversion and Scanning Services: 24 x 36 converted into TIFF Group 4 (black and white) images at 200 dpi - First Offer	\$1.22	1 / each	\$1.22
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-11	Document Conversion and Scanning Services: 24 x 36 converted into TIFF Group 4 (black and white) images at 400 dpi - First Offer	\$1.35	1 / each	\$1.35
Product Agency		Supplier Product Code: Supplier Notes:	<u> </u>	
25102- -01-12	Document Conversion and Scanning Services: 25 x 36 converted into TIFF Group 4 (black and white) images at 600 dpi - First Offer	\$1.95	1 / each	\$1.95
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-13	Document Conversion and Scanning Services: 36 x 48 converted into TIFF Group 4 (color or grayscale) images at 200 dpi - First Offer	\$1.57	1 / each	\$1.57
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-14	Document Conversion and Scanning Services: 36 x 48 converted into TIFF Group 4 (color or grayscale) images at 400 dpi - First Offer	\$1.70	1 / each	\$1.70
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-15	Document Conversion and Scanning Services: 37 x 48 converted into TIFF Group 4 (color or grayscale) images at 600 dpi - First Offer	\$2.50	1 / each	\$2.50
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-16	Document Conversion and Scanning Services: Roll 36 x (price per linear ft) (black and white) - 200 dpi - First Offer	\$0.39	1 / foot	\$0.39
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-17	Document Conversion and Scanning Services: Roll 36 x (price per linear ft) (black and white) - 400 dpi - First Offer	\$0.43	1 / foot	\$0.43
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-18	Document Conversion and Scanning Services: Roll 36 x (price per linear ft) (color or grayscale) - 200 dpi - First Offer	\$0.44	1 / foot	\$0.44
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-19	Document Conversion and Scanning Services: Roll 36 x (price per linear ft) (color or grayscale) - 400 dpi - First Offer	\$0.49	1 / foot	\$0.49
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-20	Document Conversion and Scanning Services: Bound book scanning (up to 11 x 17) converted into TIFF or PDF up to 400 dpi - First Offer	\$0.35	1 / each	\$0.35
Product Agency		Supplier Product Code: Supplier Notes:		

ınıng, Co	onversion, its	s Irusts		
25102- -01-21	Document Conversion and Scanning Services: Bound book scanning (black and white up to 400 dpi TIFF) - First Offer	\$0.35	1 / each	\$0.35
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-22	Document Conversion and Scanning Services: Bound book scanning (color or grayscale up to 400 dpi TIFF, PDF, or JPEG) - First Offer	\$0.42	1 / each	\$0.42
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-23	Document Conversion and Scanning Services: Scanning of Jacketed Microfiche to TIFF Group 4 (black and white) images - First Offer	\$0.068	1 / each	\$0.068
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-24	Document Conversion and Scanning Services: Scanning of COM Microfiche to TIFF Group 4 (black and white) images - First Offer	\$0.037	1 / each	\$0.037
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-25	Document Conversion and Scanning Services: Scanning of 16mm film rolls to TIFF Group 4 (black and white) images - First Offer	\$0.034	1 / each	\$0.034
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-26	Document Conversion and Scanning Services: Scanning of 35mm film rolls to TIFF Group 4 (black and white) images - First Offer	\$0.065	1 / each	\$0.065
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-27	Document Conversion and Scanning Services: Indexing Services (Per Character) 1 - 4 Fields - First Offer	\$0.01	1 / each	\$0.01
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-28	Document Conversion and Scanning Services: Indexing Services (Per Character) 5 - 9 Fields - First Offer	\$0.01	1 / each	\$0.01
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-29	Document Conversion and Scanning Services: Indexing Services (Per Character) 10 + Fields - First Offer	\$0.01	1 / each	\$0.01
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-30	Document Conversion and Scanning Services: Conversion of TIFF to Adobe PDF file Format (Per Image) - First Offer	\$0.00	1 / each	\$0.00
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-31	Document Conversion and Scanning Services: Optical Character Recognition - OCR - (Per Image) - First Offer	\$0.011	1 / each	\$0.011
Produc Agency		Supplier Product Code: Supplier Notes:		
25102- -01-32	Document Conversion and Scanning Services: Document Preparation (per page) - First Offer	\$0.076	1 / each	\$0.076
Produc Agency		Supplier Product Code: Supplier Notes:		
	Document Conversion and Scanning Services: Document		1 / hour	\$55.00

Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-34	Document Conversion and Scanning Services: Document Preparation (per box) - First Offer		1 / box	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: Price will b	e based on the	e per page bid
25102- -01-35	Document Conversion and Scanning Services: Document Reassembly - First Offer	\$0.071	1 / each	\$0.071
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-36	Document Conversion and Scanning Services: Boxing documents for transport - First Offer	\$5.00	1 / box	\$5.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-37	Document Conversion and Scanning Services: Transport of documents - First Offer	\$25.00	1 / each	\$25.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-38	Document Conversion and Scanning Services: CD Master (Each) - First Offer	\$4.00	1 / each	\$4.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-39	Document Conversion and Scanning Services: CD Duplicate (Each) - First Offer	\$4.00	1 / each	\$4.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-40	Document Conversion and Scanning Services: DVD Master (Each) - First Offer	\$4.00	1 / each	\$4.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-41	Document Conversion and Scanning Services: DVD Duplicate (Each) - First Offer	\$4.00	1 / each	\$4.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-42	Document Conversion and Scanning Services: Book Rebinding - First Offer		1 / each	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: No Bid		
25102- -01-43	Document Conversion and Scanning Services: Liquidated Damages - First Offer		1 / each	\$0.00
Product Agency		Supplier Product Code: Supplier Notes: NO bid		
Item	Lingthon	H . ' D .	Oh-#11-**	Lot Total: \$121.832
#	Line Item	Unit Price	Qty/Unit	Total Price
25102-	Municipal Courts - Data Entry: Data Entry for Citation Records	\$0.785	1 / each	\$0.785

Ŭ.	nversion, its	rusts		
-02-01	- First Offer			
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.785
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -03-01	Data Entry - Other: Data Entry for miscellaneous documents - First Offer	\$0.785	1 / each	\$0.785
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -03-02	Data Entry - Other: Liquidated Damages - First Offer	\$0.008	1 / each	\$0.008
Product		Supplier Product Code:		
Agency	Notes:	Supplier Notes:		L T l . do . 702
14				Lot Total: \$0.793
#	Line Item	Unit Price	Qty/Unit	Total Price
25102- -04-01	Document Destruction Services: Document Destruction (per pound) - First Offer	\$0.20	1 / pound	\$0.20
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -04-02	Document Destruction Services: Document Destruction - Other Pricing - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.20
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -05-01	Security Measures: Security Measures - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -06-01	Document Storage: Document storage fees, not included in pricing First Offer	\$0.40	1 / box	\$0.40
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.40
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -07-01	Paper Shredding: Console -Stationary cabinet, built-in lock - any size - First Offer	\$11.00	1 / each	\$11.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-02	Paper Shredding: Console -Stationary cabinet, built-in lock - any size - First Offer	\$11.00	1 / each	\$11.00
Product Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:		
	Danar Chradding Cat up foo First Offer	\$0.00	1 / each	\$0.00
25102- -07-03	Paper Shredding: Set up fee - First Offer			

nversion, its	s I rusts		
Paper Shredding: Trip Charge - First Offer	\$0.00	1 / each	\$0.00
	Supplier Product Code: Supplier Notes: No Charge		
Paper Shredding: Fuel Surcharges - First Offer	\$0.00	1 / each	\$0.00
	Supplier Product Code: Supplier Notes: No Charge		
Paper Shredding: Other Surcharges - First Offer	\$0.00	1 / each	\$0.00
	Supplier Product Code: Supplier Notes: No addition	nal charge	
Paper Shredding: Credit Card Fee - First Offer	\$0.00	1 / each	\$0.00
	Supplier Product Code: Supplier Notes: No addition	nal charge	
Paper Shredding: Console -Stationary cabinet, built-in lock - Small - 27"Hx20"Wx21"D - 30-65lbs First Offer	\$11.00	1 / each	\$11.00
	Supplier Product Code: Supplier Notes:		
Paper Shredding: Console -Stationary cabinet, built-in lock - Medium - 36"Hx20"Wx21"D - 75-100lbs - First Offer	\$11.00	1 / each	\$11.00
	Supplier Product Code: Supplier Notes:	<u>'</u>	
Paper Shredding: Tote -Mobile, locking with slot - 64 Gallon - 42"x26"x26" - 200-250lbs First Offer	\$22.00	1 / each	\$22.00
	Supplier Product Code: Supplier Notes:		
Paper Shredding: Tote -Mobile, non-locking with slot - 64 Gallon - 42"x26"x26" - 200-250lbs First Offer	\$22.00	1 / each	\$22.00
	Supplier Product Code: Supplier Notes:		
Paper Shredding: Tote -Mobile, locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer	\$25.00	1 / each	\$25.00
	Supplier Product Code: Supplier Notes:		
Paper Shredding: Tote -Mobile, non-locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer	\$25.00	1 / each	\$25.00
	Supplier Product Code: Supplier Notes:		
Paper Shredding: Bags used for One-Time Service - 75- 100lbs First Offer	\$12.00	1 / each	\$12.00
	Supplier Product Code: Supplier Notes:	'	
Paper Shredding: One-Time Purge Service - Off Site Shredding - First Offer	\$0.20	1 / each	\$0.20
	Supplier Product Code: Supplier Notes:		
Paper Shredding: One-Time Purge Service - On Site Shredding - First Offer	\$0.20	1 / each	\$0.20
	Paper Shredding: Trip Charge - First Offer Code: Notes: Paper Shredding: Fuel Surcharges - First Offer Code: Notes: Paper Shredding: Other Surcharges - First Offer Code: Notes: Paper Shredding: Credit Card Fee - First Offer Code: Notes: Paper Shredding: Console - Stationary cabinet, built-in lock-Small - 27"Hx20"Wx21"D - 30-65lbs First Offer Code: Notes: Paper Shredding: Console - Stationary cabinet, built-in lock-Medium - 36"Hx20"Wx21"D - 75-100lbs - First Offer Code: Notes: Paper Shredding: Tote - Mobile, locking with slot - 64 Gallon-42"x26"x26" - 200-250lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 64 Gallon - 42"x26"x26" - 200-250lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer Code: Notes: Paper Shredding: One-Time Purge Service - Off Site Shredding - First Offer Code: Notes: Paper Shredding: One-Time Purge Service - On Site	Paper Shredding: Trip Charge - First Offer Notes: Code: Notes: Paper Shredding: Fuel Surcharges - First Offer Supplier Notes: No Charge Supplier Notes: No Addition Supplier Notes: Supplier Notes	Paper Shredding: Trip Charge - First Offer Notes: Paper Shredding: Fuel Surcharges - First Offer Notes: Paper Shredding: Other Surcharges - First Offer Notes: Paper Shredding: Other Surcharges - First Offer Notes: Paper Shredding: Other Surcharges - First Offer Notes: Paper Shredding: Credit Card Fee - First Offer Notes: Paper Shredding: Credit Card Fee - First Offer Notes: Paper Shredding: Credit Card Fee - First Offer Notes: Paper Shredding: Credit Card Fee - First Offer Notes: Paper Shredding: Console - Stationary cabinet, built-in lock-Small - 27"Hx20"Wx21"D - 30-65lbs First Offer Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Paper Shredding: Console - Stationary cabinet, built-in lock-Medium - 36"Hx20"Wx21"D - 75-100lbs - First Offer Code: Notes: Paper Shredding: Tote - Mobile, locking with slot - 64 Gallon - 42"x26"x26" - 200-250lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 64 Gallon - 42"x26"x26" - 200-250lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer Code: Notes: Paper Shredding: Tote - Mobile, non-locking with slot - 96 Gallon - 46"x28"x31" - 300-350lbs First Offer Code: Notes: Paper Shredding: Bags used for One-Time Service - 75-100lbs First Offer Code: Notes: Paper Shredding: Bags used for One-Time Service - 75-100lbs First Offer Code: Notes: Paper Shredding: One-Time Purge Service - 0ff Site Supplier Notes: Paper Shredding: One-Time Purge Service - 0ff Site Supplier Notes: Paper Shredding: One-Time Purge Service - 0ff Site Supplier Notes: Paper Shredding: One-Time Purge Service - 0ff Site Supplier Notes: Paper Shredding: One-Time Purge Service - 0ff Site Supplier Notes: Paper Shredding: One-Time Purge Service - 0ff Site Supplier Notes: Paper Shredding: One-Time Purge Service - 0ff Site Supplier Notes:

25102- -07-17	Paper Shredding: Banker's Box - Small - 10"HX12"WX15"D - 20-30lbs First Offer	\$4.50	1 / each	\$4.50
Product		Supplier Product Code:		
Agency		Supplier Notes:		
25102- -07-18	Paper Shredding: Banker's Box - Large - 10"HX24"WX15"D - 50-60lbs First Offer	\$8.00	1 / each	\$8.00
Product		Supplier Product Code:	ı	I
Agency		Supplier Notes:	I	I
25102- -07-19	Paper Shredding: Legal Box - Small - 24"X15"X10"-40-55lbs First Offer	\$6.00	1 / each	\$6.00
Product		Supplier Product Code:		
Agency		Supplier Notes:		
25102- -07-20	Paper Shredding: Legal Box - Large - 26"X15"X12"-60-70lbs First Offer	\$8.00	1 / each	\$8.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-21	Paper Shredding: Service - Off Site Shredding - Contractor picks up - First Offer	\$0.20	1 / each	\$0.20
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-22	Paper Shredding: Service - Off Site Shredding - Client drops off - First Offer	\$0.20	1 / each	\$0.20
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-23	Paper Shredding: Service - On Site Shredding - First Offer	\$0.20	1 / each	\$0.20
Product	t Code:	Supplier Product Code:	<u> </u>	ı
Agency	Notes:	Supplier Notes:		
25102- -07-24	Paper Shredding: Security Level or Shred Size - First Offer		1 / each	
Product	t Code:	Supplier Product Code:		
Agency	Notes:	Supplier Notes: MIDCON is	S NAAID AA CE	rtified
25102- -07-25	Paper Shredding: Bundling of Services - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$177.50
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -08-01	W-9 Form: W-9 Form - First Offer		1 / each	
	- •	Supplier Breduct Code		
Product Agency		Supplier Product Code: Supplier Notes:		

/4/76 items)	
4/	76 items)

Bid Contact Sushma Maheshwari

sushma.maheshwari@mercuriusinc.com

Address **13116 Knight Island Dr. Oklahoma City, OK 73142**

Ph 860-478-9269

Agency	Notes:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -01-01	Document Conversion and Scanning Services: Paper up to 11 x 17 converted into TIFF Group 4 (black and white) - 200 dpi - First Offer	\$0.09	1 / each	\$0.09
Produc Agency	t Code: [•] Notes:	Supplier Product Code: Supplier Notes:		
25102- -01-02	Document Conversion and Scanning Services: Paper up to 11 x 17 converted into TIFF Group 4 (color or grayscale) - 400 dpi - First Offer	\$0.15	1 / each	\$0.15
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:		
25102- -01-03	Document Conversion and Scanning Services: Paper up to 11 x 17 converted into TIFF Group 4 (color or grayscale) - 600 dpi - First Offer	\$0.18	1 / each	\$0.18
Produc		Supplier Product Code:		
	Notes:	Supplier Notes:	1 / oach	¢0.00
25102- -01-04	Document Conversion and Scanning Services: 12 x 18 converted into TIFF Group 4 (black and white) images at 200 dpi - First Offer	\$0.09	1 / each	\$0.09
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:		
25102- -01-05	Document Conversion and Scanning Services: 12 x 18 converted into TIFF Group 4 (color or grayscale) images at 400 dpi - First Offer	\$0.15	1 / each	\$0.15
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25102- -01-06	Document Conversion and Scanning Services: 13 x 18 converted into TIFF Group 4 (color or grayscale) images at 600 dpi - First Offer	\$0.18	1 / each	\$0.18
Produc Agency	t Code: Notes:	Supplier Product Code: Supplier Notes:		
25102- -01-07			1 / each	\$0.36
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25102- -01-08	Document Conversion and Scanning Services: 18 x 24 converted into TIFF Group 4 (color or grayscale) images at 400 dpi - First Offer	\$0.72	1 / each	\$0.72
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25102- -01-09	Document Conversion and Scanning Services: 19 x 24 converted into TIFF Group 4 (color or grayscale) images at 600 dpi - First Offer	\$1.00	1 / each	\$1.00
Produc Agency	,	Supplier Product Code: Supplier Notes:		
25102- -01-10	T	\$1.00	1 / each	\$1.00
Produc Agency	t Code:	Supplier Product Code: Supplier Notes:	'	
25102-	Document Conversion and Scanning Services: 24 x 36	\$1.50	1 / each	\$1.50

Supplier Product Code: Supplier Notes:		
0	\$2.00	
Supplier Product Code: Supplier Notes:		
at	\$2.00	
Supplier Product Code: Supplier Notes:		
at	\$3.00	
Supplier Product Code: Supplier Notes:		
at	\$4.00	
Supplier Product Code: Supplier Notes:		
	\$0.75	
Supplier Product Code: Supplier Notes:		
	\$1.50	
Supplier Product Code: Supplier Notes:		
	\$1.50	
Supplier Product Code: Supplier Notes:		
se \$3.00 1/foot	\$3.00	
Supplier Product Code: Supplier Notes:		
sk \$0.27 1 / each 9	\$0.27	
Supplier Product Code: Supplier Notes:		
	\$0.27	
Supplier Product Code: Supplier Notes:		
sk \$0.52 1 / each 9	\$0.52	
Supplier Product Code: Supplier Notes:		
	\$0.05	
	Supplier Notes: Supplier Product Code:	

ning, conversion,	- First Offer	Trusis		
Product Code:	- Filst Offer	Supplier Product Code:		
Agency Notes:		Supplier Notes:		
	on and Scanning Services: Scanning of IFF Group 4 (black and white) images - First Offer	\$0.05	1 / each	\$0.05
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	on and Scanning Services: Scanning of IFF Group 4 (black and white) images - First Offer	\$0.05	1 / each	\$0.05
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	on and Scanning Services: Scanning of IFF Group 4 (black and white) images - First Offer	\$0.05	1 / each	\$0.05
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	rsion and Scanning Services: Indexing (Per Character) 1 - 4 Fields - First Offer	\$0.01	1 / each	\$0.01
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	rsion and Scanning Services: Indexing (Per Character) 5 - 9 Fields - First Offer	\$0.01	1 / each	\$0.01
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	rsion and Scanning Services: Indexing (Per Character) 10 + Fields - First Offer	\$0.03	1 / each	\$0.03
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	and Scanning Services: Conversion of DF file Format (Per Image) - First Offer	\$0.10	1 / each	\$0.10
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	version and Scanning Services: Optical gnition - OCR - (Per Image) - First Offer	\$0.50	1 / each	\$0.50
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	ion and Scanning Services: Document Preparation (per page) - First Offer	\$0.21	1 / each	\$0.21
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	ion and Scanning Services: Document Preparation (per hour) - First Offer	\$30.00	1 / hour	\$30.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25102- Document Convers -01-34	ion and Scanning Services: Document Preparation (per box) - First Offer	\$735.00	1 / box	\$735.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
25102- Document Convers -01-35	ion and Scanning Services: Document Reassembly - First Offer	\$0.21	1 / each	\$0.21
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	version and Scanning Services: Boxing	\$2.80	1 / box	\$2.80

ıııııg, oo	Trectoion,	7 114010		
-01-36	documents for transport - First Offer			
Product		Supplier Product Code:		
Agency		Supplier Notes:		
25102- -01-37	Document Conversion and Scanning Services: Transport of documents - First Offer	\$25.00	1 / each	\$25.00
Product		Supplier Product Code:		
Agency	Notes:	Supplier Notes: The price is \$25/hour		
25102-	Document Conversion and Scanning Services: CD Master		1 / each	\$21.50
-01-38	(Each) - First Offer			
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-39	Document Conversion and Scanning Services: CD Duplicate (Each) - First Offer	\$3.96	1 / each	\$3.96
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-40	Document Conversion and Scanning Services: DVD Master (Each) - First Offer	\$22.50	1 / each	\$22.50
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -01-41	Document Conversion and Scanning Services: DVD Duplicate (Each) - First Offer	\$4.96	1 / each	\$4.96
Product Agency		Supplier Product Code: Supplier Notes:		
25102-	Document Conversion and Scanning Services: Book	\$25.00	1 / each	\$25.00
-01-42 Product	Rebinding - First Offer	Supplier Product Code:		
Agency		Supplier Notes:		
25102- -01-43	Document Conversion and Scanning Services: Liquidated Damages - First Offer	\$0.005	1 / each	\$0.005
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$896.225
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -02-01	Municipal Courts - Data Entry: Data Entry for Citation Records - First Offer	\$11.28	1 / each	\$11.28
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$11.28
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -03-01	Data Entry - Other: Data Entry for miscellaneous documents - First Offer	\$0.01	1 / each	\$0.01
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -03-02	Data Entry - Other: Liquidated Damages - First Offer	\$0.005	1 / each	\$0.005
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.015
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
25102-	Document Destruction Services: Document Destruction (per	\$0.20	1 / pound	\$0.20

nning, Co	nversion, its	Trusts		
-04-01	pound) - First Offer			
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -04-02	Document Destruction Services: Document Destruction - Other Pricing - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.20
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -05-01	Security Measures: Security Measures - First Offer		1 / each	
Product Agency		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -06-01	Document Storage: Document storage fees, not included in pricing First Offer	\$0.27	1 / box	\$0.27
Product Agency		Supplier Product Code: Supplier Notes: \$0.27 per cubic foot		
				Lot Total: \$0.27
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -07-01	Paper Shredding: Console -Stationary cabinet, built-in lock - any size - First Offer	\$40.00	1 / each	\$40.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-02	Paper Shredding: Console -Stationary cabinet, built-in lock - any size - First Offer	\$40.00	1 / each	\$40.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-03	Paper Shredding: Set up fee - First Offer	\$500.00	1 / each	\$500.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-04	Paper Shredding: Trip Charge - First Offer	\$25.00	1 / each	\$25.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-05	Paper Shredding: Fuel Surcharges - First Offer	\$2.00	1 / each	\$2.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-06	Paper Shredding: Other Surcharges - First Offer	\$2.00	1 / each	\$2.00
Product Agency		Supplier Product Code: Supplier Notes:		
25102- -07-07	Paper Shredding: Credit Card Fee - First Offer	\$4.95	1 / each	\$4.95
Product Agency		Supplier Product Code: Supplier Notes:		
25102-	Paper Shredding: Console -Stationary cabinet, built-in lock -			No Bids

ining, Conversion,	s Trusts	
-07-08 Small - 27"Hx20"Wx21"D - 30-65lbs.		
Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Console -Stationary cabinet, built-in lock07-09 Medium - 36"Hx20"Wx21"D - 75-100lbs		No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Tote -Mobile, locking with slot - 64 Gallon -07-10 42"x26"x26" - 200-250lbs First Offer	\$69.89 1 / eac	th \$69.89
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Tote -Mobile, non-locking with slot - 64-07-11 Gallon - 42"x26"x26" - 200-250lbs First Offer		th \$69.98
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Tote -Mobile, locking with slot - 96 Gallon -07-12 46"x28"x31" - 300-350lbs First Offer	\$441.26 1 / eac	th \$441.26
Product Code:	Supplier Product Code:	
Agency Notes: 25102- Paper Shredding: Tote -Mobile, non-locking with slot - 96	Supplier Notes: \$305.00 1 / ea	th \$305.00
25102- Paper Shredding: Tote -Mobile, non-locking with slot - 96 -07-13 Gallon - 46"x28"x31" - 300-350lbs First Offer		11.
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Bags used for One-Time Service - 75- -07-14 100lbs First Offer	\$50.00 1 / eac	ch \$50.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: One-Time Purge Service - Off Site -07-15 Shredding - First Offer		th \$200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: One-Time Purge Service - On Site -07-16 Shredding - First Offer		th \$350.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Banker's Box - Small - 10"HX12"WX15"D - 07-17 20-30lbs First Offer	\$5.90 1 / eac	th \$5.90
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Banker's Box - Large - 10"HX24"WX15"D - 07-18 50-60lbs First Offei	\$10.90 1 / eac	th \$10.90
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Legal Box - Small - 24"X15"X10"-40-55lbs07-19 First Offer	\$9.95 1 / eac	th \$9.95
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Legal Box - Large - 26"X15"X12"-60-70lbs07-20 First Offer	\$11.95 1 / eac	th \$11.95
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
25102- Paper Shredding: Service - Off Site Shredding - Contractor picks up - First Offer		th \$0.40
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	

Tresha Williams City Clerk

City of Oklahoma City and its Trusts

25102-				
-07-22	Paper Shredding: Service - Off Site Shredding - Client drops off - First Offer	\$0.20	1 / each	\$0.20
Product (Agency N		Supplier Product Code: Supplier Notes:		
25102- -07-23	Paper Shredding: Service - On Site Shredding - First Offer	\$0.45	1 / each	\$0.45
Product (Agency N		Supplier Product Code: Supplier Notes:		
25102- -07-24	Paper Shredding: Security Level or Shred Size - First Offer		1 / each	
	duct Code: Supplier Product Code: Supplier Notes: Supplier Notes:			
25102- -07-25	Paper Shredding: Bundling of Services - First Offer		1 / each	
Product (Agency N		Supplier Product Code: Supplier Notes: Uploading	notarized Nor	n Collusion Affidavit Here.
				Lot Total: \$2,139.83
Item #	Line Item	Unit Price	Qty/Unit	Total Price
25102- -08-01	W-9 Form: W-9 Form - First Offer		1 / each	
Product (Agency N		Supplier Product Code: Supplier Notes:		
				Lot Total: \$0.00

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Chad Harrison

Purchasing Agent

Brett Rangel

Auditor

City of Oklahoma City and its Trusts Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #OCWUT 19-24 - Coagulants and Aids for Water Treatment Plants

Start Date Jan 17, 2024 8:22:35 AM CST Awarded Date Not Yet Awarded

CHEMTRADE CHEMICALS US LLC \$4.0045			\$4.0045 (17/17 items)	
Bid Con	tact Elizabeth Ryno bids@chemtradelogistics.com Ph 800-441-2659	PA	RSIPPANY, N	
Bid Notes PLEASE FIND ATTACHED IN THE BODY OF THE BID SUBMITTAL: FERRIC SULFATE & HYPER+ION 3530 S DELIVERY TIMES, CONTACT INFO, ADDENDUM 1, W-9 AND OUR WARRANTY.				PER+ION 3530 SPEC SHEETS,
Agency Notes:		Supplier Notes: PLEASE FIN SUBMITTAL: FERRIC SULFAT TIMES, CONTACT INFO, ADD	TE & HYPER+IC	N 3530 SPEC SHEETS, DELIVERY
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 19-24- -01-01	Group 1, Product Details: Manufacturers ANSI/NSF 60 Certification - First Offer		1 / each	
Product (Agency N		Supplier Product Code: Supplier Notes: YES		
OCWUT 19-24- -01-02	Group 1, Product Details: Distributors ANSI/NSF 60 Certification - First Offer		1 / each	
Product of Agency N		Supplier Product Code: Supplier Notes: NO		

galante and mae for	1		1
OCWUT Group 1, Product Details: Bid Price Per lbs First Offe 19-24-	\$0.00	1 / pound	\$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: N/B NO BID - PER ADDENDUM A HOWEVER THE SYSTEM WILL ALLOW YOU TO REMOVE.		T REQUIRED IN THIS FIELD V YOU TO REMOVE THIS LINE OR
OCWUT Group 1, Product Details: Bid price Per lbs. for 55 Gallor 19-2401-04 Drum - First Offe		1 / pound	\$0.365
Product Code: Agency Notes:	Supplier Product Code: 11 Supplier Notes: Product be For conversion purpose onl	eing bid on is (Chemtrade's Ferric Sulfate 60%. es to \$730.00/ton.
OCWUT Group 1, Product Details: Bid price Per lbs. for Totes - Firs 19-24- -01-05		1 / pound	\$0.875
Product Code:	Supplier Product Code: 11	881	

Agency	Notes:	Supplier Notes: Product be For conversion purpose only		Chemtrade's Ferric Sulfate 60%. es to \$1,750.00/ton.
				Lot Total: \$1.24
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 19-24- -02-01	Group 1 Product Details: Bid price Per lbs. for Bulk Quantity - First Offer		1 / pound	\$0.1545
Product Agency		Supplier Product Code: 12 Supplier Notes: Product be For conversion purpose onl	eing bid on is C	Chemtrade's Ferric Sulfate 60%. es to \$309.00/ton.

				Let Tetals #0.1541
ltem #	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.154
OCWUT 19-24- 03-01			1 / pound	\$0.0
Product Agency		Supplier Product Code: Supplier Notes: N/B NO BID - PER ADDENDUM ' HOWEVER THE SYSTEM WIL ACCEPT "N/B" AS A RESPON	L NOT ALLOW	T REQUIRED IN THIS FIELD YYOU TO REMOVE THIS LINE O
OCWUT 19-24- -03-02	Group 2, Product Details: Bid price Per lbs. for 55 Gallon Drum - First Offer	\$0.95	1 / pound	\$0.9
Product Agency		Supplier Product Code: 11 Supplier Notes: Product be Based on a 550/lb net weig	eing bid on is 0	Chemtrade's Hyper+ion 3530.
OCWUT 19-24- -03-03	Group 2, Product Details: Bid price Per lbs. for Totes - First Offer		1 / pound	\$0.9
Product Agency		Supplier Product Code: 11 Supplier Notes: Product be		Chemtrade's Hyper+ion 3530.

	d Aids for its	Trusts		
OCWUT 19-24- -03-04	Group 2, Product Details: Bid price Per lbs. for Bulk Quantity - First Offer		1 / pound	\$0.71
Product (Agency N		Supplier Product Code: 11 Supplier Notes: Product be For conversion purpose on	eing bid on is C	Chemtrade's Hyper+ion 3530.
				Lat Tatalida C1
				Lot Total: \$2.61
Item#	Line Item	Unit Price	Qty/Unit	
OCWUT 19-24- -04-01	Line Item Group 3, Product Details: Bid Price Per lbs First Offer		Qty/Unit 1 / pound	
OCWUT 19-24-	Group 3, Product Details: Bid Price Per lbs First Offer Code:	\$0.00 Supplier Product Code: Supplier Notes: N/B	1 / pound	Total Price
OCWUT 19-24- -04-01 Product (Group 3, Product Details: Bid Price Per lbs First Offer Code:	\$0.00 Supplier Product Code: Supplier Notes: N/B NO BID - THE SYSTEM WILL ACCEPT "N/B" AS A RESPON	1 / pound	Total Price \$0.00
OCWUT 19-24- -04-01 Product (Agency N	Group 3, Product Details: Bid Price Per lbs First Offer Code: Notes: Group 3, Product Details: Bid price Per lbs. for 55 Gallon Drum - First Offer Code:	\$0.00 Supplier Product Code: Supplier Notes: N/B NO BID - THE SYSTEM WILL ACCEPT "N/B" AS A RESPON \$0.00 Supplier Product Code: Supplier Notes: N/B	1 / pound NOT ALLOW Y ISE 1 / pound	*0.00 \$0.00 OU TO REMOVE THIS LINE OR
OCWUT 19-24- -04-01 Product (Agency N	Group 3, Product Details: Bid Price Per lbs First Offer Code: Notes: Group 3, Product Details: Bid price Per lbs. for 55 Gallon Drum - First Offer Code:	\$0.00 Supplier Product Code: Supplier Notes: N/B NO BID - THE SYSTEM WILL ACCEPT "N/B" AS A RESPON \$0.00 Supplier Product Code: Supplier Notes: N/B NO BID - THE SYSTEM WILL ACCEPT "N/B" AS A RESPON \$0.00	1 / pound NOT ALLOW Y ISE 1 / pound	Total Price \$0.00 YOU TO REMOVE THIS LINE OR \$0.00

Agency N	Notes:	Supplier Notes: N/B NO BID - THE SYSTEM WILL NOT ALLOW YOU TO REMOVE THIS LINE OR OR ACCEPT "N/B" AS A RESPONSE		
OCWUT 19-24- -04-04	Group 3, Product Details: Bid price Per lbs. for Bulk Quantity - First Offer		1 / pound	\$0.00
Product (Agency N		Supplier Product Code: Supplier Notes: N/B NO BID - THE SYSTEM WILL ACCEPT "N/B" AS A RESPON		OU TO REMOVE THIS LINE OR
140,00 #	Line Item	Unit Price	Otre/Ulmit	Lot Total: \$0.00
OCWUT 19-24- -05-01	Group 4, Delivery: Delivery Standard - Monday through Friday - First Offer		Qty/Unit 1 / day	Total Price
Product (Agency N		Supplier Product Code: Supplier Notes: FERRIC SU POLYMER (HYPER+ION 353		
OCWUT 19-24- -05-02	Group 4, Delivery: Delivery Peak Season - First Offer		1 / day	
Product (Agency N		Supplier Product Code: Supplier Notes: FERRIC SU POLYMER (HYPER+ION 353		

· · · · · · · · · · · · · · · · · · ·	
OCWUT Group 4, Delivery: Delivery Emergency - First Offe 19-24- -05-03	1 / day
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: BULK DELIVERIES: 24 - 48 HOURS DRUM/TOTE DELIVERIES: 4 - 5 DAYS A.R.O.
	Lot Total: \$0.00

Polydyne Inc. \$7.10 (17/17 items)

Bid Contact Randal Vickery polybiddpt@snfhc.com Ph 912-880-2035 Bid Notes Polydyne Inc. is not bidding on Group I Ferric Sul		Address One Chemical Plant Rd. Riceboro, GA 31323 Ilfate.			
Agency N	Notes:	Supplier Notes: Polydyne I	nc. is not bidd	ing on Group I Ferric Sulfate.	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 19-24- -01-01	Group 1, Product Details: Manufacturers ANSI/NSF 60 Certification - First Offer		1 / each		
Agency N		Sulfate. Supplier Notes: Polydyne I Listing is attached for Polyd	Inc. is not bidd lyne Inc. polym	not bidding on Group I Ferric ing on Group I Ferric Sulfate. NSF ner products; Clarifloc A-6320, A- the manufacturer of all of these	
OCWUT 19-24- -01-02	Group 1, Product Details: Distributors ANSI/NSF 60 Certification - First Offer		1 / each		
Product Agency N		Sulfate.		not bidding on Group I Ferric ing on Group I Ferric Sulfate.	
OCWUT	Group 1, Product Details: Bid Price Per lbs First Offer	\$0.00	1 / pound	\$0.00	

ulants an	d Aids for its	Trusts		
19-24- -01-03				
Product Agency N		Supplier Product Code: Po Sulfate. Supplier Notes: Polydyne Inc. is not bidding		not bidding on Group I Ferric
OCWUT 19-24- -01-04	Group 1, Product Details: Bid price Per lbs. for 55 Gallon Drum - First Offer	\$0.00	1 / pound	\$0.0
Product Agency I		Supplier Product Code: Po Sulfate. Supplier Notes: Polydyne Inc. is not bidding		not bidding on Group I Ferric rric Sulfate.
OCWUT 19-24- 01-05	Group 1, Product Details: Bid price Per lbs. for Totes - First Offer	\$0.00	1 / pound	\$0.0
Product Agency I		Sulfate.		not bidding on Group I Ferric ing on Group I Ferric Sulfate.
Item#	Line Item	Unit Price	Oty/Unit	Lot Total: \$0.00
OCWUT 19-24- -02-01		\$0.00	Qty/Unit 1 / pound	\$0.00
Product Agency I		Sulfate.		not bidding on Group I Ferric ing on Group I Ferric Sulfate.

				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 19-24- -03-01	Group 2, Product Details: Bid Price Per lbs First Offer	\$0.97	1 / pound	\$0.97
Product Agency I		the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Water	Inc. is bidding (nt Plant, Clariflonent Plant, and Pr Treatment Pl The tote and dr	Clarifloc A-6320 for Clarifiers at oc A-210P for Belt Filter Presses I Clarifloc A-6335 for Belt Filter lant. Since a package type is not rum price of \$0.970 per pound is
OCWUT 19-24- -03-02	Group 2, Product Details: Bid price Per lbs. for 55 Gallon Drum - First Offer		1 / pound	\$0.97
Product Agency l		Supplier Product Code: Cl Supplier Notes: Polydyne	Inc. is bidding (A-210P or A-6335 Clarifloc A-6320 for Clarifiers at

2/28/2024 p. 9

the Hefner Water Treatment Plant, Clarifloc A-210P for Belt Filter Presses at the Draper Water Treatment Plant, and Clarifloc A-6335 for Belt Filter

bid #0	OCWUT 19-2	24 -	(City of Okla	ahoma City and			
Coag	ulants and A	ids for			Trusts			
						r Treatment Pl	lant. Polymer will be delivered	d in
					450 pound drums.			
ŀ	0.614.11.17	C	. " 5" . 5 6 . 7		+0.07			
		Group 2, Product D	etails: Bid price Per lbs. for To		\$0.97	1 / pound	\$0).97
	19-24-	Group 2, Product D	etails: Bid price Per lbs. for To	otes - First Offer	\$0.97	1 / pound	\$0).97
	19-24- -03-03		etails: Bid price Per lbs. for To	Offer).97
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla	arifloc A-6320,	A-210P or A-6335	
-	19-24- -03-03	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I	arifloc A-6320, nc. is bidding (A-210P or A-6335 Clarifloc A-6320 for Clarifiers a	at
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer	arifloc A-6320, nc. is bidding (nt Plant, Clariflo	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses
-	19-24- -03-03 Product Coc	de:	etails: Bid price Per lbs. for To	Offer	Supplier Product Code: Cla Supplier Notes: Polydyne I the Hefner Water Treatmer at the Draper Water Treatm Presses at the Hefner Wate	arifloc A-6320, nc. is bidding (nt Plant, Clariflo nent Plant, and	A-210P or A-6335 Clarifloc A-6320 for Clarifiers a oc A-210P for Belt Filter Press I Clarifloc A-6335 for Belt Filte	at ses

ulants an	nd Aids for its	Trusts		
DCWUT 9-24- 03-04	Group 2, Product Details: Bid price Per lbs. for Bulk Quantity - First Offer		1 / pound	\$0.8
roduct Igency I		the Hefner Water Treatmen at the Draper Water Treatn	Inc. is bidding C nt Plant, Clariflo nent Plant, and er Treatment Pl	Clarifloc A-6320 for Clarifiers at oc A-210P for Belt Filter Presses I Clarifloc A-6335 for Belt Filter ant. Polymer will be delivered in
				Lot Total: \$3.70
ltem #	Line Item	Unit Price	Qty/Unit	Total Pric
OCWUT 9-24- 04-01	Group 3, Product Details: Bid Price Per lbs First Offer		1 / pound	\$0.8
Product Agency I		Supplier Product Code: Cl Supplier Notes: Polydyne Pricing provided in this line package type is provided. E	Inc. is bidding (is the price for	totes and drums, since no

igulants and	A Alus IOI	Irusts		
OCWUT 19-24- -04-02	Group 3, Product Details: Bid price Per lbs. for 55 Gallon Drum - First Offer		1 / pound	\$0.87
Product (Agency N		Supplier Product Code: Cla Supplier Notes: Polydyne I Polymer will be delivered in	nc. is bidding (Clarifloc C-338 for Group 3.
OCWUT 19-24- -04-03 Product (Agency N		Supplier Product Code: Cla Supplier Notes: Polydyne I	nc. is bidding (
		Polymer will be delivered in	z,sou pound t	ioles.

2/28/2024 p. 13

Lot Total: \$3.34

igulants and	a Alas Ioi	its Trus	515		
Item #	Line Item		Unit Price	Qty/Unit	Total Price
OCWUT 19-24- -05-01	Group 4, Delivery: Delivery Standard - Monday throu Friday - First O			1 / day	
Product (Agency N			plier Product Code: De plier Notes: 10 Calenda		
OCWUT 19-24- -05-02	Group 4, Delivery: Delivery Peak Season - First O	ffer		1 / day	
Product (Agency N			plier Product Code: De plier Notes: 10 Calenda		
OCWUT 19-24- -05-03	Group 4, Delivery: Delivery Emergency - First O	ffer		1 / day	
Product (Agency N		Sup Clar	plier Product Code: De plier Notes: 4 - 10 Caler ifloc C-338 is manufactu ifloc A-6320, A-210P and	ndar Days. ıred at Pearlinยู	gton, MS. nanufactured at Riceboro, GA.

OCWUT

Group 2, Product Details: Bid price Per lbs. for 55 Gallon

Lot Total: \$0.00

Brenntag Southwest \$10.9493 (12/17 items) Address 704 E Wintergreen Rd Bid Contact **Gayle Tullier** gtollefsen@brenntag.com Lancaster, TX 75134 Ph 225-802-1389 Supplier Code 885-51;885-74 **Bid Notes** 8-10 Days ARO **Agency Notes:** Supplier Notes: 8-10 Days ARO Line Item **Unit Price Total Price** Item# Qty/Unit **OCWUT** Group 1, Product Details: Manufacturers ANSI/NSF 60 1 / each 19-24-Certification - First Offer -01-01 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes: OCWUT** 1 / each Group 1, Product Details: Distributors ANSI/NSF 60 19-24-Certification - First Offer -01-02 **Product Code: Supplier Product Code: Supplier Notes: Agency Notes:** OCWUT No Bids Group 1, Product Details: Bid Price Per lbs. 19-24--01-03 **Agency Notes: Supplier Product Code: Supplier Notes: OCWUT** Group 1, Product Details: Bid price Per lbs. for 55 Gallon No Bids 19-24-Drum -01-04 **Agency Notes: Supplier Product Code: Supplier Notes: OCWUT** Group 1, Product Details: Bid price Per lbs. for Totes No Bids 19-24--01-05 **Agency Notes: Supplier Product Code: Supplier Notes:** Lot Total: \$0.00 **Unit Price** Qty/Unit Item# Line Item **Total Price OCWUT** Group 1 Product Details: Bid price Per lbs. for Bulk No Bids 19-24-Quantity -02-01 **Agency Notes: Supplier Product Code: Supplier Notes:** Lot Total: \$0.00 Item# Line Item **Unit Price** Qty/Unit **Total Price OCWUT** Group 2, Product Details: Bid Price Per lbs. - First Offer \$1.5328 1 / pound \$1.5328 19-24--03-01 **Product Code: Supplier Product Code: Agency Notes: Supplier Notes:** Brennfloc AP2659

2/28/2024 p. 15

No Bids

guiariis ari	d Aids for	Trusts		
19-24- -03-02	Drum			
Agency N	Notes:	Supplier Product Code: Supplier Notes:		
OCWUT 19-24- -03-03	Group 2, Product Details: Bid price Per lbs. for Totes - First Offer		1 / pound	\$1.7785
Product Agency N		Supplier Product Code: Supplier Notes: Brennfloc	AP2659	
OCWUT 19-24- -03-04	Group 2, Product Details: Bid price Per lbs. for Bulk Quantity - First Offer	\$1.528	1 / pound	\$1.528
Product Agency N		Supplier Product Code: Supplier Notes: Brennfloc	AP2659	
				Lot Total: \$4.8393
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 19-24- -04-01	Group 3, Product Details: Bid Price Per lbs First Offer	\$1.34	1 / pound	\$1.34
Product Agency N		Supplier Product Code: Supplier Notes: WC 8301		
OCWUT 19-24- -04-02	Group 3, Product Details: Bid price Per lbs. for 55 Gallon Drum - First Offer	\$1.45	1 / pound	\$1.45
Product Agency N		Supplier Product Code: Supplier Notes: WC 8301		
OCWUT 19-24- -04-03	Group 3, Product Details: Bid price Per lbs. for Totes - First Offer		1 / pound	\$1.98
Product Agency N		Supplier Product Code: Supplier Notes: WC 8301		
OCWUT 19-24- -04-04	Group 3, Product Details: Bid price Per lbs. for Bulk Quantity - First Offer		1 / pound	\$1.34
Product Agency N		Supplier Product Code: Supplier Notes: WC 8301		
				Lot Total: \$6.11
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 19-24- -05-01	Group 4, Delivery: Delivery Standard - Monday through Friday - First Offer		1 / day	
Product Agency N		Supplier Product Code: Supplier Notes: 8-10 Days ARO		
OCWUT 19-24- -05-02	Group 4, Delivery: Delivery Peak Season - First Offer		1 / day	
Product Agency N		Supplier Product Code: Supplier Notes: 8-10 Days ARO		
OCWUT 19-24-	Group 4, Delivery: Delivery Emergency - First Offer		1 / day	

-05-03			
Product (Agency N	otes:	Supplier Product Code: Supplier Notes: 24 Hours ARO	
			Lot Total: \$0.00

Kemira Water Solutions \$0.486 (7/17 items)

Address 4321 W. 6th Street

Bid Contact Shelly Hiatt

kwsna.bids@kemira.com Ph 785-842-7424 Fax 785-842-2629		kwsna.bids@kemira.com Ph 785-842-7424 Fax 785-842-2629	Lawrence, KS 66049			
		CS ARCH ENG	I			
Agency			Supplier Notes:		ı	
Item#	Line I	tem	Unit Price	Qty/Unit	Total Price	
OCWUT 19-24- -01-01		Group 1, Product Details: Manufacturers ANSI/NSF 60 Certification - First Offer		1 / each		
Product Agency I			Supplier Product Code: Ke Supplier Notes: Yes, our p		certified.	
OCWUT 19-24- -01-02	-	Group 1, Product Details: Distributors ANSI/NSF 60 Certification - First Offer		1 / each		
Agency I			Supplier Notes: N/A, we ar			
OCWUT 19-24- -01-03		Group 1, Product Details: Bid Price Per lbs First Offer	\$0.243	1 / pound	\$0.243	
Product Code: Agency Notes:		Supplier Product Code: Ke Supplier Notes: Pricing per		or bulk tank truck deliveries		
OCWUT 19-24- -01-04	Grou Drum	p 1, Product Details: Bid price Per lbs. for 55 Gallon			No Bids	
Agency	Notes:		Supplier Product Code: Supplier Notes:			
OCWUT 19-24- -01-05	Grou	p 1, Product Details: Bid price Per lbs. for Totes			No Bids	

gulants an	nd Aids for its	Trusts			
Agency Notes:		Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.243	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 19-24- -02-01	Group 1 Product Details: Bid price Per lbs. for Bulk Quantity - First Offer	I .	1 / pound	\$0.243	
Product Agency I		Supplier Product Code: Ke Supplier Notes: Pricing per		lk tank truck deliveries	
				Lot Total: \$0.243	
Item#	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 19-24- -03-01	Group 2, Product Details: Bid Price Per lbs.			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 19-24- -03-02	Group 2, Product Details: Bid price Per lbs. for 55 Gallon Drum			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 19-24- -03-03	Group 2, Product Details: Bid price Per lbs. for Totes			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 19-24- -03-04	Group 2, Product Details: Bid price Per lbs. for Bulk Quantity			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
				Lot Total: \$0.00	
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT 19-24- -04-01	Group 3, Product Details: Bid Price Per lbs.			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 19-24- -04-02	Group 3, Product Details: Bid price Per lbs. for 55 Gallon Drum			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 19-24- -04-03	Group 3, Product Details: Bid price Per lbs. for Totes			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			
OCWUT 19-24- -04-04	Group 3, Product Details: Bid price Per lbs. for Bulk Quantity			No Bids	
Agency I	Notes:	Supplier Product Code: Supplier Notes:			

				Lot Total: \$0.0
Item#	Line Item	Unit Price	Qty/Unit	Total Pric
OCWUT 19-24- -05-01	Group 4, Delivery: Delivery Standard - Monday through Friday - First Offer		1 / day	
Product Agency N		Supplier Product Code: Supplier Notes: 5 days ARG	0	
OCWUT 19-24- -05-02	Group 4, Delivery: Delivery Peak Season - First Offer		1 / day	
Product Agency N		Supplier Product Code: Supplier Notes: 5 days ARG	0	
OCWUT 19-24- -05-03	Group 4, Delivery: Delivery Emergency - First Offer		1 / day	
Product Agency N		Supplier Product Code: Supplier Notes: 24 hours A	ARO	
				Lot Total: \$0.0
	Tresha Williams Chad City Clerk Purch	Harrison asing Agent		Brett Rangel Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #OCWUT 22-24 - Waterline Repair Clamps

Creation Date | Jan 24, 2024 | End Date | Feb 28, 2024 10:00:00 AM CST

Start Date Jan 31, 2024 8:05:27 AM CST Awarded Date Not Yet Awarded

CORE & MAIN LP		\$410,95	50.13 (190/	190 items)
	Beckham Address 14701 E 116th St N beckham@coreandmain.com Owasso, OK 74055 686-7100			
	-586-7101			
Agency Notes:		Supplier N	otes:	
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2401-01	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 2x7.5, O.D. Range: 2.35 - 2.63 - First Of	er \$45.15	200 / each	\$9,030.00
Product Code: Agency Notes:		Supplier Pi BLAIR Supplier N	roduct Code:	SMITH
OCWUT 22-2401-02	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 2.5x10, O.D. Range: 2.70 - 3.00 - First Of		4 / each	\$260.00
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code:	SMITH
OCWUT 22-2401-03	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 3x10, O.D. Range: 3.46 - 3.70 - First Of		4 / each	\$261.80
Product Code: Agency Notes:			roduct Code:	
OCWUT 22-2401-04	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 3x10, O.D. Range: 3.73 - 4.00 - First Of	er \$64.80	40 / each	\$2,592.00
Product Code: Agency Notes:		Supplier Pi BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-05	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.74 - 5.14 - First Of	er \$76.00	100 / each	\$7,600.00
Product Code: Agency Notes:		Supplier Pi BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-06	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.45 - 4.73 - First Of	er \$74.75	4 / each	\$299.00
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-07	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.95 - 5.35 - First Of		4 / each	\$322.60
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-08	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 5x7.5, O.D. Range: 5.22 - 5.62 - First Of		4 / each	\$238.00
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code:	SMITH
OCWUT 22-2401-09	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 5x10, O.D. Range: 5.22 - 5.62 - First Of			\$319.40
Product Code: Agency Notes:			roduct Code: otes:	SMITH
OCWUT 22-2401-10	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x10, O.D. Range: 6.84 - 7.24 - First Of		1	\$34,515.00
Product Code: Agency Notes:		Supplier Pi Supplier N	roduct Code: otes:	SMTH BLAIR
OCWUT 22-2401-11	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x12.5, O.D. Range: 6.87 - 7.64 - First Of	er \$126.00	450 / each	\$56,700.00
Product Code: Agency Notes:		Supplier Pi BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-12	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 6.84 - 7.24 - First Of	er \$113.10	210 / each	\$23,751.00
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-13	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 7.05 - 7.45 - First Of	er \$96.20	8 / each	\$769.60
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-14	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 7.45 - 7.85 - First Of		8 / each	\$790.00
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-15	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x20, O.D. Range: 6.84 - 7.24 - First Of		35 / each	\$5,460.00
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code: otes:	SMITH
OCWUT 22-2401-16	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x20, O.D. Range: 7.24 - 7.45 - First Of		35 / each	\$5,556.25
Product Code: Agency Notes:		Supplier Po BLAIR Supplier N	roduct Code: otes:	SMITH

OCWUT 22-2401-17	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x10, O.D. Range: 8.99 - 9.39 - First Offer	\$92.30	80 / each	\$7,384.00
roduct Code:		Supplier Pro		
ency Notes:		BLAIR		
OCWUT 22-2401-18	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 8.99 - 9.39 - First Offer	\$134.15	75 / each	\$10,061.25
Product Code: Agency Notes:		Supplier Pro		SMITH
OCWUT 22-2401-19	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 9.27 - 9.67 - First Offer	Supplier Not \$134.15	t es: 8 / each	\$1,073.20
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier Not		
OCWUT 22-2401-20	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 9.70 - 10.10 - First Offer	\$150.80	4 / each	\$603.20
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier Not	toc.	
OCWUT 22-2401-21	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x20, O.D. Range: 8.99 - 9.39 - First Offer	\$183.50	t es: 15 / each	\$2,752.50
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier Not		
OCWUT 22-2401-22	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x10, O.D. Range: 11.04 - 11.44 - First Offer	\$114.05	10 / each	\$1,140.50
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier Not	tes:	
OCWUT 22-2401-23	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x15, O.D. Range: 11.04 - 11.44 - First Offer	\$143.75	15 / each	\$2,156.25
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Pro		
Agency Notes:		BLAIR Supplier Not	toe:	
OCWUT 22-2401-24	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x30, O.D. Range: 11.04 - 11.44 - First Offer	Supplier Not \$585.00	t es: 15 / each	\$8,775.00
Product Code:		Supplier Pro		
gency Notes:		BLAIR		
OCWUT 22-2401-25		\$195.00	tes: 15 / each	\$2,925.00
OCWU1 22-2401-25 Product Code:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x20, O.D. Range: 11.04 - 11.44 - First Offer	\$195.00 Supplier Pro		
Agency Notes:		BLAIR		
OCWLIT 22 24 04 25		Supplier Not		\$4,050.00
OCWUT 22-2401-26 Product Code:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.10 - 13.50 - First Offer	\$162.00 Supplier Pro	25 / each	
Agency Notes:		BLAIR Supplier Not		
OCWUT 22-2401-27	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.70 - 14.10 - First Offer	\$160.75	4 / each	\$643.00
Product Code: Agency Notes:		Supplier Pro BLAIR	duct Code:	SMITH
		Supplier No	tes:	
OCWUT 22-2401-28	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.40 - 13.80 - First Offer	\$159.40	8 / each	\$1,275.20
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier Not		SMITH
OCWUT 22-2401-29	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.65 - 14.45 - First Offer	\$219.85	8 / each	\$1,758.80
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier Not	tes:	
OCWUT 22-2401-30	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x20, O.D. Range: 13.10 - 13.50 - First Offer	\$209.70	15 / each	\$3,145.50
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier Not		
OCWUT 22-2401-31	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x30, O.D. Range: 13.10 - 13.50 - First Offer	\$326.00	15 / each	\$4,890.00
Product Code:		Supplier Pro		
gency Notes:		BLAIR Supplier Not	tes.	
		Subbuet MO	tes: Lot Total: \$	201,098.05
Item#	ine Item	Unit Price		Total Price
OCWUT 22-2402-01	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x20, O.D. Range: 17.15 - 17.90 - First Offer	\$740.15	10 / each	\$7,401.50
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		BLAIR Supplier Not	tes:	
OCWUT 22-2402-02	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer	\$995.00	10 / each	\$9,950.00
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		BLAIR Supplier Not	tes:	
OCWUT 22-2402-03	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer	\$730.00	10 / each	\$7,300.00
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		BLAIR Supplier Not	tes:	
OCWUT 22-2402-04	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer	\$761.50	10 / each	\$7,615.00
Product Code:		Supplier Pro		
		BLAIR		
Agency Notes:		NUMBER OF BLOCK	ces:	
Agency Notes:		Supplier Not		¢7.615.00
	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer	\$761.50 Supplier Pro	10 / each	\$7,615.00 SMITH

		Supplier No	otes:	
				\$39,881.50
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2403-01	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer	\$1,120.00	8 / each	\$8,960.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	SMITH
Agency Notes.		Supplier No	otes:	
OCWUT 22-2403-02	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer	\$1,975.00	1 / each	\$1,975.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2403-03	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer		1 / each	\$2,110.00
Product Code: Agency Notes:		Supplier Pro	oduct Code:	SMITH
OCWUT 22-2403-04	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 42x20, O.D First Offer	\$1,735.00		\$1,735.00
Product Code: Agency Notes:	Group ryseculor error energy rype autoparties also be equal as a subject to the energy of the energy		oduct Code:	
		Supplier No		
OCWUT 22-2403-05	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 48x20 - First Offer		1 / each	\$2,455.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2403-06	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 54x20 - First Offer	\$3,200.00	1 / each	\$3,200.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No		
Item #	Line Item	Unit Price	Qty/Unit	\$20,435.00 Total Price
OCWUT 22-2404-01	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 3x7.5, 1 inch cc tap, O.D. Range: 3.73 - 4.00 - First Offer		1 / each	\$67.80
Product Code: Agency Notes:		Supplier Pro	oduct Code:	
OCWUT 22-2404-02	Croup 2 Cortisp Dt Full Circle Gorde Pand Tapped Smith Plair 229 or Equal Gize Av12 E 2/4 inch or tap O.D. Pange 4.74 E 14 First Offer	Supplier No \$103.85	15 / each	\$1,557.75
Product Code:	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 3/4 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer		oduct Code:	
Agency Notes:		BLAIR Supplier No		
OCWUT 22-2404-03	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 1 inch cc tap, O.D. Range: 4.74 - 5.15 - First Offer		12 / each	\$1,246.20
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2404-04	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 2 inch cc tap, O.D. Range: 4.74 - 5.16 - First Offer	\$119.15	12 / each	\$1,429.80
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2404-05	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 3/4 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer		45 / each	\$5,231.25
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2404-06	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 1 inch cc tap, O.D. Range: 6.84 - 7.25 - First Offer	<u> </u>	30 / each	\$3,487.50
Product Code: Agency Notes:			oduct Code:	
OCWUT 22-2404-07	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range: 6.84 - 7.25 - First Offer			\$3,939.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2404-08	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range: 7.45 - 7.89 - First Offer		30 / each	\$4,065.00
Product Code: Agency Notes:			oduct Code:	
OCWUT 22-2404-09	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 3/4 inch cc tap, O.D. Range: 6.84 - 7.26 - First Offer	- ' '	10 / each	\$1,038.80
Product Code: Agency Notes:	9	Supplier Pro	oduct Code:	
OCWUT 22-2404-10	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 1 inch cc tap, O.D. Range: 6.84 - 7.27 - First Offer	Supplier No \$103.88	25 / each	\$2,597.00
Product Code: Agency Notes:	сточу z, эссиот в тип стес, этве вати таррев, этпитыан zэо от cqual, эге. ох гэ, т пил сс tap, о.в. капge. о.в4 - 7.27 - Fifst Offer	Supplier Pro	oduct Code:	
OCMUT 22 24 244	Constant Desire Desire Code Code Code Desire Desire Desire Desire Code Code Code Code Code Code Code Cod	Supplier No		#2 CEC 25
Product Code: Agency Notes:	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 2 inch cc tap, O.D. Range: 6.84 - 7.27 - First Offer		25 / each	\$3,656.25 SMITH
		Supplier No		
OCWUT 22-2404-12	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 1 inch cc tap, O.D. Range: 7.05 - 7.45 - First Offer		25 / each	\$3,310.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2404-13	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	\$134.30	15 / each	\$2,014.50
Product Code:			oduct Code:	SMITH
Agency Notes:		BLAIR Supplier No	otes:	

OCWUT 22-2404-14	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 1 inch cc tap, O.D. Range: 8.99 - 9.40 - First Offer	\$134.30	12 / each	\$1,611.60
Product Code:		Supplier Pro		
Agency Notes:		BLAIR		
OCWUT 22-2404-15	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 2 inch cc tap, O.D. Range: 8.99 - 9.40 - First Offer	Supplier No \$149.50	es: 8 / each	\$1,196.00
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier No		
OCWUT 22-2404-16	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 3/4 inch cc tap, O.D. Range: 8.99 - 9.41 - First Offer	\$155.75	8 / each	\$1,246.00
Product Code: Agency Notes:		Supplier Pro	duct Code:	SMITH
ragency research		Supplier No	es:	
OCWUT 22-2404-17	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 1 inch cc tap, O.D. Range: 8.99 - 9.42 - First Offer	\$155.75	8 / each	\$1,246.00
Product Code: Agency Notes:		Supplier Pro BLAIR	duct Code:	SMITH
		Supplier No		********
OCWUT 22-2404-18 Product Code:	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range: 8.99 - 9.42 - First Offer	\$170.90 Supplier Pro	8 / each	\$1,367.20 SMITH
Agency Notes:		BLAIR		
		Supplier No		\$40,307.65
Item#	ine Item	Unit Price		Total Price
OCWUT 22-2405-01	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 11.04 - 11.84 - First Offer	\$288.55	6 / each	\$1,731.30
Product Code: Agency Notes:		Supplier Pro	duct Code:	SMITH
		Supplier No		
OCWUT 22-2405-02 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	\$215.40 Supplier Pro	6 / each	\$1,292.40
Agency Notes:		BLAIR		SMITH
OCWUT 22-2405-03	Group 2 Section F. Full Circle Double Pand Tapped Smith Plair 220 or Equal: Circle 10:45, 2 inches top, O.D. Pagge 44, 75, 43,45, Einst Office	Supplier No		\$1,834.80
Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 11.75 - 12.15 - First Offer	\$305.80 Supplier Pro	6 / each duct Code:	
Agency Notes:		BLAIR Supplier No		
OCWUT 22-2405-04	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 13.10 - 13.50 - First Offer	\$314.00	es: 6 / each	\$1,884.00
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier No	es:	
OCWUT 22-2405-05	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer	\$314.00	6 / each	\$1,884.00
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		Supplier No	es:	
OCWUT 22-2405-06	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 13.40 - 13.80 - First Offer	\$331.00	6 / each	\$1,986.00
Product Code: Agency Notes:		Supplier Pro BLAIR	duct Code:	SMITH
		Supplier No		
OCWUT 22-2405-07 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12.5, 3/4 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer	\$266.85 Supplier Pro	6 / each	\$1,601.10 SMITH
Agency Notes:		BLAIR		S.VIII 1
OCWUT 22-2405-08	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12.5, 1 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer	\$266.85	es: 6 / each	\$1,601.10
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier No	es:	
OCWUT 22-2405-09	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12.5, 2 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer	\$284.25	6 / each	\$1,705.50
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		Supplier No	es:	
OCWUT 22-2405-10	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 3/4 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	\$268.95	6 / each	\$1,613.70
Product Code:	· · · · · · · · · · · · · · · · · · ·		duct Code:	SMITH
Agency Notes:		Supplier Pro		
		BLAIR Supplier No	es:	*****
OCWUT 22-2405-11	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 1 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	BLAIR Supplier No \$268.95	es: 6 / each	\$1,613.70 SMITH
	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 1 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR	es: 6 / each duct Code:	
OCWUT 22-2405-11 Product Code: Agency Notes:		BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier No	es: 6 / each duct Code:	SMITH
OCWUT 22-2405-11 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 1 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR	6 / each duct Code: tes: 6 / each	\$1,717.50
OCWUT 22-2405-11 Product Code: Agency Notes: OCWUT 22-2405-12	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier No \$286.25 Supplier Pro BLAIR	duct Code: 6 / each duct Code: 6 / each duct Code:	\$1,717.50
OCWUT 22-24-05-11 Product Code: Agency Notes: OCWUT 22-24-05-12 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier No \$286.25 Supplier Pro	duct Code: 6 / each duct Code: 6 / each duct Code:	\$1,717.50
OCWUT 22-24-05-11 Product Code: Agency Notes: OCWUT 22-24-05-12 Product Code: Agency Notes: OCWUT 22-24-05-13 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier No \$286.25 Supplier Pro BLAIR Supplier No \$178.95 Supplier Pro	duct Code: 6 / each duct Code: 6 / each duct Code: ess: 6 / each	\$1,717.50 \$MITH \$1,073.70
OCWUT 22-24-05-11 Product Code: Agency Notes: OCWUT 22-24-05-12 Product Code: Agency Notes: OCWUT 22-24-05-13	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier No \$286.25 Supplier Pro BLAIR Supplier No \$178.95	duct Code: 6 / each duct Code: 6 / each duct Code: 6 / each duct Code:	\$1,717.50 \$MITH \$1,073.70
OCWUT 22-24-05-11 Product Code: Agency Notes: OCWUT 22-24-05-12 Product Code: Agency Notes: OCWUT 22-24-05-13 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier No \$286.25 Supplier Pro BLAIR Supplier No \$178.95 Supplier Pro BLAIR	duct Code: 6 / each duct Code: 6 / each duct Code: 6 / each duct Code:	\$1,717.50 \$MITH \$1,073.70
OCWUT 22-24-05-11 Product Code: Agency Notes: OCWUT 22-24-05-12 Product Code: Agency Notes: OCWUT 22-24-05-13 Product Code: Agency Notes:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier Pro BLAIR Supplier No \$178.95 Supplier No \$178.95 Supplier No \$178.95 Supplier No \$178.95 Supplier No	duct Code: description duct Code: description duct Code: description duct Code: duct Code: duct Code: duct Code:	\$1,717.50 SMITH \$1,073.70 SMITH \$1,073.70
OCWUT 22-24-05-11 Product Code: Agency Notes: OCWUT 22-24-05-12 Product Code: Agency Notes: OCWUT 22-24-05-13 Product Code: Agency Notes: OCWUT 22-24-05-14 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro \$286.25 Supplier No \$286.25 Supplier No \$178.95 Supplier Pro \$LAIR Supplier No \$178.95 Supplier No \$178.95 Supplier No	duct Code: description duct Code: description duct Code: description duct Code: duct Code: duct Code: duct Code:	\$1,717.50 SMITH \$1,073.70 SMITH \$1,073.70
OCWUT 22-24-05-11 Product Code: Agency Notes: OCWUT 22-24-05-12 Product Code: Agency Notes: OCWUT 22-24-05-13 Product Code: Agency Notes: OCWUT 22-24-05-14 Product Code: Agency Notes:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 1 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 1 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	BLAIR Supplier No \$268.95 Supplier Pro BLAIR Supplier Pro BLAIR Supplier No \$178.95 Supplier No	duct Code: description of the code of the	\$1,717.50 \$1,717.50 \$MITH \$1,073.70 \$MITH \$1,073.70 \$MITH \$1,179.30

OCWUT 22-2405-16	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 3/4 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$163.90 6	/ each	\$983.40
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH
OCWUT 22-2405-17	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 1 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer		/ each	\$983.40
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH
OCWUT 22-2405-18	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$181.20 6		\$1,087.20
Product Code:		Supplier Produ	ct Code:	SMITH
Agency Notes:		BLAIR Supplier Notes		
OCWUT 22-2405-19	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 3/4 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer		/ each	\$598.32
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes	ct Code:	SMITH
OCWUT 22-2405-20	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 1 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer	\$149.58 4		\$598.32
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes	ct Code:	
OCWUT 22-2405-21	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 2 inch cc tap, O.D. Range: 4.95 - 5.35 - First Offer		/ each	\$411.00
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH
		L	ot Total:	\$28,453.44
Item#			-	Total Price
OCWUT 22-2406-01	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3/4x3, O.D. Range: 1.05 - First Offer		l / each	\$279.60
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		2MIIH
OCWUT 22-2406-02 Product Code: Agency Notes:		\$10.80 20 Supplier Produ BLAIR Supplier Notes		\$216.00 SMITH
OCWUT 22-2406-03	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer	\$12.10 14		\$169.40
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH
OCWUT 22-2406-04	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer		l / each	\$182.00
Product Code: Agency Notes:	·	Supplier Produ BLAIR Supplier Notes	ct Code:	
OCWUT 22-2406-05	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 - First Offer		/ each	\$128.64
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes	ct Code:	SMITH
OCWUT 22-2406-06	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 - First Offer		/ each	\$79.60
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH
OCWUT 22-2406-07	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 - First Offer	\$11.25 8		\$90.00
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH
			Lot Tota	I: \$1,145.24
	Line Item		-	Total Price
OCWUT 22-2407-01 Product Code: Agency Notes:		\$127.75 10 Supplier Produ BLAIR Supplier Notes		\$1,277.50 SMITH
OCWUT 22-2407-02	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 - First Offer		/ each	\$112.80
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes	ct Code:	
OCWUT 22-2407-03	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer	\$73.25 4		\$293.00
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes	ct Code:	
OCWUT 22-2407-04	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer	\$79.75) / each	\$797.50
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH
OCWUT 22-2407-05 Product Code: Agency Notes:		Supplier Produ BLAIR		
OCWUT 22-2407-06	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 8 inch, O.D. Range: 9.05 - 9.30 - First Offer	\$156.75 8		\$1,254.00
Product Code: Agency Notes:		Supplier Produ BLAIR Supplier Notes		SMITH

Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	тн
OCWUT 22-2407-08	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 12 inch, O.D. Range: 13.20 - 13.50 - First Offer		2,364.00
Product Code:		Supplier Product Code: SMI	
Agency Notes:	l de la companya de	BLAIR Supplier Notes:	
OCWUT 22-2407-09	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 16 inch, O.D. Range: 17.40 - 17.80 - First Offer	\$253.00 3 / each	\$759.00
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2407-10	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 18 inch, O.D. Range: 19.20 - 19.92 - First Offer	\$329.00 2 / each	\$658.00
Product Code: Agency Notes:		Supplier Product Code: SMI BLAIR	
OCWUT 22-2407-11	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 20 inch, O.D. Range: 21.60 - 22.06 - First Offer	Supplier Notes: \$359.95 2 / each	\$719.90
Product Code: Agency Notes:		Supplier Product Code: SMI BLAIR	
OCWUT 22-2407-12	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 24 inch, O.D. Range: 25.80 - 26.32 - First Offer	Supplier Notes: \$466.75 4 / each \$1	1,867.00
Product Code:		Supplier Product Code:	1,007.111
Agency Notes: OCWUT 22-2407-13		Supplier Notes:	1,664.60
Product Code:		\$832.30 2 / each \$1 Supplier Product Code: SMI	
Agency Notes:	l l	BLAIR Supplier Notes:	
OCWUT 22-2407-14	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 36 inch, O.D. Range: 37.96 - 38.71 - First Offer		\$962.35
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH _
OCWUT 22-2407-15		,	4,130.00
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2407-16	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 48 inch, O.D. Range: n/a - First Offer	\$5,010.00 1 / each \$5	5,010.00
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2407-17		···	6,593.00
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2407-18		···	5,010.00
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
		Lot Total: \$35	5,868.45
Item#	Line Item I	Unit Price Qty/Unit Tot	tal Price
OCWUT 22-2408-01	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 3/4 inch, O.D. Range: 2.35 - 2.56 - First Offer	\$13.12 12 / each	\$157.44
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2408-02	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 - First Offer		\$39.36
Product Code: Agency Notes:		Supplier Product Code: SMI BLAIR Supplier Notes:	
OCWUT 22-2408-03	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 - First Offer		\$58.08
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2408-04	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 - First Offer	<u> </u>	\$77.44
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2408-05	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 - First Offer		\$49.78
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2408-06	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 - First Offer		\$49.00
Product Code: Agency Notes:	l l	Supplier Product Code: SMI BLAIR Supplier Notes:	ITH
OCWUT 22-2408-07	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 - First Offer		\$343.00
Product Code: Agency Notes:		Supplier Product Code: SMI BLAIR Supplier Notes:	
OCWUT 22-2408-08	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 - First Offer	- · ·	\$63.68
Product Code: Agency Notes:		Supplier Product Code: SMI BLAIR	ITH
OCWUT 22-2408-09	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 - First Offer	\$32.13 2 / each	\$64.26

roduct Code: gency Notes:		Supplier Product Code: SMITH BLAIR
OCWUT 22-2408-10	Croup 2 Cartian Ht Daubla Strap Tapping Saddla CC Tap Smith Plair 212 or Equal Size 6 inch v 2/4 inch DD Danger 6.94, 7.60. Einst Office	Supplier Notes: \$27.91 150 / each \$4,186.50
roduct Code: gency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 - First Offer	Supplier Product Code: SMITH BLAIR
OCWUT 22-2408-11	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 - First Offer	Supplier Notes: \$27.91 54 / each \$1,507.14 Supplier Product Code: SMITH
Agency Notes:		BLAIR Supplier Notes:
OCWUT 22-2408-12 Product Code: Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 - First Offer	Supplier Product Code: SMITH BLAIR
OCWUT 22-2408-13	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84 - 7.63 - First Offer	\$32.81 6 / each \$196.86
roduct Code: gency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-14	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 10.10 - First Offer	···
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-15	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 1 inch, O.D. Range: 8.54 - 10.11 - First Offer	\$34.72 18 / each \$624.96
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-16	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 1.5 inch, O.D. Range: 8.54 - 10.12 - First Offer	
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-17	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 2 inch, O.D. Range: 8.54 - 10.13 - First Offer	
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-18 Product Code:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 3/4 inch, O.D. Range: 10.64 - 12.12 - First Offer	\$38.25 4 / each \$153.00
Agency Notes:		BLAIR Supplier Notes:
OCWUT 22-2408-19 Product Code:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 1 inch, O.D. Range: 10.64 - 12.13 - First Offer	\$38.25 2 / each \$76.50 Supplier Product Code: SMITH
Agency Notes:		BLAIR Supplier Notes:
OCWUT 22-2408-20 Product Code:	Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 10 inch x 1.5 inch, O.D. Range: 10.64 - 12.14 - First Offer	\$44.40 2 / each \$88.80 Supplier Product Code: SMITH
gency Notes:		BLAIR Supplier Notes:
OCWUT 22-2408-21 Product Code: Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 2 inch, O.D. Range: 10.64 - 12.15 - First Offer	Supplier Product Code: SMITH BLAIR
OCWUT 22-2408-22	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 3/4 inch, O.D. Range: 12.62 - 14.32 - First Offer	Supplier Notes: \$36.50
Product Code: Agency Notes:	G10up 5, Section 11. Double Strap Tapping Saddle, CC Tap, Smith-Ball 313 of Equal. Size. 12 Inch X 5/4 Inch, O.D. Nange. 12.02 - 14.52 - 1115t Offer	Supplier Product Code: SMITH BLAIR
OCWUT 22-2408-23	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 1 inch, O.D. Range: 12.62 - 14.33 - First Offer	\$36.50 6 / each \$219.00
Product Code: Agency Notes:	<u>.</u>	Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-24	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 1.5 inch, O.D. Range: 12.62 - 14.34 - First Offer	···
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-25	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 2 inch, O.D. Range: 12.62 - 14.35 - First Offer	
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-26	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 3/4 inch, O.D. Range: 14.73 - 15.65 - First Offer	
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-27	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 1 inch, O.D. Range: 14.73 - 15.66 - First Offer	
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-28	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 1.5 inch, O.D. Range: 14.73 - 15.67 - First Offer	
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes:
OCWUT 22-2408-29	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 2 inch, O.D. Range: 14.73 - 15.68 - First Offer	<u>'</u>
Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR

I		Supplier No	ntes:	
OCWUT 22-2408-30 Product Code:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 3/4 inch, O.D. Range: 17.40 - 18.88 - First Offer	\$89.80 Supplier Pr	2 / each oduct Code:	\$179.60 SMITH
Agency Notes:		BLAIR Supplier No	otes:	
OCWUT 22-2408-31	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 1 inch, O.D. Range: 17.40 - 18.89 - First Offer	\$89.80	2 / each	\$179.60
Product Code: Agency Notes:		BLAIR	oduct Code:	SMITH
OCIAN IT 22 24 00 22	Cours 2 Control II Double Cours Transing Coldin. CCT on Coldin District 242 on Front Cloud African African ADD Double 47 40 40000 Flore Office	Supplier No		#402.40
Product Code:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 1.5 inch, O.D. Range: 17.40 - 18.90 - First Offer	\$91.05 Supplier Pr	2 / each oduct Code:	\$182.10 SMITH
Agency Notes:		BLAIR Supplier No		
OCWUT 22-2408-33	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 2 inch, O.D. Range: 17.40 - 18.91 - First Offer	\$89.25	2 / each	\$178.50
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code: otes:	SMITH
OCWUT 22-2408-34	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 18 inch x 1 inch - First Offer	\$112.85	2 / each	\$225.70
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2408-35	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 18 inch x 2 inch - First Offer	\$112.00	2 / each	\$224.00
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2408-36	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch - First Offer	\$131.15	2 / each	\$262.30
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2408-37	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch - First Offer		2 / each	\$265.80
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2408-38	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch - First Offer	\$144.80	2 / each	\$289.60
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2408-39	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch × 2 inch - First Offer	\$220.00	2 / each	\$440.00
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2408-40	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 30 inch x 1 inch - First Offer	\$235.80	2 / each	\$471.60
Product Code: Agency Notes:			oduct Code:	
OCWUT 22-2408-41	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 30 inch x 2 inch - First Offer	\$220.00	2 / each	\$440.00
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2408-42	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 36 inch x 1 inch - First Offer	\$235.80	2 / each	\$471.60
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2408-43	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 36 inch x 2 inch - First Offer	\$236.95	2 / each	\$473.90
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH
OCWUT 22-2408-44	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 42 inch x 1 inch - First Offer	\$358.00	2 / each	\$716.00
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code: : otes:	SMITH
OCWUT 22-2408-45	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 42 inch x 2 inch - First Offer	\$362.15	2 / each	\$724.30
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH
ļ		l		\$20,540.04
Item #	Line Item Crown 4 Costion Is Coming Rocks Conith Plain on Found Cine 10 inch through 40 inch. First Office	Unit Price	-	Total Price
Product Code: Agency Notes:	Group 4, Section I: Service Body, Smith-Blair or Equal: Size: 18 inch through 48 inch - First Offer	\$950.00 Supplier Pr BLAIR	6 / each	\$5,700.00 SMITH
		Supplier No		
Itom #	Ling Item	Unit Del		: \$5,700.00
OCWUT 22-2410-01	Line Item Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 3/4 inch cc insert - First Offer	Unit Price \$36.15	Qty/Unit 2 / each	Total Price \$72.30
Product Code: Agency Notes:	агоор ¬, эссион ;, таррей insert, bucule iron, дотivi-ээо, Grade oo bullanv-Gasket, size. 5/4 irun Ct insert - First Offer		oduct Code:	
OCWUT 22-2410-02	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 1 inch cc insert - First Offer	\$36.15	2 / each	\$72.30
Product Code: Agency Notes:		Supplier Pr BLAIR Supplier No	oduct Code:	SMITH

OCWUT 22-2410-03	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 1.5 inch cc insert - First Offer	\$61.45	2 / each	\$122.90
Product Code: Agency Notes:		Supplier Pro BLAIR	duct Code:	
OCWIT22 24 40 24		Supplier Not		¢122.00
OCWUT 22-2410-04 Product Code: Agency Notes:		\$61.45 Supplier Pro BLAIR Supplier Not		\$122.90 SMITH
OCWUT 22-2410-05	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: Hemispherical washer; ductile iron, ASTM-536 - First Offer	\$6.57	16 / each	\$105.12
Product Code:		Supplier Pro		
Agency Notes:		BLAIR Supplier Not		tal: \$495.52
Item#	Line Item	Unit Price		Total Price
OCWUT 22-2411-01	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 18 inch, O.D. Range: 19.25 - 20.00 - First Offer	\$41.00	6 / each	\$246.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier Not MINUS 41%		SMITH
OCWUT 22-2411-02	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 20 inch, O.D. Range: 23.75 - 24.50 - First Offer	\$41.00	6 / each	\$246.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier Not MINUS 41%		SMITH
OCWUT 22-2411-03	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer	\$41.00	6 / each	\$246.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier Not		
OCWUT 22-2411-04 Product Code: Agency Notes:		\$41.00 Supplier Pro BLAIR Supplier Not MINUS 41%		\$123.00 SMITH
OCWUT 22-2411-05 Product Code: Agency Notes:		\$41.00 Supplier Pro BLAIR Supplier Not		
OCWUT 22-2411-06	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 - First Offer	\$41.00	3 / each	\$123.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier Not	duct Code:	SMITH
OCWUT 22-2411-07	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 - First Offer	\$41.00	3 / each	\$123.00
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier No		
	Luc a			l: \$1,230.00
OCWUT 22-2412-01	Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840 - First Offer	Unit Price \$16.48	Qty/Unit 2 / each	Total Price \$32.96
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier Not	oduct Code: tes:	SMITH
Item#	Line Item	Unit Price		otal: \$32.96 Total Price
OCWUT 22-2413-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 412: Size: 3/4 inch x 4.5 inch, O.D. Range: 1.050 - First Offer	\$13.99	2 / each	\$27.98
Product Code: Agency Notes:		Supplier Pro BLAIR Supplier Not		SMITH
				otal: \$27.98
Item #		Unit Price		Total Price
OCWUT 22-2414-01 Product Code: Agency Notes:		\$16.48 Supplier Pro BLAIR Supplier Not		\$98.88 SMITH
				otal: \$98.88
	Line Item	Unit Price		Total Price
	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 414: Size: 1.25 inch x 5 inch, O.D. Range: 1.660 - First Offer	\$21.05	12 / each	\$252.60
OCWUT 22-2415-01		Cupplian De-	duce Cade	CMITH
OCWUT 22-2415-01 Product Code:		Supplier Pro BLAIR Supplier Not	tes:	
OCWUT 22-2415-01 Product Code: Agency Notes:		BLAIR Supplier Not	tes: Lot To	tal: \$252.60
OCWUT 22-2415-01 Product Code: Agency Notes: Item #	Line Item	BLAIR Supplier Not	tes: Lot To Qty/Unit	tal: \$252.60
Item # OCWUT 22-2415-01 Product Code: Agency Notes: Item # OCWUT 22-2416-01 Product Code: Agency Notes:	Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 415: Size: 1.5 inch x 5 inch, O.D. Range: 1.900 - First Offer	Unit Price \$18.79 Supplier Pro	Lot To Qty/Unit 18 / each oduct Code:	tal: \$252.60 Total Price \$338.22
OCWUT 22-2415-01 Product Code: Agency Notes: Item # OCWUT 22-2416-01 Product Code:	Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 415: Size: 1.5 inch x 5 inch, O.D. Range: 1.900 - First Offer	BLAIR Supplier Not Unit Price \$18.79 Supplier Pro	Lot Too Qty/Unit 18 / each oduct Code: tes:	tal: \$252.60 Total Price \$338.22

OCWUT 22-2417-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 416: Size: 2 inch x 5 inch, O.D. Range: 2.375 - First Offer	\$21.41	12 / each	\$256.92
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		BLAIR Supplier Not	tes:	
				t al: \$256.92
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2418-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 417: Size: 2.5 inch x 5 inch, O.D. Range: 2.875 - First Offer	\$57.35	3 / each	\$172.05
Product Code: Agency Notes:		Supplier Pro BLAIR	duct Code:	SMITH
Agency Notes.		Supplier Not	tes:	
			Lot To	al: \$172.05
Item #	Line Item	Unit Price		Total Price
OCWUT 22-2419-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 418: Size: 3 inch x 5 inch, O.D. Range: 3.5 - First Offer	\$66.77	4 / each	\$267.08
Product Code: Agency Notes:		Supplier Pro BLAIR	duct code.	SIVII I II
		Supplier Not		
				t al: \$267.08
OCWUT 22-2420-01	Line Item Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 4 inch, Catalog #: 1504 - First Offer	Unit Price \$66.65	1 / each	Total Price \$66.65
Product Code:	Group 5, Section Nr. Serrated Fitting Retainer for Ductile from Pipe, EBAA 1500 of Equal, Size. 4 filen, Catalog #. 1504 - Pilst Offer	Supplier Pro		
Agency Notes:		Supplier Not		LD/ V \
OCWUT 22-2420-02	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 6 inch, Catalog #: 1506 - First Offer	\$82.85	1 / each	\$82.85
Product Code:		Supplier Pro		EBAA
Agency Notes: OCWUT 22-2420-03	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 8 inch, Catalog #: 1508 - First Offer	Supplier Not \$121.65	1 / each	\$121.65
Product Code:	2. 12p -, 2. 2. 2. 1000 - 1134 OHE	Supplier Pro		
Agency Notes:		Supplier Not	tes:	
OCWUT 22-2420-04	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 10 inch, Catalog #: 1510 - First Offer	\$206.85	1 / each	\$206.85
Product Code: Agency Notes:		Supplier Pro Supplier Not		EBAA
OCWUT 22-2420-05	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 12 inch, Catalog #: 1512 - First Offer	\$222.25	1 / each	\$222.25
Product Code:		Supplier Pro		EBAA
Agency Notes:		Supplier Not		
				t al: \$700.25
OCWUT 22-2421-01	Line Item Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 4 inch, O.D. Range: 4.74 - 5.00 - First Offer	Unit Price \$1,079.00	1 / each	Total Price \$1,079.00
Product Code:	Group 5, Section N. Stalliess Steel Line Shop Fittings, JCM 440 of Equal. Size. 4 inch, O.D. Range. 4.74 - 5.00 - Filst Offer	Supplier Pro		
Agency Notes:		Supplier Not		,
OCWUT 22-2421-02	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 6 inch, O.D. Range: 6.84 - 7.10 - First Offer	\$1,386.00	1 / each	\$1,386.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		JCM
OCWUT 22-2421-03	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 8 inch, O.D. Range: 8.98 - 9.30 - First Offer	\$1,892.35	1 / each	\$1,892.35
Product Code:		Supplier Pro	duct Code:	JCM
Agency Notes:		Supplier Not	tes:	
OCWUT 22-2421-04	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 10 inch, O.D. Range: 11.03 - 11.40 - First Offer		1 / each	\$3,415.95
Product Code: Agency Notes:		Supplier Pro Supplier Not		JCM
OCWUT 22-2421-05	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 12 inch, O.D. Range: 13.12 - 13.50 - First Offer	\$3,805.00	1 / each	\$3,805.00
Product Code:		Supplier Pro		JCM
Agency Notes:		Supplier Not		#11 F70 20
Item #	Line Item	Unit Price		\$11,578.30 Total Price
OCWUT 22-2422-01	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 4 inch, Catalog #: 440-4HF - First Offer	\$600.00	1 / each	\$600.00
Product Code:		Supplier Pro	duct Code:	
Agency Notes:		Supplier Not		
OCWUT 22-2422-02	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 6 inch, Catalog #: 440-6HF - First Offer		1 / each	\$600.00
Product Code: Agency Notes:		Supplier Pro Supplier Not		JCIVI
OCWUT 22-2422-03	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 8 inch, Catalog #: 440-8HF - First Offer	\$665.00	1 / each	\$665.00
Product Code:		Supplier Pro		JCM
Agency Notes:		Supplier Not		
Item #	Line Item	Unit Price		l: \$1,865.00 Total Price
OCWUT 22-2423-01	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 1: All replaceable components/attachments - First Offer	\$41.00	1 / each	\$41.00
Product Code:	The state of the s	Supplier Pro		
Agency Notes:		BLAIR		
		Supplier Not	tes: MINUS	+1%
OCWUT 22-2423-02	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 2: All replaceable components/attachments - First Offer	\$41.00	1 / each	\$41.00
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		BLAIR Supplier Not	tes: MINITIS	41%
		Supplier 1401	WIII NOS 4	
OCWUT 22-2423-03	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 3: All replaceable components/attachments - First Offer	\$41.00	1 / each	\$41.00
Product Code:		Supplier Pro	duct Code:	SMITH
Agency Notes:		BLAIR Supplier Not	tes: MINUS 4	41%
OCWUT 22-2423-04	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 4: All replaceable components/attachments - First Offer	\$41.00	1 / each	\$41.00

Product Code: Agency Notes:		Supplier Product Code: SMITH BLAIR Supplier Notes: MINUS 41%		
OCWUT 22-2423-05	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 5: All replaceable components/attachments - First Offer	\$41.00	1 / each	\$41.00
Product Code: Agency Notes:		BLAIR	oduct Code: S	
			Lot Tot	al: \$205.00

POWERSEAL PIPEL	INE PRODUCTS			\$287,758.4	2 (95/190 items)
Bid Contact DAVID (C GALLITON on@powerseal.com	Address 701 PLEASANT VIEW DRIVE WICHITA FALLS, TX 76306			
	-800-0932				
Agency Notes:			Supplier Notes:		
Item#	Line Item		Unit Price	Qty/Unit	Total Price
OCWUT 22-2401-01 Product Code:		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 2x7.5, O.D. Range: 2.35 - 2.63 - First Offer	\$44.09 Supplier Product	200 / each Code: 3121020	\$8,818.00 080AA-SB
Agency Notes: OCWUT 22-2401-02		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 2.5x10, O.D. Range: 2.70 - 3.00 - First Offer	Supplier Notes: \$56.86	4 / each	\$227.44
Product Code: Agency Notes:	l	Group 1, Section A. Full Circle, Single Buria, Sinia Fibrair 2200 Equal. Size. 2.3A10, 6.8. Runge. 2.70 -3.00 -1135 Onc.	Supplier Product Supplier Notes:		
OCWUT 22-2401-03		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 3x10, O.D. Range: 3.46 - 3.70 - First Offer	- · ·	4 / each	\$251.44
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312103B	100AA-SB
OCWUT 22-2401-04		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 3x10, O.D. Range: 3.73 - 4.00 - First Offer	\$62.86	40 / each	\$2,514.40
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312103C	100AA-SB
OCWUT 22-2401-05		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.74 - 5.14 - First Offer		100 / each	\$6,898.00
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312104B	100AA-SB
OCWUT 22-2401-06		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.45 - 4.73 - First Offer		4 / each	\$275.92
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312104A	100AA-SB
OCWUT 22-2401-07 Product Code:		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.95 - 5.35 - First Offer	\$68.98 Supplier Product	4 / each	\$275.92 100AA-SB
Agency Notes:			Supplier Notes:		.100/44-36
OCWUT 22-2401-08 Product Code:		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 5x7.5, O.D. Range: 5.22 - 5.62 - First Offer	\$60.27 Supplier Product	4 / each	\$241.08
Agency Notes:			Supplier Notes:	Code: 312104L	JUOUAA-SD
OCWUT 22-2401-09		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 5x10, O.D. Range: 5.22 - 5.62 - First Offer		4 / each	\$275.92
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312104L)100AA-SB
OCWUT 22-2401-10		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x10, O.D. Range: 6.84 - 7.24 - First Offer		450 / each	\$35,131.50
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312106C	.TUUAA-SB
OCWUT 22-2401-11 Product Code:		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x12.5, O.D. Range: 6.87 - 7.64 - First Offer	\$92.46 Supplier Product	450 / each	\$41,607.00
Agency Notes:			Supplier Notes:	Code. 312106C	.120/44-36
OCWUT 22-2401-12		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 6.84 - 7.24 - First Offer		210 / each	\$22,806.00
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 3121060	150AA-SB
OCWUT 22-2401-13		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 7.05 - 7.45 - First Offer	\$108.60	8 / each	\$868.80
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312106D	0160AA-SB
OCWUT 22-2401-14		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 7.45 - 7.85 - First Offer	\$108.60	8 / each	\$868.80
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312106E	150AA-SB
OCWUT 22-2401-15		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x20, O.D. Range: 6.84 - 7.24 - First Offer		35 / each	\$5,177.90
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 3121060	200AA-SB
OCWUT 22-2401-16		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x20, O.D. Range: 7.24 - 7.45 - First Offer	\$147.94	35 / each	\$5,177.90
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312106D)200AA-SB
OCWUT 22-2401-17		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x10, O.D. Range: 8.99 - 9.39 - First Offer	\$89.93	80 / each	\$7,194.40
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 3121080	100AA-SB
OCWUT 22-2401-18		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 8.99 - 9.39 - First Offer	1	75 / each	\$9,626.25
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312108C	150AA-SB
OCWUT 22-2401-19		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 9.27 - 9.67 - First Offer		8 / each	\$1,026.80
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312108D)150AA-SB
OCWUT 22-2401-20		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 9.70 - 10.10 - First Offer		4 / each	\$568.76
Product Code: Agency Notes:			Supplier Product Supplier Notes:	Code: 312110A	150AA-SB
OCWUT 22-2401-21		Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x20, O.D. Range: 8.99 - 9.39 - First Offer	· · ·	15 / each	\$2,559.15
		·			

Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code: 3121	
OCWUT 22-2401-22 Product Code: Agency Notes:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x10, O.D. Range: 11.04 - 11.44 - First Offer	\$97.93 Supplier Product (Supplier Notes:	10 / each Code: 3121	\$979.30
OCWUT 22-2401-23	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x15, O.D. Range: 11.04 - 11.44 - First Offer	\$142.19	15 / each	\$2,132.85
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code: 3121	
OCWUT 22-2401-24	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x30, O.D. Range: 11.04 - 11.44 - First Offer	\$285.58	15 / each	\$4,283.70
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code: 3121	
OCWUT 22-2401-25	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x20, O.D. Range: 11.04 - 11.44 - First Offer	\$176.30	15 / each	\$2,644.50
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
OCWUT 22-2401-26	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.10 - 13.50 - First Offer	\$159.44	25 / each	\$3,986.00
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
OCWUT 22-2401-27	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.70 - 14.10 - First Offer	\$159.44	4 / each	\$637.76
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
OCWUT 22-2401-28	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.40 - 13.80 - First Offer	\$159.44	8 / each	\$1,275.52
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
OCWUT 22-2401-29	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.65 - 14.45 - First Offer	\$159.44	8 / each	\$1,275.52
Product Code: Agency Notes:		Supplier Product (Supplier Notes:		
OCWUT 22-2401-30 Product Code:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x20, O.D. Range: 13.10 - 13.50 - First Offer	\$215.94	15 / each	\$3,239.10
Agency Notes:		Supplier Product (Supplier Notes:	Lode:	
OCWUT 22-2401-31	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x30, O.D. Range: 13.10 - 13.50 - First Offer	\$312.18	15 / each	\$4,682.70
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
			Lot	: Total: \$177,528.33
Item # OCWUT 22-2402-01	Line Item Crave 1. Contine De Full Circle Development Contine Division 200 on Found Circuit Circuit Circuit 17.00 First Office	Unit Price \$413.82	Qty/Unit 10 / each	Total Price
Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x20, O.D. Range: 17.15 - 17.90 - First Offer	Supplier Product		\$4,138.20
Agency Notes:		Supplier Notes:		
OCWUT 22-2402-02 Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer	\$595.82 Supplier Product (10 / each	\$5,958.20
Agency Notes: OCWUT 22-2402-03	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer	Supplier Notes: \$456.09	10 / each	\$4,560.90
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
OCWUT 22-2402-04	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer	\$456.09	10 / each	\$4,560.90
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Lode:	
OCWUT 22-2402-05	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer	\$275.38	10 / each	\$2,753.80
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Loae:	
				ot Total: \$21,972.00
OCWUT 22-2403-01	Line Item Group 1 Section C: Full Circle Triple Pand Smith Plair 239 or Equal: Size: 24v20, O.D. Panger 25, 70, 26,90. First Offer	Unit Price \$599.49	Qty/Unit 8 / each	Total Price
Product Code:	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer	Supplier Product		\$4,795.92
Agency Notes:	Control Continue Cityll Challe Table David Control Distriction and Edition 20 and 20 a	Supplier Notes:	1 / cl-	#0.40.0:
OCWUT 22-2403-02 Product Code:	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer	\$948.31 Supplier Product	1 / each	\$948.31
Agency Notes:	County County Coulded by the Date of Division of the County Count	Supplier Notes:		#4 000 0 :
OCWUT 22-2403-03 Product Code:	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer	\$1,298.84 Supplier Product	1 / each	\$1,298.84
Agency Notes:		Supplier Notes:		
OCWUT 22-2403-04 Product Code:	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 42x20, O.D First Offer	\$679.40 Supplier Product	1 / each	\$679.40
Agency Notes:		Supplier Notes:		
OCWUT 22-2403-05 Product Code:	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 48x20 - First Offer	\$1,161.29 Supplier Product	1 / each	\$1,161.29
Agency Notes:	Control Control Civil Civil Titals Park Control District Control Contr	Supplier Notes:		#4 4 6 4 3 2
OCWUT 22-2403-06 Product Code:	Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 54x20 - First Offer	\$1,161.29 Supplier Product	1 / each Code:	\$1,161.29
Agency Notes:		Supplier Notes:		ot Total: \$10,045.05
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2404-01	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 3x7.5, 1 inch cc tap, O.D. Range: 3.73 - 4.00 - First Offer	\$68.15	1 / each	\$68.15
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Lode:	
OCWUT 22-2404-02	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 3/4 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer	\$93.78	15 / each	\$1,406.70
Product Code:				
Agency Notes:		Supplier Product (Supplier Notes:	Code:	
	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 1 inch cc tap, O.D. Range: 4.74 - 5.15 - First Offer	Supplier Product (Supplier Notes: \$93.78	Code: 12 / each	\$1,125.36

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-04-04 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 2 inch cc tap, O.D. Range	
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
OCWUT 22-24–04-05 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 3/4 inch cc tap, O.D. Range Product Code:	: 6.84 - 7.24 - First Offer \$108.15 45 / each \$4,866.75 Supplier Product Code:
Agency Notes:	Supplier Notes:
OCWUT 22-24-04-06 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 1 inch cc tap, O.D. Range	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-04-07 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range	
Product Code:	Supplier Product Code:
Agency Notes: OCWUT 22-24–04-08 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range	Supplier Notes: : 7.45 - 7.89 - First Offer \$119.57 30 / each \$3,587.10
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
OCWUT 22-24–04-09 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 3/4 inch cc tap, O.D. Range Product Code:	: 6.84 - 7.26 - First Offer \$122.46 10 / each \$1,224.60 Supplier Product Code:
Agency Notes:	Supplier Notes:
OCWUT 22-24-04-10 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 1 inch cc tap, O.D. Range	: 6.84 - 7.27 - First Offer \$122.46 25 / each \$3,061.50
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-04-11 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 2 inch cc tap, O.D. Range	
Product Code:	Supplier Product Code:
Agency Notes: OCWUT 22-24-04-12 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 1 inch cc tap, O.D. Range	Supplier Notes: : 7.05 - 7.45 - First Offer \$122.22 25 / each \$3,055.50
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
OCWUT 22-24-04-13 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-04-14 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 1 inch cc tap, O.D. Range	: 8.99 - 9.40 - First Offer \$119.50 12 / each \$1,434.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-04-15 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 2 inch cc tap, O.D. Range	
Product Code:	Supplier Product Code:
Agency Notes: OCWUT 22-2404-16 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 3/4 inch cc tap, O.D. Range	Supplier Notes: : 8.99 - 9.41 - First Offer \$136.67 8 / each \$1,093.36
Product Code:	Supplier Product Code:
Agency Notes:	
	Supplier Notes:
OCWUT 22-24–04-17 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 1 inch cc tap, O.D. Range Product Code:	: 8.99 - 9.42 - First Offer \$136.67 8 / each \$1,093.36
OCWUT 22-24-04-17 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 1 inch cc tap, O.D. Range Product Code: Agency Notes:	
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range	: 8.99 - 9.42 - First Offer \$136.67 8 / each \$1,093.36 Supplier Product Code: Supplier Notes: : 8.99 - 9.42 - First Offer \$151.28 8 / each \$1,210.24
Product Code: Agency Notes:	: 8.99 - 9.42 - First Offer \$136.67 8 / each \$1,093.36 Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code:	8.99 - 9.42 - First Offer \$136.67 8 / each \$1,093.36 Supplier Product Code: Supplier Notes: 8.99 - 9.42 - First Offer \$151.28 8 / each \$1,210.24 Supplier Product Code:
Product Code: Agency Notes: OCWUT 22-24-04-18	## 136.67 8 / each \$1,093.36
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1	*** s.99 - 9.42 - First Offer *** s136.67 ** 8 / each *** s1,093.36 ** *** Supplier Product Code: Supplier Notes: ** *** 8.99 - 9.42 - First Offer ** s151.28 ** 8 / each *** s1,210.24 ** *** Supplier Product Code: Supplier Notes: ** *** Lot Total: \$37,064.12 ** *** Unit Price *** Qty/Unit *** Total Price *** s1.04 - 11.84 - First Offer *** s244.23 ** 6 / each *** s1,465.38 ***
Product Code: Agency Notes: OCWUT 22-24-04-18	## 136.67 8 / each \$1,093.36
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1	*** s.99 - 9.42 - First Offer *** s136.67
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	*** 8,99 - 9.42 - First Offer *** \$136.67
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code:	*** s.99 - 9.42 - First Offer *** s136.67
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code:	*** s.99 - 9.42 - First Offer *** s136.67
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1	## 136.67
Product Code: Agency Notes: OCWUT 22-24–04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24–05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	### 136.67
Product Code: Agency Notes: OCWUT 22-24–04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24–05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	## 136.67
Product Code: Agency Notes: OCWUT 22-24–04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24–05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	### 136.67
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	*** s.99 - 9.42 - First Offer *** s.99 - 9.42 - First Offer *** supplier Product Code: Supplier Notes: *** 8.99 - 9.42 - First Offer *** s.99 - 9.42 - Firs
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1	### Supplier Product Code: ### Supplier Product
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	*** s.99 - 9.42 - First Offer *** s.99 - 9.42 - First Offer *** supplier Product Code: Supplier Notes: *** 8.99 - 9.42 - First Offer *** s.99 - 9.42 - Firs
Product Code: Agency Notes: OCWUT 22-24–04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24–05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24–05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	## 136.67
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	### Supplier Product Code: ### Supplier Product
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	### Supplier Product Code: ### Supplier Product
Product Code: Agency Notes: OCWUT 22-24—04-18	Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: S
Product Code: Agency Notes: OCWUT 22-24-09-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-07 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-08 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-08 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-08 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: Item # Line Item Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-07 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-08 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-09 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-09 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Co	Supplier Product Code: Supplier Notes:
Product Code: Agency Notes: OCWUT 22-24-04-18 Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range Product Code: Agency Notes: Item # Line Item OCWUT 22-24-05-01 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-02 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-03 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-04 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-05 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-06 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 3/4 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-08 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes: OCWUT 22-24-05-08 Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12, 5, 1 inch cc tap, O.D. Range: 1 Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:

A Notes	1	C		
Agency Notes: OCWUT 22-2405-11	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 1 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	Supplier Notes: \$135.81	6 / each	\$814.86
Product Code: Agency Notes:		Supplier Product Supplier Notes:		75.105
OCWUT 22-2405-12	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	\$212.33	6 / each	\$1,273.98
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2405-13	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	\$187.04	6 / each	\$1,122.24
Product Code:		Supplier Product	Code:	
Agency Notes:		Supplier Notes: \$187.04	Class	#4 422 24
OCWUT 22-2405-14 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 1 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	Supplier Product	6 / each	\$1,122.24
Agency Notes:		Supplier Notes:		
OCWUT 22-2405-15	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 2 inch cc tap, O.D. Range: 9.27 - 9.67 - First Offer	\$201.67	6 / each	\$1,210.02
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2405-16	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 3/4 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$178.65	6 / each	\$1,071.90
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2405-17	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 1 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$178.65	6 / each	\$1,071.90
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2405-18	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$199.69	6 / each	\$1,198.14
Product Code:		Supplier Product	Code:	
Agency Notes: OCWUT 22-2405-19	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 3/4 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer	Supplier Notes: \$159.65	4 / each	\$638.60
Product Code:	· · · · · · · · · · · · · · · · · · ·	Supplier Product		¥030.00
Agency Notes:		Supplier Notes:		
OCWUT 22-2405-20 Product Code: Agency Notes:		\$159.65 Supplier Product Supplier Notes:	4 / each Code:	\$638.60
OCWUT 22-2405-21	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 2 inch cc tap, O.D. Range: 4.95 - 5.35 - First Offer	\$177.42	4 / each	\$709.68
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
				ot Total: \$24,835.60
OCWUT 22-2406-01	Line Item Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3/4x3, O.D. Range: 1.05 - First Offer	Unit Price \$0.00	Qty/Unit 24 / each	Total Price \$0.00
Product Code: Agency Notes:	<u>-</u>	Supplier Product Supplier Notes:		\$0.00
OCWUT 22-2406-02	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1x3, O.D. Range: 1.32 - First Offer	\$0.00	20 / each	\$0.00
Product Code:		Supplier Product	Code:	
Agency Notes:			code.	
Agency Notes: OCWUT 22-2406-03	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer	Supplier Notes: \$0.00	14 / each	\$0.00
OCWUT 22-2406-03 Product Code:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer	\$0.00 Supplier Product	14 / each	\$0.00
OCWUT 22-2406-03 Product Code: Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer	\$0.00 Supplier Product Supplier Notes:	14 / each Code:	
OCWUT 22-2406-03 Product Code: Agency Notes: OCWUT 22-2406-04	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer	\$0.00 Supplier Product Supplier Notes: \$0.00	14 / each Code:	\$0.00
OCWUT 22-2406-03 Product Code: Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer	\$0.00 Supplier Product Supplier Notes:	14 / each Code:	
OCWUT 22-2406-03 Product Code: Agency Notes: OCWUT 22-2406-04 Product Code:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer	\$0.00 Supplier Product Supplier Notes: \$0.00 Supplier Notes: \$0.00 Supplier Product	14 / each Code:	
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38	Supplier Notes: \$0.00 Supplier Product Supplier Notes: \$0.00 Supplier Product Supplier Notes: Supplier Product Supplier Product	14 / each Code: 14 / each Code:	\$0.00
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38	Supplier Notes: \$0.00 Supplier Product Supplier Notes: \$0.00 Supplier Product Supplier Notes:	14 / each Code: 14 / each Code:	\$0.00
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3	Supplier Notes: \$0.00 Supplier Product Supplier Notes: \$0.00 Supplier Product Supplier Notes: Supplier Product Supplier Product	14 / each Code: 14 / each Code: Code:	\$0.00 No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3	Supplier Notes: \$0.00 Supplier Product Supplier Notes: \$0.00 Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Notes:	14 / each Code: 14 / each Code: Code: Code:	\$0.00 No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3	Supplier Notes: \$0.00 Supplier Product Supplier Notes: \$0.00 Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product	14 / each Code: 14 / each Code: Code: Code:	\$0.00 No Bids No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product	14 / each Code: 14 / each Code: Code: Code:	\$0.00 No Bids No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product	14 / each Code: 14 / each Code: Code: Code:	\$0.00 No Bids No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Notes: Unit Price	14 / each Code: 14 / each Code: Code: Code: Code:	\$0.00 No Bids No Bids No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5	Supplier Notes: \$0.00 Supplier Product Supplier Notes: Supplier Notes: Supplier Notes: Unit Price Supplier Product	14 / each Code: 14 / each Code: Code: Code: Code:	No Bids No Bids No Bids Lot Total: \$0.00 Total Price
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Notes: Unit Price	14 / each Code: 14 / each Code: Code: Code: Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes:	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code:	\$0.00 No Bids No Bids Lot Total: \$0.00 Total Price No Bids
OCWUT 22-24–06-03 Product Code: Agency Notes: OCWUT 22-24–06-04 Product Code: Agency Notes: OCWUT 22-24–06-05 Agency Notes: OCWUT 22-24–06-06 Agency Notes: OCWUT 22-24–06-07 Agency Notes: Item # OCWUT 22-24–07-01 Agency Notes: OCWUT 22-24–07-01 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes:	14 / each Code: 14 / each Code: Code: Code: Code: Code: Code: Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Notes: Unit Price Supplier Product Supplier Notes: \$1	14 / each Code: 14 / each Code: Code: Code: Code: Code: Qty/Unit Code: 4 / each	\$0.00 No Bids No Bids Lot Total: \$0.00 Total Price No Bids
OCWUT 22-24–06-03 Product Code: Agency Notes: OCWUT 22-24–06-04 Product Code: Agency Notes: OCWUT 22-24–06-05 Agency Notes: OCWUT 22-24–06-06 Agency Notes: OCWUT 22-24–06-07 Agency Notes: Item # OCWUT 22-24–07-01 Agency Notes: OCWUT 22-24–07-01 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes:	14 / each Code: 14 / each Code: Code: Code: Code: Code: Qty/Unit Code: 4 / each	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 1.60 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.53, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes: \$100	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-03 Product Code: Agency Notes: OCWUT 22-24-07-04 Product Code:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes: \$100 Supplier Product Supplier Product Supplier Notes: \$200 Supplier Product Supplier Notes: \$400 Supplier Product Supplier Product Supplier Notes: \$4122.35 Supplier Product	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-03 Product Code: Agency Notes: OCWUT 22-24-07-04	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes: \$100	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids No Bids
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-03 Product Code: Agency Notes: OCWUT 22-24-07-04 Product Code: Agency Notes: OCWUT 22-24-07-05 Product Code: OCWUT 22-24-07-05 Product Code:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.74 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 6 inch, O.D. Range: 6.90 - 7.10 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Unit Price Supplier Notes: \$86.09 Supplier Notes: \$122.35 Supplier Product Supplier Notes: \$122.35 Supplier Product Supplier Notes: \$161.72	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code: 10 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids \$344.36
OCWUT 22-24–06-03 Product Code: Agency Notes: OCWUT 22-24–06-04 Product Code: Agency Notes: OCWUT 22-24–06-05 Agency Notes: OCWUT 22-24–06-06 Agency Notes: OCWUT 22-24–06-07 Agency Notes: Item # OCWUT 22-24–07-01 Agency Notes: OCWUT 22-24–07-02 Agency Notes: OCWUT 22-24–07-02 Agency Notes: OCWUT 22-24–07-02 Agency Notes: OCWUT 22-24–07-03 Product Code: Agency Notes: OCWUT 22-24–07-04 Product Code: Agency Notes: OCWUT 22-24–07-05 Product Code: Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 6 inch, O.D. Range: 6.90 - 7.10 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Unit Price Supplier Notes: Supplier Notes: \$86.09 Supplier Notes: \$122.35 Supplier Product Supplier Notes: \$112.35 Supplier Product Supplier Notes: \$122.35 Supplier Product Supplier Notes: \$161.72 Supplier Product Supplier Product	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code: 10 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids \$1,223.50
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-07 Agency Notes: OCWUT 22-24-06-07 Agency Notes: OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-03 Product Code: Agency Notes: OCWUT 22-24-07-05	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 6 inch, O.D. Range: 6.90 - 7.10 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 8 inch, O.D. Range: 9.05 - 9.30 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Notes: Supplier Product Supplier Notes: \$100	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code: 10 / each Code: 10 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids \$344.36
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-03 Product Code: Agency Notes: OCWUT 22-24-07-04 Product Code: Agency Notes: OCWUT 22-24-07-05 Product Code: Agency Notes:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 6 inch, O.D. Range: 6.90 - 7.10 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 8 inch, O.D. Range: 9.05 - 9.30 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Unit Price Supplier Notes: Supplier Notes: \$86.09 Supplier Notes: \$122.35 Supplier Product Supplier Notes: \$112.35 Supplier Product Supplier Notes: \$122.35 Supplier Product Supplier Notes: \$161.72 Supplier Product Supplier Product	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code: 10 / each Code: 10 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids \$1,223.50
OCWUT 22-24-06-03 Product Code: Agency Notes: OCWUT 22-24-06-04 Product Code: Agency Notes: OCWUT 22-24-06-05 Agency Notes: OCWUT 22-24-06-06 Agency Notes: OCWUT 22-24-06-07 Agency Notes: Item # OCWUT 22-24-07-01 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-02 Agency Notes: OCWUT 22-24-07-03 Product Code: Agency Notes: OCWUT 22-24-07-05 Product Code: Agency Notes: OCWUT 22-24-07-06	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 Line Item Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 6 inch, O.D. Range: 6.90 - 7.10 - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 8 inch, O.D. Range: 9.05 - 9.30 - First Offer	Supplier Notes: \$0.00 Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Unit Price Supplier Product Supplier Notes: \$86.09 Supplier Product Supplier Notes: \$122.35 Supplier Product Supplier Notes: \$165.72 Supplier Product Supplier Notes: \$165.44 Supplier Product	14 / each Code: 14 / each Code: Code: Code: Qty/Unit Code: 4 / each Code: 10 / each Code: 10 / each Code:	\$0.00 No Bids No Bids No Bids Lot Total: \$0.00 Total Price No Bids \$1,223.50

0.00000000000000000000000000000000000	Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Part	H		<u> </u>	12 / each	\$3,369,36
Mary Control	Product Code:				12,23333
Separate	Agency Notes:		Supplier Notes:		
### 1949 1949		Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 16 inch, O.D. Range: 17.40 - 17.80 - First Offer			\$1,035.78
1908 1909				Code:	
Segues S	l	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 18 inch, O.D. Range: 19.20 - 19.92 - First Offer		2 / each	\$872.80
Mary	Product Code:		Supplier Product	Code:	
Product Code	Agency Notes:				
### APP 100 1		Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 20 inch, O.D. Range: 21.60 - 22.06 - First Offer			\$1,285.20
March Mar				Code:	
Agency A	l	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 24 inch, O.D. Range: 25.80 - 26.32 - First Offer		4 / each	\$3,680.24
Marging Folders	Product Code:		Supplier Product	Code:	
Agency Notes:	Agency Notes:		Supplier Notes:	I	
Margin M		Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 30 inch, O.D. Range: 31.74 - 32.74	S	C. 1	No Bids
COUNT 1224-0714 COUNT 2234-0715 COUNT 2234	Agency Notes:			Code:	
CMU/U1 2244 071	OCWUT 22-2407-14	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 36 inch, O.D. Range: 37.96 - 38.71			No Bids
Mary March	Agency Notes:		Supplier Product	Code:	
Agency Noise Simple Product Calcal Signific Pr			Supplier Notes:	1	
Supplier Product Codes Supplier Product C		Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 42 inch,			No Bids
COUNT 22 24 07 16 Coup	Agency Notes:			Code:	
### Supplier Product Color Supplier Product	OCWUT 22-2407-16	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 48 inch, O.D. Range: n/a			No Bids
Mary	Agency Notes:		Supplier Product	Code:	
### 1945 Part			Supplier Notes:	1	
### CAMUR 224-07-18 Supplier Product Campus Paller (240 re Seal Seal Seal Seal Seal Seal Seal Sea		Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 54 inch			No Bids
CMUNIT 2224-0948 CMUNIT 2224-0948 CMUNIT 2224-0949 CMUNIT 222	Agency Notes:			Code:	
### Page	OCWUT 22-2407-18	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 48 inch oversize, O.D. Range: n/a			No Bids
The Institute	Agency Notes:		Supplier Product	Code:	
Mark			Supplier Notes:		
CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-2 Inch x 3/4 inch, O.D. Range: 235-256 Jupplier Product Codes Supplier Notes: CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-2 Inch x 1 inch, O.D. Range: 235-257 Supplier Product Codes Supplier Notes: CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-3 inch x 3/4 inch, O.D. Range: 375-455 Supplier Product Codes Supplier Notes: CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-3 inch x 1 inch, O.D. Range: 375-455 Supplier Product Codes Supplier Notes: CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-3 inch x 1.5 inch, O.D. Range: 3.75-4.56 Supplier Product Codes Supplier Notes: CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-3 inch x 1.5 inch, O.D. Range: 3.75-4.53 Supplier Product Codes Supplier Notes: CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-4 inch x 1.5 inch, O.D. Range: 4.74-5.63 No Blais Supplier Product Codes Supplier Notes: CCWUT 122-24-08-08 Group 3. Section H. Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size-4 inch x 1.5 inch, O.D. Range: 4.74-5.66 popplier Product Codes Supplier Notes:					
Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Notes Supplier Product Code: Supplier Notes CCWUT 22-24-08-080 Group 3, Section H: Double Strap Tapping Saddle, CCT ap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, D.D. Ranges 3.75 - 4.55 Supplier Product Code: Supplier Notes CCWUT 22-24-080 01 Group 3, Section H: Double Strap Tapping Saddle, CCT ap, Smith-Blair 313 or Equal: Size: 3 inch x 1/2 inch, D.D. Ranges 3.75 - 4.55 Supplier Product Code: Supplier Notes CCWUT 22-24-0804 02 Group 3, Section H: Double Strap Tapping Saddle, CCT ap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, D.D. Ranges 3.75 - 4.55 Supplier Product Code: Supplier Notes: CCWUT 22-24-0805 02 Group 3, Section H: Double Strap Tapping Saddle, CCT ap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, D.D. Ranges 3.75 - 4.55 Supplier Product Code: Supplier Notes: CCWUT 22-24-0805 02 Group 3, Section H: Double Strap Tapping Saddle, CCT ap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, D.D. Ranges 4.74 - 5.63 Supplier Product Code: Supplier Notes: CCWUT 22-24-0807 03 Group 3, Section H: Double Strap Tapping Saddle, CCT ap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, D.D. Ranges 4.74 - 5.65 Supplier Product Code: Supplier Notes: CCWUT 22-24-0808 03 Group 3, Section H: Double Strap Tapping Saddle, CCT ap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, D.D. Ranges 4.74 - 5.66 Supplier Product Code: Supplier Notes: CCWUT 22-24-0809 03<			Unit Price	Qty/Unit	
CMU/T 22 24 - 08 0 Group 3, Section Hz Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size 2 inch x 1 inch, O.D. Range 235 - 257 Supplier Product Code: Supplier Notes:		Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 Inch x 3/4 Inch, O.D. Range: 2.35 - 2.56	Cumplior Broduct	Codo:	No Bids
Agency Notes: Supplier Product Code: Supplier Notes: Supplier	Agency Notes.			coue.	
Supplier Notes: Supplier			Supplier Notes:		
COWUT 22.24-08.08 Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3 4 inch, O.D. Range: 3.75 - 4.55 Supplier Product Code: Supplier Notes: COWUT 22.24-08.09 / Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.55 Supplier Product Code: Supplier Notes: COWUT 22.24-08.09 / Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Supplier Product Code: Supplier Notes: COWUT 22.24-08.09 / Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Supplier Product Code: Supplier Notes: COWUT 22.24-08.07 / Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.64 Supplier Product Code: Supplier Notes: COWUT 22.24-08.09 / Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.64 Supplier Product Code: Supplier Notes: COWUT 22.24-08.00 / Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.66 Supplier Product Code: Supplier Notes: COWUT 22.24-08.00 / Group 3. Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.66 Supplier Product Code: Supplier Notes: COWUT 22.24-08.10 / Group 3. Section H: Double Strap Tapp	OCWUT 22-2408-02		Supplier Notes:		No Bids
Agency Notes: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Not	OCWUT 22-2408-02 Agency Notes:		Supplier Product	Code:	No Bids
CVUIT 222 44-080 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.55 Supplier Product Codes Supplier Notes: Supplier Notes	Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57	Supplier Product	Code:	
Agency Notes: COWIT 22-24-08.08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Supplier Product Celes Supplier Notes: COWIT 22-24-08.06 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 No Bids Supplier Notes: Supplier N	Agency Notes: OCWUT 22-2408-03	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57	Supplier Product Supplier Notes:		
COWUT 222-24-0808 Supplier Notes: Supplier Notes: No Bids Agency Notes: Supplier Product Code: Supplier Notes:	Agency Notes: OCWUT 22-2408-03	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57	Supplier Product Supplier Notes: Supplier Product		
OWUT 22:24-08-05 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Supplier Product Code: suppli	Agency Notes: OCWUT 22-2408-03 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55	Supplier Product Supplier Notes: Supplier Product		No Bids
Agency Notes: OCWUT 22:24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 No Bids Agency Notes: OCWUT 22:24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 No Bids Agency Notes: OCWUT 22:24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 No Bids Agency Notes: OCWUT 22:24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.66 No Bids Agency Notes: OCWUT 22:24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 No Bids Agency Notes: OCWUT 22:24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 No Bids Agency Notes: OCWUT 22:24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 No Bids Agency Notes: OCWUT 22:24-08-11 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 No Bids Agency Notes: OCWUT 22:24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 No Bids Agency Notes: OCWUT 22:24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.62 No Bids Agency Notes: OCWUT 22:24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.62 No Bids Agency Notes: OCWUT 22:24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blai	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55	Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product	Code:	No Bids
OCWUT 22-24-084	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56	Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product	Code:	No Bids No Bids
Agency Notes: COWUT 22-24-08-07 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, Q.D. Range: 4.74-5.64 Agency Notes: COWUT 22-24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, Q.D. Range: 4.74-5.65 COWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, Q.D. Range: 4.74-5.65 COWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, Q.D. Range: 4.74-5.66 COWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, Q.D. Range: 6.84-7.60 COWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, Q.D. Range: 6.84-7.60 COWUT 22-24-08-11 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, Q.D. Range: 6.84-7.61 COWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, Q.D. Range: 6.84-7.61 COWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, Q.D. Range: 6.84-7.62 COWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, Q.D. Range: 6.84-7.62 COWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, Q.D. Range: 6.84-7.63 COWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, Q.D. Range: 6.84-7.63 COWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, Q.D. Range: 6.84-7.63 COWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Eq	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56	Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code:	No Bids No Bids
OCWUT 22-24-08-07 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 4inch x 15 inch, O.D. Range: 4.74 - 5.64 Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Produc	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56	Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code:	No Bids No Bids
OCWUT 22-24-08-07 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.64 Mpglier Product Coel: Supplier Notes: OCWUT 22-24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Supplier Product Coel: Supplier Notes: OCWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Supplier Product Coel: Supplier Notes: OCWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3.44 inch, O.D. Range: 6.84 - 7.60 Supplier Product Coel: Supplier Notes: OCWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3.44 inch, O.D. Range: 6.84 - 7.60 Supplier Product Coel: Supplier Notes: OCWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, x 1.5 inch, x 0.D. Range: 6.84 - 7.61 Supplier Product Coel: Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, x 1.5 inch, x 0.D. Range: 6.84 - 7.62 Supplier Product Coel: Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, x 2 inc	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57	Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code:	No Bids No Bids No Bids
Agency Notes: OCWUT 22-24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Agency Notes: Supplier Product Code: Supplier Notes: Sup	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Notes:	Code:	No Bids No Bids No Bids
OCWUT 22-24-08-08 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Supplier Product Supplier Notes: Sup	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.63	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Notes:	Code:	No Bids No Bids No Bids
Agency Notes: OCWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Supplier Notes: OCWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 Supplier Notes: OCWUT 22-24-08-11 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.61 Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, x 2 inch, x 2 inch, x 3/4 inch, O.D. Range: 6.84 - 7.63 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, x 2 inch, x 2 inch, x 3/4 inch, O.D. Range: 6.84 - 7.63 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, x 3/4 inch	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-06	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.63	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes:	Code: Code: Code: Code:	No Bids No Bids No Bids
Supplier Notes: OCWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch x 3/4 inch, O.D. Range: 4.74-5.66 Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: OCWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84-7.60 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-11 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84-7.61 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84-7.61 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84-7.62 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84-7.63 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch x 2 inch, O.D. Range: 6.84-7.63 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch x 3/4 inch, O.D. Range: 8.84-7.63 Supplier Product Code: Supplier Notes:	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-06	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.63	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Notes:	Code: Code: Code: Code:	No Bids No Bids No Bids
OCWUT 22-24-08-09 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Supplier Product Code: Supplier Notes: OCWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 No Bids Agency Notes: Supplier Product Code: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes: Supplier Product Code: Supplier Notes: Supplier Not	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.64	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Notes: Supplier Notes:	Code: Code: Code: Code:	No Bids No Bids No Bids No Bids
Agency Notes: OCWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1/1 inch, O.D. Range: 6.84 - 7.60	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.64	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Product	Code: Code: Code: Code:	No Bids No Bids No Bids No Bids
Supplier Notes: OCWUT 22-24-08-10 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 Supplier Product Supplier Notes: OCWUT 22-24-08-11 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Supplier Product Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 Supplier Product Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 Supplier Product Supplier Notes: OCWUT 22-24-08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84 - 7.63 Supplier Product Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84 - 7.63 Supplier Product Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 1.010 Supplier Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 1.010 Supplier Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 1.010 Supplier Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 1.010 Supplier Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 1.010 Supplier Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.65	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Product	Code: Code: Code: Code:	No Bids No Bids No Bids No Bids
Agency Notes: OCWUT 22-24-08-11 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.65	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code:	No Bids No Bids No Bids No Bids
Supplier Notes: OCWUT 22-24–08-11	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.65	Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product	Code: Code: Code: Code: Code:	No Bids No Bids No Bids No Bids
OCWUT 22-24—08-11 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Supplier Product Code: Supplier Notes: OCWUT 22-24—08-12 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 No Bids Agency Notes: Supplier Product Code: Supplier Notes: Supplier Note	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-09 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65	Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code:	No Bids No Bids No Bids No Bids No Bids
Agency Notes: OCWUT 22-24–08-12 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 Agency Notes: OCWUT 22-24–08-13 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84 - 7.63 Agency Notes: OCWUT 22-24–08-13 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84 - 7.63 Agency Notes: OCWUT 22-24–08-14 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 1.010 No Bids No Bids	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-09 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65	Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code:	No Bids No Bids No Bids No Bids No Bids
Supplier Notes: OCWUT 22-24–08-12 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, o.D. Range: 6.84 - 7.62 Supplier Product Code: Supplier Notes: OCWUT 22-24–08-13 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, o.D. Range: 6.84 - 7.63 Inchest Code: Supplier Notes: OCWUT 22-24–08-13 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, o.D. Range: 8.54 - 10.10 Inchest Code: Supplier Notes: OCWUT 22-24–08-14 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, o.D. Range: 8.54 - 10.10 Inchest Code: Supplier Notes: Ocwur 22-24–08-14 Inchest Code: Supplier Notes: Ocwur 24-24–08-14 Inchest Code: Supplier Notes: Ocwu	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-09 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2:35 - 2:57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3:75 - 4:56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3:75 - 4:57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4:74 - 5:63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4:74 - 5:64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4:74 - 5:65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4:74 - 5:66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4:74 - 5:66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 4:74 - 5:66	Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code:	No Bids No Bids No Bids No Bids No Bids No Bids
Agency Notes: OCWUT 22-24–08-13 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54-10.10 Supplier Product Code: Supplier Notes: Supplier Product Code: Supplier Notes: OCWUT 22-24–08-14 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54-10.10 No Bids	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-09 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2:35 - 2:57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3:75 - 4:56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3:75 - 4:57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4:74 - 5:63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4:74 - 5:64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4:74 - 5:65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4:74 - 5:66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4:74 - 5:66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 4:74 - 5:66	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Notes: Supplier Notes:	Code: Code: Code: Code: Code: Code: Code:	No Bids
Supplier Notes: OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 2/inch, O.D. Range: 6.84 - 7.63 Agency Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 10.10 No Bids No Bids No Bids No Bids	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-10 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2:35 - 2:57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3:75 - 4:56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3:75 - 4:57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4:74 - 5:63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4:74 - 5:64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4:74 - 5:65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4:74 - 5:66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4:74 - 5:66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 4:74 - 5:66	Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code: Code:	No Bids
OCWUT 22-24-08-13 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84 - 7.63 Agency Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 10.10 No Bids Supplier Product Code: Supplier Notes: No Bids	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-10 Agency Notes: OCWUT 22-24-08-11 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.60	Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code: Code: Code:	No Bids
Agency Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 10.10 Supplier Product Code: Supplier Notes: No Bids	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-10 Agency Notes: OCWUT 22-24-08-11 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.60	Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code: Code: Code:	No Bids
Supplier Notes: OCWUT 22-24-08-14 Group 3, Section H: Double Strap Tapping Saddle, CCTap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 10.10 No Bids	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-10 Agency Notes: OCWUT 22-24-08-11 Agency Notes: OCWUT 22-24-08-11 Agency Notes: OCWUT 22-24-08-12 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61	Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code: Code: Code:	No Bids
	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-10 Agency Notes: OCWUT 22-24-08-11 Agency Notes: OCWUT 22-24-08-11 Agency Notes: OCWUT 22-24-08-12 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61	Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code: Code: Code: Code:	No Bids
Agency Notes: Supplier Product Code:	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-10 Agency Notes: OCWUT 22-24-08-11 Agency Notes: OCWUT 22-24-08-11 Agency Notes: OCWUT 22-24-08-12 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61	Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code: Code: Code: Code:	No Bids
	Agency Notes: OCWUT 22-24-08-03 Agency Notes: OCWUT 22-24-08-04 Agency Notes: OCWUT 22-24-08-05 Agency Notes: OCWUT 22-24-08-06 Agency Notes: OCWUT 22-24-08-07 Agency Notes: OCWUT 22-24-08-08 Agency Notes: OCWUT 22-24-08-09 Agency Notes: OCWUT 22-24-08-10 Agency Notes: OCWUT 22-24-08-11 Agency Notes: OCWUT 22-24-08-12 Agency Notes: OCWUT 22-24-08-13 Agency Notes: OCWUT 22-24-08-13 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.66 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.60 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.62 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.62	Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Notes: Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Product Supplier Notes: Supplier Product Supplier Notes:	Code: Code: Code: Code: Code: Code: Code: Code: Code: Code:	No Bids No Bids

	Supplier Notes:
OCWUT 22-2408-15 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 1 inch, O.D. Range: 8.54 - 10.11	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-24-08-16 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 1.5 inch, O.D. Range: 8.54 - 10.12	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-2408-17 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 2 inch, O.D. Range: 8.54 - 10.13	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-2408-18 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 3/4 inch, O.D. Range: 10.64 - 12.12	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-08-19 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 1 inch, O.D. Range: 10.64 - 12.13	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-2408-20 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 1.5 inch, O.D. Range: 10.64 - 12.14	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24–08-21 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 2 inch, O.D. Range: 10.64 - 12.15	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-24–08-22 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 3/4 inch, O.D. Range: 12.62 - 14.32	No Bids
Agency Notes:	Supplier Product Code:
OCWUT 22-24-08-23 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 1 inch, O.D. Range: 12.62 - 14.33	Supplier Notes: No Bids
Agency Notes: Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 Inch X 1 Inch, O.D. Range: 12.62 - 14.33	Supplier Product Code:
Agency Notes.	Supplier Product Code. Supplier Notes:
OCWUT 22-2408-24 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 1.5 inch, O.D. Range: 12.62 - 14.34	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-24-08-25 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 2 inch, O.D. Range: 12.62 - 14.35	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-08-26 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 3/4 inch, O.D. Range: 14.73 - 15.65	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-2408-27 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 1 inch, O.D. Range: 14.73 - 15.66	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24–08-28 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 1.5 inch, O.D. Range: 14.73 - 15.67	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-24-08-29 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 2 inch, O.D. Range: 14.73 - 15.68	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-08-30 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 3/4 inch, O.D. Range: 17.40 - 18.88	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-24-08-31 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 1 inch, O.D. Range: 17.40 - 18.89	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24-08-32 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 1.5 inch, O.D. Range: 17.40 - 18.90	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
OCWUT 22-24-08-33 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 2 inch, O.D. Range: 17.40 - 18.91	No Bids
Agency Notes:	Supplier Product Code: Supplier Notes:
OCWUT 22-24–08-34 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 18 inch x 1 inch	No Bids
Agency Notes:	Supplier Product Code:
	Supplier Notes:
	No mid-
OCWUT 22-24–08-35 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 18 inch x 2 inch	No Bids
OCWUT 22-2408-35 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 18 inch x 2 inch Agency Notes:	Supplier Product Code:
Agency Notes:	Supplier Product Code: Supplier Notes:
Agency Notes: OCWUT 22-24-08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch	Supplier Product Code: Supplier Notes: No Bids
Agency Notes: OCWUT 22-24-08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24-08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids
Agency Notes: OCWUT 22-24-08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes:	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code:
Agency Notes: OCWUT 22-24–08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24–08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch Agency Notes:	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:
Agency Notes: OCWUT 22-24-08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24-08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code:
Agency Notes: OCWUT 22-24–08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24–08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch Agency Notes: OCWUT 22-24–08-38 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Product Code: Supplier Notes: No Bids
Agency Notes: OCWUT 22-24–08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24–08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch Agency Notes: OCWUT 22-24–08-38 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Product Code:
Agency Notes: OCWUT 22-24–08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24–08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch Agency Notes: OCWUT 22-24–08-38 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch Agency Notes:	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: No Bids Supplier Notes: No Bids Supplier Product Code:
Agency Notes: OCWUT 22-24-08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24-08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch Agency Notes: OCWUT 22-24-08-38 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch Agency Notes: OCWUT 22-24-08-39 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch Agency Notes:	Supplier Product Code: Supplier Notes: No Bids
Agency Notes: OCWUT 22-24-08-36 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch Agency Notes: OCWUT 22-24-08-37 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch Agency Notes: OCWUT 22-24-08-38 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch Agency Notes: OCWUT 22-24-08-39 Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch	Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Notes: No Bids Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes: No Bids Supplier Notes: No Bids Supplier Product Code:

" '		Supplier Notes:		
Agency Notes:		Supplier Product	Code:	
OCWUT 22-2413-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 412: Size: 3/4 inch x 4.5 inch, O.D. Range: 1.050			No Bids
OCWUT 22 24 12 01	Croup E Costing & Florible Steel Costested Couplings Croith Plais 413 Gros 2/4 inch v 4 Einch O.D. Danger 1 050	Unit Price	Qty/Unit	Total Price
Item #	line Item	Unit Price	Oty/Unit	
		Supplier Notes:		Lot Total: \$0.00
Agency Notes:		Supplier Product	Code:	
OCWUT 22-2412-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840			No Bids
Item#	Line Item	Unit Price	Qty/Unit	Total Price
				Lot Total: \$0.00
Agency Notes.		Supplier Product Supplier Notes:	coue.	
Agency Notes:	50.50 - 51.98	Supplier Product	Code:	
OCWUT 22-2411-07	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range:	- Spp. ci 140ces.		No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2411-06	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48			No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2411-05	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46			No Bids
Agency Notes:		Supplier Product Supplier Notes:	coue.	
OCWUT 22-2411-04	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50	Cumplier Bester	Codo	No Bids
	Group A Soction K. Pala Accombly for use with 622 Soddler Carbon Steel ACTM ADDE Strong ACTM ATCC Aller Aller Aller Control of the Control of	Supplier Notes:		Na Did-
Agency Notes:	25.55 - 26.32	Supplier Product	Code:	
OCWUT 22-2411-03	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range:	Supplier Notes:		No Bids
Agency Notes:	23.75 - 24.50	Supplier Product	Code:	
OCWUT 22-2411-02	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 20 inch, O.D. Range:	Supplier Notes:		No Bids
Agency Notes:		Supplier Product	Code:	
OCWUT 22-2411-01	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 18 inch, O.D. Range: 19.25 - 20.00		- 1	No Bids
Item#	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00 Total Price
-		Supplier Notes:		Lot Total: #0.00
Agency Notes:	a. Temporal results and the second second results and the second second results and the second results are second results and the second results and the second results are second results are second results and the second results are second results and the second results are second results and the second results are second resul	Supplier Product	Code:	140 DIGS
OCWUT 22-2410-05	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: Hemispherical washer; ductile iron, ASTM-536	Supplier Notes:		No Bids
Agency Notes:	Group 4, Section 1, rapped insert, Ductile Iron, ASTIN-SSO, Grade ou build-N-Gasket, Size. 2 Irith Ct Insert	Supplier Product	Code:	INO DIGS
OCWUT 22-2410-04	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 2 inch cc insert	Supplier Notes:		No Bids
Agency Notes:	GLOUP 4, Section 1, Tapped Insert, Ductile Ito11, MSTN1-530, Grade by Buria-IN-Gasket, Size: 1,5 Inch cc Insert	Supplier Product	Code:	INO BIOS
OCWUT 22-2410-03	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 1.5 inch cc insert	Supplier Notes:		No Bids
OCWUT 22-2410-02 Agency Notes:	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 1 inch cc insert	Supplier Product	Code:	No Bids
		Supplier Notes:		
OCWUT 22-2410-01 Agency Notes:	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 3/4 inch cc insert	Supplier Product	Code:	No Bids
Item#	Line Item Course 4 Section Is Toward Issuer Duttille Iron ASTAN FOC Conde CO Dune N. Content Circu 2/4 inch as insert	Unit Price	Qty/Unit	Total Price
		- 355 1100031		Lot Total: \$0.00
Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2409-01	Group 4, Section I: Service Body, Smith-Blair or Equal: Size: 18 inch through 48 inch			No Bids
Item#	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00 Total Price
J ,		Supplier Notes:		1
OCWUT 22-2408-45 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 42 inch x 2 inch	Supplier Product	Code:	No Bids
	Group 3 Saction H: Double Stran Tanning Saddle CC Tan Smith Plair 212 or Equal Size A3 inch v. 3 inch	Supplier Notes:		No Did-
OCWUT 22-2408-44 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 42 inch x 1 inch	Supplier Product	Code:	No Bids
OCWUT 22 24 00 44	Control 2 Control II Double Chan Tanning Coddle CC Tan Control District 242 on Favor Cine 42 inch	Supplier Notes:		No Dido
OCWUT 22-2408-43 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 36 inch x 2 inch	Supplier Product	Code:	No Bids
	Crown 2 Castion III Double Ctron Tamping Caddle CC Tar. Caribb Philip 242 as Freeh Character 1 2	Supplier Notes:		AL DIT
OCWUT 22-2408-42 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 36 inch x 1 inch	Supplier Product	Code:	No Bids
		Supplier Notes:		
OCWUT 22-2408-41 Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 30 inch x 2 inch	Supplier Product	Code:	No Bids
0.500.000.000.000.00		Supplier Notes:		

Item#	Line Item	Unit Price	Qty/Unit	Total Price
DCWUT 22-2414-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 413: Size: 1 inch x 5 inch, O.D. Range: 1.315			No Bids
gency Notes:		Supplier Product Supplier Notes:	Code:	
		эмрист тоссол		Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2415-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 414: Size: 1.25 inch x 5 inch, O.D. Range: 1.660			No Bids
Agency Notes:		Supplier Product	Code:	
		Supplier Notes:		Lot Total: \$0.00
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2416-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 415: Size: 1.5 inch x 5 inch, O.D. Range: 1.900	J.II.C.	Qcy/ Cilic	No Bids
Agency Notes:	<u>, , , , , , , , , , , , , , , , , , , </u>	Supplier Product	Code:	
		Supplier Notes:		
			- n. n.	Lot Total: \$0.00
OCWUT 22-2417-01	Line Item Course 5 Continue In Floridale Constant of Coursians Continue Plain 446 City 3 Institute O.D. Donner 3 275	Unit Price	Qty/Unit	Total Price No Bids
Agency Notes:	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 416: Size: 2 inch x 5 inch, O.D. Range: 2.375	Supplier Product Supplier Notes:	Code:	NO Blus
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2418-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 417: Size: 2.5 inch x 5 inch, O.D. Range: 2.875			No Bids
Agency Notes:		Supplier Product Supplier Notes:	coae:	
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2419-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 418: Size: 3 inch x 5 inch, O.D. Range: 3.5			No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:	
		supplier Notes.		Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2420-01	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 4 inch, Catalog #: 1504			No Bids
Agency Notes:		Supplier Product	Code:	
0.004/11.20.24.20.02	Constitution of the consti	Supplier Notes:	T	N. Pil
OCWUT 22-2420-02 Agency Notes:	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 6 inch, Catalog #: 1506	Supplier Product	Codo:	No Bids
Agency Notes.		Supplier Notes:	Code.	
OCWUT 22-2420-03	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 8 inch, Catalog #: 1508			No Bids
Agency Notes:		Supplier Product	Code:	
OCMUT 22 24 20 04	Course F. Cartine M. Courses of Ethina Details on Early Disas FDAA 4500 on Enrysh Circ. 40 inch. Cartine M. 4540	Supplier Notes:		No Dide
OCWUT 22-2420-04 Agency Notes:	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 10 inch, Catalog #: 1510	Supplier Product	Code:	No Bids
rigericy redicts.		Supplier Notes:	couc.	
OCWUT 22-2420-05	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 12 inch, Catalog #: 1512			No Bids
Agency Notes:		Supplier Product	Code:	
		Supplier Notes:		Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2421-01	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 4 inch, O.D. Range: 4.74 - 5.00		49. 5	No Bids
Agency Notes:		Supplier Product	Code:	
		Supplier Notes:		
OCWUT 22-2421-02	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 6 inch, O.D. Range: 6.84 - 7.10			No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2421-03	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 8 inch, O.D. Range: 8.98 - 9.30			No Bids
Agency Notes:		Supplier Product	Code:	
		Supplier Notes:		
OCWUT 22-2421-04 Agency Notes:	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 10 inch, O.D. Range: 11.03 - 11.40	Complian Duados	Cada	No Bids
Agency Notes.		Supplier Product Supplier Notes:	coue.	
OCWUT 22-2421-05	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 12 inch, O.D. Range: 13.12 - 13.50			No Bids
Agency Notes:		Supplier Product	Code:	
		Supplier Notes:		Lat Tataly #0.00
Item#	Line Item	Unit Price	Qty/Unit	Lot Total: \$0.00 Total Price
OCWUT 22-2422-01	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 4 inch, Catalog #: 440-4HF	Omerrice	Qtyronic	No Bids
Agency Notes:	, , , , , , , , , , , , , , , , , , ,	Supplier Product	Code:	
		Supplier Notes:		
OCWUT 22-2422-02	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 6 inch, Catalog #: 440-6HF			No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:	
OCWUT 22-2422-03	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 8 inch, Catalog #: 440-8HF			No Bids
Agency Notes:		Supplier Product	Code:	
		Supplier Notes:		
			.	Lot Total: \$0.00
Item #	Line Item Course C. Contine O. Paradia (Parada arranta Parta for Paradia Clausera Course 4: All sealouse black arranta for the description).	Unit Price	Qty/Unit	Total Price
OCWUT 22-2423-01	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 1: All replaceable components/attachments			No Bids

Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 22-2423-02	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 2: All replaceable components/attachments		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 22-2423-03	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 3: All replaceable components/attachments		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 22-2423-04	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 4: All replaceable components/attachments		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
OCWUT 22-2423-05	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 5: All replaceable components/attachments		No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:	
			Lot Total: \$0.00

				Lot Tot	al: \$0.00
Pioneer Supply LLC Bid Contact Ranc	dahl L Lillard Address 2008 Pole Rd.		5453,701.3	3 (167/1	190 items
Ph 40 Fax 4	<u>rd@pioneersupplyok.com</u> Moore, OK 73160 05-794-7705 105-794-3124				
Qualifications MBE			uliau Natas		
Agency Notes: Item #	Line Item		plier Notes t Price C		Total Price
OCWUT 22-2401-01	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 2x7.5, O.D. Range: 2.35 - 2.63 -			-	\$12,200.00
Product Code:			plier Produ		1-263-75
Agency Notes: OCWUT 22-2401-02	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 2.5x10, O.D. Range: 2.70 - 3.00 -		plier Notes \$73.40 4	/ each	\$293.60
Product Code: Agency Notes:	Group II, section I et direction, sinch som 2200, Equal Size. 2.3/(10, 0.3), hange, 2.10 3.00	Sup	plier Produ plier Notes	ıct Code: F	
OCWUT 22-2401-03	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 3x10, O.D. Range: 3.46 - 3.70 -	First Offer	\$81.00 4	/ each	\$324.00
Product Code: Agency Notes:		Sup	plier Produ plier Notes	s:	
OCWUT 22-2401-04	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 3x10, O.D. Range: 3.73 - 4.00 -			0 / each	\$3,240.00
Product Code: Agency Notes: OCWUT 22-2401-05	Group 1 Section A: Full Circle Stanle Band Smith Blair 236 or Ferrich Stan Av10 O.D. December 4.74 F.44	Sup	plier Produ plier Notes \$91.32 1	s:	
Product Code: Agency Notes:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.74 - 5.14 -	Sup	plier Produ plier Notes	ıct Code: F	\$9,132.00 -1-514-10
OCWUT 22-2401-06	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.45 - 4.73 -			/ each	\$307.40
Product Code: Agency Notes:			plier Produ plier Notes		-1-473-10
OCWUT 22-2401-07	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 4x10, O.D. Range: 4.95 - 5.35 -	First Offer	\$91.32 4	/ each	\$365.28
Product Code: Agency Notes:		Sup	plier Produ plier Notes	i:	
OCWUT 22-2401-08 Product Code:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 5x7.5, O.D. Range: 5.22 - 5.62 -		\$73.76 4 plier Produ	/ each	\$295.04
Agency Notes:			plier Notes		-1-302-73
OCWUT 22-2401-09	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 5x10, O.D. Range: 5.22 - 5.62 -			/ each	\$365.28
Product Code: Agency Notes:		Sup	plier Produ plier Notes	i:	
OCWUT 22-2401-10	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x10, O.D. Range: 6.84 - 7.24 -				\$42,480.00
Product Code: Agency Notes:			plier Produ plier Notes		-1-/24-10
OCWUT 22-2401-11	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x12.5, O.D. Range: 6.87 - 7.64 -	First Offer \$	211.19 4	50 / each	\$95,035.50
Product Code: Agency Notes:		Sup	plier Produ plier Notes	i:	
OCWUT 22-2401-12	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 6.84 - 7.24 -				\$31,899.00
Product Code: Agency Notes:		Sup	plier Produ plier Notes	s:	
OCWUT 22-2401-13 Product Code: Agency Notes:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 7.05 - 7.45 -	Sup	151.90 8 plier Produ plier Notes		\$1,215.20 -1-745-15
OCWUT 22-2401-14	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x15, O.D. Range: 7.45 - 7.85 -			/ each	\$1,215.20
Product Code: Agency Notes:		Sup	plier Produ plier Notes	ıct Code: F	
OCWUT 22-2401-15	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x20, O.D. Range: 6.84 - 7.24 -	First Offer \$	196.00 3	5 / each	\$6,860.00
Product Code: Agency Notes:		Sup	plier Produ plier Notes	i:	
OCWUT 22-2401-16	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 6x20, O.D. Range: 7.24 - 7.45 -			5 / each	\$6,860.00
Product Code: Agency Notes:		Sup	plier Produ plier Notes	i:	
OCWUT 22-2401-17 Product Code:	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x10, O.D. Range: 8.99 - 9.39 -			0 / each	\$8,400.00
Agency Notes:			plier Produ plier Notes		- I-525-IU

	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 8.99 - 9.39 - First Offer	\$153.80	75 / each	\$11,535.0
Product Code: Agency Notes:		Supplier Pro Supplier No	tes:	
OCWUT 22-2401-19 Product Code:		\$190.50 Supplier Pro	duct Code:	\$1,524.00 F1-967-15
Agency Notes:		Supplier No		#762.0
OCWUT 22-2401-20	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x15, O.D. Range: 9.70 - 10.10 - First Offer	\$190.50	4 / each	\$762.0
Product Code: Agency Notes:		Supplier Pro Supplier No		-1-1010-1:
OCWUT 22-2401-21	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 8x20, O.D. Range: 8.99 - 9.39 - First Offer	\$206.50	15 / each	\$3,097.5
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-939-20
OCWUT 22-2401-22	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x10, O.D. Range: 11.04 - 11.44 - First Offer	\$131.90	10 / each	\$1,319.0
Product Code: Agency Notes:		Supplier Pro		F1-1144-1
OCWUT 22-2401-23	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x15, O.D. Range: 11.04 - 11.44 - First Offer	\$187.15	15 / each	\$2,807.2
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-1144-1
OCWUT 22-2401-24	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x30, O.D. Range: 11.04 - 11.44 - First Offer	\$384.64	15 / each	\$5,769.6
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-1144-3
OCWUT 22-2401-25	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 10x20, O.D. Range: 11.04 - 11.44 - First Offer	\$264.55	15 / each	\$3,968.2
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-1144-2
OCWUT 22-2401-26	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.10 - 13.50 - First Offer	\$206.44	25 / each	\$5,161.0
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-1350-1
OCWUT 22-2401-27	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.70 - 14.10 - First Offer	\$224.43	4 / each	\$897.7
Product Code: Agency Notes:		Supplier Pro		F1-1410-1
OCWUT 22-2401-28	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.40 - 13.80 - First Offer	\$224.43	8 / each	\$1,795.4
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-1380-1
OCWUT 22-2401-29	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x15, O.D. Range: 13.65 - 14.45 - First Offer	\$285.98	8 / each	\$2,287.8
Product Code: Agency Notes:		Supplier Pro Supplier No		F2-1445-1
OCWUT 22-2401-30	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x20, O.D. Range: 13.10 - 13.50 - First Offer	\$269.79	15 / each	\$4,046.8
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-1350-2
OCWUT 22-2401-31	Group 1, Section A: Full Circle, Single Band, Smith-Blair 226 or Equal: Size: 12x30, O.D. Range: 13.10 - 13.50 - First Offer	\$377.44	15 / each	\$5,661.6
Product Code: Agency Notes:		Supplier Pro Supplier No		F1-1350-3
			Lot Total: \$	271 120 5
Item #	Line Item			
OCWUT 22-2402-01 Product Code:		Unit Price	Qty/Unit	Total Pri
	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x20, O.D. Range: 17.15 - 17.90 - First Offer	\$426.31	Qty/Unit 10 / each	Total Pri \$4,263.1
Agency Notes:			Qty/Unit 10 / each oduct Code:	Total Pri \$4,263.1
		\$426.31 Supplier Pro	Qty/Unit 10 / each oduct Code:	Total Pri \$4,263.1
Agency Notes: OCWUT 22-2402-02 Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro	Qty/Unit 10 / each oduct Code: tes: 10 / each oduct Code:	Total Pri \$4,263.1 F2-1790-2 \$7,077.2
Agency Notes: OCWUT 22-2402-02	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72	Qty/Unit 10 / each oduct Code: tes: 10 / each oduct Code:	Total Pri \$4,263.1 F2-1790-2 \$7,077.2 F2-1857-3
Agency Notes: OCWUT 22-2402-02 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No	Qty/Unit 10 / each oduct Code: tes: 10 / each oduct Code: tes: 10 / each oduct Code:	Total Pri \$4,263.1 F2-1790-2 \$7,077.2 F2-1857-3 \$4,855.7
Agency Notes: OCWUT 22-24-02-02 Product Code: Agency Notes: OCWUT 22-24-02-03 Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier Pro	Qty/Unit 10 / each oduct Code: tes: 10 / each oduct Code: tes: 10 / each oduct Code:	Total Pric \$4,263.1 F2-1790-2 \$7,077.2 F2-1857-3 \$4,855.7
Agency Notes: OCWUT 22-2402-02 Product Code: Agency Notes: OCWUT 22-2402-03 Product Code: Agency Notes: OCWUT 22-2402-04 Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier No \$494.98 Supplier Pro	Qty/Unit 10 / each oduct Code: 10 / each oduct Code: tes: 10 / each oduct Code: tes: 10 / each oduct Code: oduct Code: duct Code: duct Code:	Total Pri \$4,263.1 F2-1790-2 \$7,077.2 F2-1857-3 \$4,855.7 F2-1998-2 \$4,949.8
Agency Notes: OCWUT 22-24-02-02 Product Code: Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier No \$484.98	Qty/Unit 10 / each oduct Code: 10 / each oduct Code: tes: 10 / each oduct Code: tes: 10 / each oduct Code: oduct Code: duct Code: duct Code:	\$4,263.1 \$4,263.1 \$2-1790-2 \$7,077.2 \$2-1857-3 \$4,855.7 \$2-1998-2 \$4,949.8 \$72-2227-2
Agency Notes: OCWUT 22-24-02-02 Product Code: Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier Pro Supplier No	Otty/Unit 10 / each oduct Code: Ites:	\$4,263.1 \$4,263.1 \$2-1790-2 \$7,077.2 \$2-1857-3 \$4,855.7 \$2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3
Agency Notes: OCWUT 22-2402-02 Product Code: Agency Notes: OCWUT 22-2402-03 Product Code: Agency Notes: OCWUT 22-2402-04 Product Code: Agency Notes: OCWUT 22-2402-05	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier No \$494.98 Supplier Pro Supplier No \$494.98	Otty/Unit 10 / each oduct Code: Ites:	Total Prius 4,263.1 F2-1790-2 \$7,077.2 F2-1857-3 \$4,855.7 F2-1998-2 \$4,949.8 F2-2227-2 \$5,972.3 F3-2280-1
Agency Notes: OCWUT 22-24-02-02 Product Code: Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x10, O.D. Range: 21.60 - 22.80 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier Pro Supplier No	Otty/Unit 10 / each oduct Code: Ites:	Total Pri \$4,263.1 \$7,077.2 \$7,077.2 \$2-1857-3 \$4,855.7 \$2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3 \$27,118.1
Agency Notes: OCWUT 22-24-02-02 Product Code: Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x10, O.D. Range: 21.60 - 22.80 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No	Qty/Unit 10 / each oduct Code: tes: Lot Total:	Total Pri \$4,263.1 52-1790-2 \$7,077.2 \$7,077.2 \$2-1857-3 \$4,855.7 52-1998-2 \$4,949.8 52-2227-2 \$5,972.3 \$27,118.1 Total Pri
Agency Notes: OCWUT 22-2402-02 Product Code: Agency Notes: OCWUT 22-2402-03 Product Code: Agency Notes: OCWUT 22-2402-04 Product Code: Agency Notes: OCWUT 22-2402-05 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier No \$494.98 Supplier Pro Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No Unit Price	oty/Unit 10 / each oduct Code: tes: Lot Total: 8 / each oduct Code: tes:	Total Pri \$4,263. 52-1790-2 \$7,077. 52-1857-5 \$4,855. 52-1998-2 \$4,949.8 52-2227-2 \$5,972. \$27,118. Total Pri \$7,047.9
Agency Notes: OCWUT 22-2402-02 Product Code: Agency Notes: OCWUT 22-2402-03 Product Code: Agency Notes: OCWUT 22-2402-04 Product Code: Agency Notes: OCWUT 22-2402-05 Product Code: Agency Notes: OCWUT 22-2403-05 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier No \$485.57 Supplier Pro Supplier Pro Supplier No \$494.98 Supplier No \$597.23 Supplier Pro Supplier No Unit Price \$880.99 Supplier Pro Supplier Pro Supplier No	Qty/Unit 10 / each oduct Code: tes: Lot Total: 8 / each oduct Code: tes:	Total Pri \$4,263.1 2-1790-2 \$7,077.2 \$2-1857-3 \$4,855.7 2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3 \$27,118.1 Total Pri \$7,047.9 \$3-2680-2
Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-01 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier No \$485.57 Supplier Pro Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No Unit Price \$880.99 Supplier Pro Supplier No \$1,444.36 Supplier Pro Supplier No	Otty/Unit 10 / each oduct Code: tes: Lot Total: 8 / each oduct Code: tes: 1 / each oduct Code: tes: Lot Total: 0 / each oduct Code: tes: Lot Total: 0 / each oduct Code: tes: Lot Total: 0 / each oduct Code: tes: Lot Total:	Total Pric \$4,263.1 2-1790-2 \$7,077.2 \$2-1857-3 \$4,855.7 2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3 \$27,118.1 Total Pric \$7,047.9 \$3-2680-2 \$1,444.3
Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: OCWUT 22-24-03-05 Product Code: Agency Notes: OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-01	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier Pro Supplier Pro Supplier Pro Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No Unit Price \$880.99 Supplier Pro Supplier Pro Supplier No \$1,444.36	Otty/Unit 10 / each oduct Code: tes: Lot Total: 8 / each oduct Code: tes: 1 / each oduct Code: tes: Lot Total: 0 / each oduct Code: tes: Lot Total: 0 / each oduct Code: tes: Lot Total: 0 / each oduct Code: tes: Lot Total:	Total Pri \$4,263.1 2-1790-2 \$7,077.2 \$2-1857-3 \$4,855.7 2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3 \$27,118.1 Total Pri \$7,047.9 \$3-2680-2 \$1,444.3
Agency Notes: OCWUT 22-2402-03 Product Code: Agency Notes: OCWUT 22-2402-04 Product Code: Agency Notes: OCWUT 22-2402-04 Product Code: Agency Notes: OCWUT 22-2402-05 Product Code: Agency Notes: Item # OCWUT 22-2403-01 Product Code: Agency Notes: OCWUT 22-2403-02 Product Code: Agency Notes: OCWUT 22-2403-02 Product Code: Agency Notes: OCWUT 22-2403-03 Product Code: Agency Notes: OCWUT 22-2403-03 Product Code:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No Unit Price \$880.99 Supplier No \$1,444.36 Supplier Pro Supplier No \$1,444.36 Supplier Pro Supplier No \$2,967.33 Supplier Pro Supplier No Supplier Pro Supplier No Supplier Pro Supplier No Supplier Pro Supplier Pro Supplier No	Qty/Unit 10 / each oduct Code: Ites: 11 / each	\$4,263. \$7,077.2 \$7,077.3 \$4,855.3 \$2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3 \$27,118.3 Total Pri \$7,047.9 \$3-2680-2 \$1,444.3 \$3-3290-3 \$2,967.3
Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: Item # OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-02 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No Unit Price \$880.99 Supplier No \$1,444.36 Supplier No \$1,444.36 Supplier Pro Supplier No \$2,967.33 Supplier Pro Supplier No	Qty/Unit 10 / each oduct Code: Ites: 11 / each oduct Code: Ites:	Total Pri \$4,263. \$2-1790-2 \$7,077.2 \$7,077.3 \$4,855.3 \$2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3 \$27,118.7 Total Pri \$7,047.9 \$3-2680-2 \$1,444.3 \$3-3290-3 \$2,967.3 \$4-3920-3
Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: Item # OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-02 Product Code: Agency Notes: OCWUT 22-24-03-03	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No \$1,444.36 Supplier Pro Supplier No \$1,444.36 Supplier Pro Supplier No \$2,967.33 Supplier Pro Supplier Pro Supplier No \$2,967.33	Qty/Unit 10 / each oduct Code: tes: 11 / each	## Total Pri # 4,263.* # 5,7077 # 5,7077 # 2,1857.5 # 4,855 # 2,1998.2 # 4,949.8 # 2,2227.2 # 2,7118.* # 3,2280.1 # 2,7118.* # 3,2480.2 # 1,444 # 3,3290.5 # 1,885 # 1,885
Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: Item # OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-02 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 37.85 - 39.20 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer	\$426.31 Supplier Pro Supplier No \$707.72 Supplier Pro Supplier No \$485.57 Supplier Pro Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No Unit Price \$880.99 Supplier No \$1,444.36 Supplier No \$1,444.36 Supplier Pro Supplier No \$2,967.33 Supplier Pro Supplier No Supplier Pro Supplier No Supplier No Supplier Pro Supplier No	oty/Unit 10 / each oduct Code: tes: Lot Total: 8 / each oduct Code: tes: 1 / each oduct Code: tes:	## Total Pri # 4,263.* # 5,7077 # 5,7077 # 2,1857.5 # 4,855 # 2,1998.2 # 4,949.8 # 2,2227.2 # 2,7118.* # 3,2280.1 # 2,7118.* # 3,2480.2 # 1,444 # 3,3290.5 # 1,885 # 1,885
Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: Item # OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-02 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-04 Product Code: Agency Notes: OCWUT 22-24-03-04	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 42x20, O.D First Offer	\$426.31 Supplier Pro Supplier No \$485.57 Supplier No \$485.57 Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No \$1,444.36 Supplier No \$1,444.36 Supplier No \$2,967.33 Supplier Pro Supplier No \$1,444.36 Supplier No \$2,967.33	oty/Unit 10 / each oduct Code: tes: 11 / each oduct Code: tes: 12 / each oduct Code: tes: 13 / each oduct Code: tes: 14 / each oduct Code: tes: 15 / each oduct Code: tes: 16 / each oduct Code: tes: 17 / each oduct Code: tes: 18 / each	\$4,263. \$7,077.2 \$7,077.2 \$4,855.3 \$2-1998-2 \$4,949.8 \$2-2227-2 \$5,972.3 \$27,118.3 \$7,047.9 \$1,444.3 \$3-3290-3 \$1,845.3 \$1,845.3 \$2,967.3 \$1,885.3
Agency Notes: OCWUT 22-24-02-03 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-04 Product Code: Agency Notes: OCWUT 22-24-02-05 Product Code: Agency Notes: Item # OCWUT 22-24-03-01 Product Code: Agency Notes: OCWUT 22-24-03-02 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-03 Product Code: Agency Notes: OCWUT 22-24-03-04 Product Code: Agency Notes:	Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 16x30, O.D. Range: 17.82 - 18.57 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 18x20, O.D. Range: 19.23 - 19.98 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x20, O.D. Range: 21.52 - 22.27 - First Offer Group 1, Section B: Full Circle, Double Band, Smith-Blair 228 or Equal: Size: 20x15, O.D. Range: 21.60 - 22.80 - First Offer Line Item Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 24x20, O.D. Range: 25.70 - 26.80 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 30x30, O.D. Range: 31.70 - 32.90 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 36x36, O.D. Range: 37.85 - 39.20 - First Offer Group 1, Section C: Full Circle, Triple Band, Smith Blair 228 or Equal: Size: 42x20, O.D First Offer	\$426.31 Supplier Pro Supplier No \$485.57 Supplier No \$485.57 Supplier No \$494.98 Supplier Pro Supplier No \$597.23 Supplier Pro Supplier No \$1,444.36 Supplier No \$1,444.36 Supplier No \$1,444.36 Supplier No \$1,448.36 Supplier No \$2,967.33 Supplier No \$1,885.77 Supplier No Supplier No Supplier No	Otty/Unit 10 / each oduct Code: tes: 11 / each oduct Code: tes:	\$4,263.1 \$2,1790-2 \$7,077.2 \$7,077.2 \$2,1857-3 \$4,855.7 \$2,1998-2 \$4,949.8 \$2,2227-2 \$5,972.3 \$2,7118.1 \$7,047.9 \$3,2680-2 \$1,444.3 \$3,3290-3 \$1,885.7 \$4,3920-3 \$1,885.7 \$55-4500-

Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	FS7-5756-20
			Lot Total:	\$17,646.13
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2404-01	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 3x7.5, 1 inch cc tap, O.D. Range: 3.73 - 4.00 - First Offer	\$95.68	1 / each	\$95.68
Product Code: Agency Notes:		Supplier Pro CC4 Supplier No	oduct Code: otes:	F1-400-75-
OCWUT 22-2404-02	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 3/4 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer	\$123.79	15 / each	\$1,856.85
Product Code: Agency Notes:	, , , , , , , , , , , , , , , , , , ,		oduct Code:	
		Supplier No	tes:	
OCWUT 22-2404-03 Product Code: Agency Notes:	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 1 inch cc tap, O.D. Range: 4.74 - 5.15 - First Offer	CC4	oduct Code:	\$1,485.48 F1-514-125-
0044172224		Supplier No	I	#4 724 24
OCWUT 22-2404-04 Product Code:	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 4x12.5, 2 inch cc tap, O.D. Range: 4.74 - 5.16 - First Offer	\$144.27	12 / each oduct Code:	\$1,731.24
Agency Notes:		CC7 Supplier No		11-314-123-
OCWUT 22-2404-05	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 3/4 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$133.43	45 / each	\$6,004.35
Product Code: Agency Notes:		Supplier Pro	oduct Code:	F1-724-125-
		Supplier No	otes:	
OCWUT 22-2404-06 Product Code: Agency Notes:	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 1 inch cc tap, O.D. Range: 6.84 - 7.25 - First Offer	CC4	30 / each oduct Code:	\$4,002.90 F1-724-125-
OCIVILIT 20 04 04 55	Court 2 Courts Distillated Court Burd Tourist Court 200 St. Let Co	Supplier No		#4.ECC.4-
OCWUT 22-2404-07	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range: 6.84 - 7.25 - First Offer	\$152.67	30 / each	\$4,580.10
Product Code: Agency Notes:		Supplier Pro	oduct Code:	F1-724-125-
Agency Notes.		Supplier No	otes:	
OCWUT 22-2404-08	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range: 7.45 - 7.89 - First Offer	\$152.67	30 / each	\$4,580.10
Product Code: Agency Notes:		Supplier Pro	oduct Code:	F1-785-125-
		Supplier No	tes:	
OCWUT 22-2404-09	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 3/4 inch cc tap, O.D. Range: 6.84 - 7.26 - First Offer	\$167.34	10 / each	\$1,673.40
Product Code: Agency Notes:		Supplier Pro CC3 Supplier No	oduct Code: otes:	F1-724-15-
OCWUT 22-2404-10	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 1 inch cc tap, O.D. Range: 6.84 - 7.27 - First Offer	\$167.34	25 / each	\$4,183.50
Product Code: Agency Notes:		Supplier Pro CC4 Supplier No	oduct Code:	F1-724-15-
OCWUT 22-2404-11	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 2 inch cc tap, O.D. Range: 6.84 - 7.27 - First Offer	\$168.60	25 / each	\$4,215.00
Product Code: Agency Notes:		Supplier Pro CC7 Supplier No	oduct Code:	F1-724-15-
OCWUT 22-2404-12	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 6x15, 1 inch cc tap, O.D. Range: 7.05 - 7.45 - First Offer	\$167.34	25 / each	\$4,183.50
Product Code:	Group Z, Section D. Pull Circle, Single Barlot Tapped, Similarbian 258 of Equal, Size, 0x15, 1 incircle tap, 0x2, narige, 7x3 = 7x43 = Pilist Orien			
Agency Notes:		CC4 Supplier No	oduct Code: otes:	11-743-13-
OCWUT 22-2404-13	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer	\$146.24	15 / each	\$2,193.60
Product Code: Agency Notes:		Supplier Pro CC3 Supplier No	oduct Code:	F1-939-125-
OCWUT 22-2404-14	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 1 inch cc tap, O.D. Range: 8.99 - 9.40 - First Offer	\$146.24	12 / each	\$1,754.88
Product Code: Agency Notes:			oduct Code:	
		Supplier No		
OCWUT 22-2404-15	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x12.5, 2 inch cc tap, O.D. Range: 8.99 - 9.40 - First Offer	\$164.86		\$1,318.88
Product Code: Agency Notes:		Supplier Pro CC7 Supplier No	oduct Code:	F1-939-125-
OCWUT 22-2404-16	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 3/4 inch cc tap, O.D. Range: 8.99 - 9.41 - First Offer	\$173.62		\$1,388.96
Product Code: Agency Notes:	Group 2, Section 5.1 difference, single bond happed, sinitin blair 250 of Equal Size. Oxio, sin microte day, 6.8. nange. 0.55 5.41 This one	Supplier Pro	oduct Code:	
OCWIT 22 24 04 47	Group 2 Section D: Eull Circle Single Pand Tapped Smith Blair 200 or Equal: Sing 0.45 4 inch as tage O.D. Bangar 0.00 0.43 Single Office	Supplier No		¢1 200 00
OCWUT 22-2404-17	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 1 inch cc tap, O.D. Range: 8.99 - 9.42 - First Offer		8 / each	\$1,388.96
Product Code: Agency Notes:		Supplier Pro CC4 Supplier No	oduct Code: otes:	r I-939-15-
OCWUT 22-2404-18	Group 2, Section D: Full Circle, Single Band Tapped, Smith-Blair 238 or Equal: Size: 8x15, 2 inch cc tap, O.D. Range: 8.99 - 9.42 - First Offer	\$193.47		\$1,547.76
Product Code:	1		oduct Code:	
Agency Notes:		CC7 Supplier No		
				\$48,185.14
Item #	Line Item	Unit Price		Total Price
OCWUT 22-2405-01	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 3/4 inch cc tap, O.D. Range: 11.04 - 11.84 - First Offer	\$322.91	6 / each	\$1,937.46
Product Code: Agency Notes:		Supplier Pro	oduct Code:	F2-1184-15-
. gency Notes.		Supplier No	otes:	

OCWUT 22-2405-02	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 1 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	\$322.91 6 / each	1 \$1,937.46
Product Code:	Group 2, section E. Fair Circle, Southle Saira Tapped, Smith Sair 255 of Equal, Size. Tokins, Find receipt, S. S. Hange, F. Ho. 11.50 This orien	Supplier Product Co	
Agency Notes:		CC4 Supplier Notes:	
OCWUT 22-2405-03	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x15, 2 inch cc tap, O.D. Range: 11.75 - 12.15 - First Offer	\$227.01 6 / each	\$1,362.06
Product Code:		Supplier Product Co	
Agency Notes:		CC7 Supplier Notes:	
OCWUT 22-2405-04	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 3/4 inch cc tap, O.D. Range: 13.10 - 13.50 - First Offer	· · ·	\$1,391.88
Product Code:		Supplier Product Co	de: F1-1350-15-
Agency Notes:		CC3 Supplier Notes:	
OCWUT 22-2405-05	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 1 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer		\$1,869.66
Product Code:		Supplier Product Co	de: F2-1400-15-
Agency Notes:		CC4 Supplier Notes:	
OCWUT 22-2405-06	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x15, 2 inch cc tap, O.D. Range: 13.40 - 13.80 - First Offer		\$1,489.68
Product Code:		Supplier Product Co	de: F1-1380-15-
Agency Notes:		CC7 Supplier Notes:	
OCWUT 22-2405-07	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12.5, 3/4 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer		s1,599.60
Product Code:		Supplier Product Co	de: F2-1400-
Agency Notes:		125-CC3 Supplier Notes:	
OCWUT 22-2405-08	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12.5, 1 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer	\$266.60 6 / each	s1,599.60
Product Code:		Supplier Product Co	de: F2-1400-
Agency Notes:		Supplier Notes:	
OCWUT 22-2405-09	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 12x12.5, 2 inch cc tap, O.D. Range: 13.20 - 14.00 - First Offer	\$288.31 6 / each	s1,729.86
Product Code: Agency Notes:		Supplier Product Co	de: F2-1400-
Agency Notes.		Supplier Notes:	
OCWUT 22-2405-10	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 3/4 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	\$267.63 6 / each	s1,605.78
Product Code: Agency Notes:		Supplier Product Co 125-CC3	de: F2-1190-
Agency Notes.		Supplier Notes:	
OCWUT 22-2405-11	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 1 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	 	
Product Code: Agency Notes:		Supplier Product Co 125-CC4	de: F2-1190-
rigency recess		Supplier Notes:	
OCWUT 22-2405-12	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 10x12.5, 2 inch cc tap, O.D. Range: 11.10 - 11.90 - First Offer	\$282.73 6 / each	
Product Code: Agency Notes:		Supplier Product Co 125-CC7	de: F2-1190-
		Supplier Notes:	
OCWUT 22-2405-13	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 3/4 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer		
Product Code: Agency Notes:		Supplier Product Co CC3	de: F1-939-125-
		Supplier Notes:	
OCWUT 22-2405-14	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 1 inch cc tap, O.D. Range: 8.99 - 9.39 - First Offer		
Product Code: Agency Notes:		Supplier Product Cod CC4	ae: F1-939-125-
		Supplier Notes:	T
OCWUT 22-2405-15 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 8x12.5, 2 inch cc tap, O.D. Range: 9.27 - 9.67 - First Offer	\$167.54 6 / each	
Agency Notes:		CC7	ue.11-307-123-
0.504,054,654,6		Supplier Notes:	#000 50
OCWUT 22-2405-16 Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 3/4 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$133.43 6 / each	
Agency Notes:		CC3	uc.11724123
OCWUT 22-2405-17	Group 2 Section F. Full Circle Double Pand Tappad Smith Plair 220 or Equal Size 6:43.5.4 inch actap. O.D. Pango 6:04, 7.34. First Offer	Supplier Notes: \$133.43 6 / each	\$800.58
Product Code:	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 1 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	\$133.43 6 / each	
Agency Notes:		CC4	
OCWUT 22-2405-18	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 6x12.5, 2 inch cc tap, O.D. Range: 6.84 - 7.24 - First Offer	Supplier Notes: \$152.67 6 / each	\$916.02
Product Code:	Group 2, зесцоп с. гон споте, родине вани таррец, этнителан 259 от Equal: Size: ох 12.5, 2 Intri cc tap, О.D. Kange: 6,84 - 7.24 - First Опег	Supplier Product Co	
Agency Notes:		CC7	
OCWUT 22-2405-19	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 3/4 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer	Supplier Notes: \$123.79 4 / each	s495.16
Product Code:	Group 2, section E. Fair Circle, sousie band rapped, smilitrolan 255 of Equal. Size. 4X12.5, 574 IIICH C. Idp, O.D. Range. 4.74 - 5.14 - Fifst Offer	Supplier Product Co	
Agency Notes:		ссз	
OCWUT 22-2405-20	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 1 inch cc tap, O.D. Range: 4.74 - 5.14 - First Offer	Supplier Notes: \$123.79 4 / each	s495.16
Product Code:	Soup a possion and an ender possion but in tupped, annut but about a squall also take to take, our trulge, the this office	Supplier Product Co	
Agency Notes:		CC4	
OCWUT 22-2405-21	Group 2, Section E: Full Circle, Double Band Tapped, Smith-Blair 239 or Equal: Size: 4x12.5, 2 inch cc tap, O.D. Range: 4.95 - 5.35 - First Offer	Supplier Notes: \$144.27 4 / each	n \$577.08
Product Code:	This one	Supplier Product Co	
Agency Notes:		CC7 Supplier Notes:	
			tal: \$26,669.90
Item #	Line Item		nit Total Price
			-

Agency Notes: OCWUT 22-24-07-15 Product Code: Agency Notes: OCWUT 22-24-07-16 Product Code: Agency Notes: OCWUT 22-24-07-17 Product Code: Agency Notes: OCWUT 22-24-07-17 Agency Notes: OCWUT 22-24-07-18 Agency Notes:	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 42 inch, - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 48 inch, O.D. Range: n/a - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 54 inch - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 54 inch - First Offer	Supplier Product Code: F Supplier Notes: \$1,804.10 1 / each Supplier Product Code: F Supplier Notes:	\$1,804.10 BCF-5198 \$2,077.68
Agency Notes: OCWUT 22-24-07-15 Product Code: Agency Notes: OCWUT 22-24-07-16 Product Code: Agency Notes: OCWUT 22-24-07-17 Product Code: Agency Notes:	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 48 inch, O.D. Range: n/a - First Offer Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 54 inch - First Offer	\$1,674.93	\$1,804.10 BCF-5198 \$2,077.68 BCF-5756
Agency Notes: OCWUT 22-24-07-15 Product Code: Agency Notes: OCWUT 22-24-07-16 Product Code: Agency Notes: OCWUT 22-24-07-17 Product Code:	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 48 inch, O.D. Range: n/a - First Offer	\$1,674.93	\$1,804.10 BCF-5198 \$2,077.68
Agency Notes: OCWUT 22-2407-15 Product Code: Agency Notes: OCWUT 22-2407-16 Product Code: Agency Notes: OCWUT 22-2407-17	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 48 inch, O.D. Range: n/a - First Offer	\$1,674.93	\$1,804.10 BCF-5198 \$2,077.68
Agency Notes: OCWUT 22-2407-15 Product Code: Agency Notes: OCWUT 22-2407-16 Product Code:		\$1,674.93 1 / each Supplier Product Code: F Supplier Notes: \$1,804.10 1 / each Supplier Product Code: F	BCF-4450 \$1,804.10
Agency Notes: OCWUT 22-2407-15 Product Code: Agency Notes: OCWUT 22-2407-16		\$1,674.93 1 / each Supplier Product Code: F Supplier Notes: \$1,804.10 1 / each	BCF-4450 \$1,804.10
Agency Notes: OCWUT 22-2407-15 Product Code:	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 42 inch, - First Offer	\$1,674.93 1 / each Supplier Product Code: F Supplier Notes:	
Agency Notes: OCWUT 22-2407-15	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 42 inch, - First Offer	\$1,674.93 1 / each	
Agency Notes:			¢1 (71)
ouuct coue.			
Product Code:	5.50p s, section 6. sen joint clamp, small sion 274 of Equal Size, 30 inch, 6.05, range, 57.30 - 36.71 - Flist Offer	Supplier Product Code: F	
Agency Notes: OCWUT 22-2407-14	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 36 inch, O.D. Range: 37.96 - 38.71 - First Offer	Supplier Notes: \$1,495.44 1 / each	\$1,495.44
Product Code:		Supplier Product Code: F	BCF-3200
OCWUT 22-2407-13	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 30 inch, O.D. Range: 31.74 - 32.74 - First Offer		\$2,735.80
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	BCF-2580
OCWUT 22-2407-12	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 24 inch, O.D. Range: 25.80 - 26.32 - First Offer		\$4,904.96
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	BCF-2160
OCWUT 22-2407-11	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 20 inch, O.D. Range: 21.60 - 22.06 - First Offer		\$2,167.36
Agency Notes:		Supplier Notes:	
OCWUT 22-2407-10 Product Code:	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 18 inch, O.D. Range: 19.20 - 19.92 - First Offer	\$1,074.96 2 / each Supplier Product Code: F	\$2,149.92 BCF-1950
Agency Notes:	Command Control Control Control Philipper	Supplier Notes:	#D 4 40 07
Product Code:	5. 34p 3) Section of Senjoint Guirpy Smith Sidn 2740 Equal Size, To findly Old Hunge, 1740-17,00-113t Offer	Supplier Product Code: F	
Agency Notes: OCWUT 22-2407-09	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 16 inch, O.D. Range: 17.40 - 17.80 - First Offer	\$973.81 3 / each	\$2,921.43
Product Code:		Supplier Product Code: F	
OCWUT 22-2407-08	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 12 inch, O.D. Range: 13.20 - 13.50 - First Offer		\$2,160.60
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	BC-1140
OCWUT 22-2407-07	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 10 inch, O.D. Range: 11.00 - 11.40 - First Offer		\$1,422.88
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	·BC-930
OCWUT 22-2407-06	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 8 inch, O.D. Range: 9.05 - 9.30 - First Offer		\$1,021.44
Agency Notes:		Supplier Notes:	
OCWUT 22-2407-05 Product Code:	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 6 inch, O.D. Range: 6.90 - 7.10 - First Offer	\$112.81 10 / each Supplier Product Code: F	\$1,128.10 BC-710
Agency Notes:	Group 3 Section G. Rall Joint Clamp Smith Riair 274 or Equal Size 6 inch O.D. Danger 6.00, 7.40. First Offer	Supplier Notes:	\$1 179 10
Product Code:	-p	Supplier Product Code: F	
OCWUT 22-2407-04	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 4 inch, O.D. Range: 4.80 - 5.00 - First Offer		\$1,117.60
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	BC-350
OCWUT 22-2407-03	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 3 inch, O.D. Range: 3.80 - 3.96 - First Offer		\$255.12
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	-DC-288
OCWUT 22-2407-02	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2.5 inch, O.D. Range: 2.75 - First Offer		\$113.40
Agency Notes:		Supplier Notes:	
OCWUT 22-2407-01 Product Code:	Group 3, Section G: Bell Joint Clamp, Smith-Blair 274 or Equal: Size: 2 inch, O.D. Range: 2.5 - First Offer	\$51.25 10 / each Supplier Product Code: F	\$512.50 BC-238
Item#	Line Item	Unit Price Qty/Unit	
		Lot Tota	al: \$883.08
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	·SC-350-3
OCWUT 22-2406-07	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3x3 - First Offer		\$101.36
Agency Notes:		Supplier Notes:	JC 200-J
OCWUT 22-2406-06 Product Code:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2.5x3 - First Offer	\$12.40 8 / each Supplier Product Code: F	\$99.20 SC-288-3
Agency Notes:		Supplier Notes:	*00.00
Product Code:	Stop 2, Section The Stop Strain Dian 2-4 or Equal Steel 200, North College, 200 - Historical	Supplier Product Code: F	
Agency Notes: OCWUT 22-2406-05	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 2x3, O.D. Range: 2.38 - First Offer	Supplier Notes: \$10.86 8 / each	\$86.88
Product Code:		Supplier Product Code: F	SC-190-3
OCWUT 22-2406-04	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/2x3, O.D. Range: 1.90 - First Offer	\$8.86 14 / each	\$124.04
Product Code: Agency Notes:		Supplier Product Code: F Supplier Notes:	SC-166-3
OCWUT 22-2406-03	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1-1/4x3, O.D. Range: 166 - First Offer		\$121.52
Agency Notes:		Supplier Notes:	JC 134-3
OCWUT 22-2406-02 Product Code:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 1x3, O.D. Range: 1.32 - First Offer	\$8.18 20 / each Supplier Product Code: F	\$163.60
Agency Notes:		Supplier Notes:	
	, , , , , , , , , , , , , , , , , , , ,	Supplier Product Code: F	
Product Code:	Group 2, Secton F: REDI-CLAMP, Smith-Blair 244 or Equal: Size: 3/4x3, O.D. Range: 1.05 - First Offer	\$7.77 24 / each	\$186.48
OCWUT 22-2406-01 Product Code:	Croup 2 Coston F. DEDI CLAMB Conth Blain 244 on Equal Cine 244.0 O.D. Danner 4.05 Eline Office	¢777 2//	#10C

Item#	Line Item	Unit Price	Otv/Unit	Total Price
OCWUT 22-2408-01	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 3/4 inch, O.D. Range: 2.35 - 2.56 - First Offer	\$29.75	12 / each	\$357.00
Product Code: Agency Notes:		Supplier Pro		F202-250-
OCWUT 22-2408-02	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 2 inch x 1 inch, O.D. Range: 2.35 - 2.57 - First Offer	Supplier No \$29.75	3 / each	\$89.25
Product Code:		Supplier Pro		
Agency Notes:		CC4 Supplier No		*****
OCWUT 22-2408-03 Product Code:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 3/4 inch, O.D. Range: 3.75 - 4.55 - First Offer	\$34.69 Supplier Pro	3 / each	\$104.07 E202-425-
Agency Notes:		CC3 Supplier No		1202-423
OCWUT 22-2408-04	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1 inch, O.D. Range: 3.75 - 4.56 - First Offer	\$34.69	4 / each	\$138.76
Product Code: Agency Notes:		Supplier Pro CC4 Supplier No		F202-425-
OCWUT 22-2408-05	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 3 inch x 1.5 inch, O.D. Range: 3.75 - 4.57 - First Offer	\$40.63	2 / each	\$81.26
Product Code: Agency Notes:		Supplier Product Code: F202-4. CC6 Supplier Notes:		F202-425-
OCWUT 22-2408-06	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 3/4 inch, O.D. Range: 4.74 - 5.63 - First Offer	\$38.08	2 / each	\$76.16
Product Code:		Supplier Pro	duct Code:	F202-526-
Agency Notes:		CC3 Supplier No	tes:	
OCWUT 22-2408-07	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1 inch, O.D. Range: 4.74 - 5.64 - First Offer		14 / each	\$533.12
Product Code: Agency Notes:		Supplier Pro CC4 Supplier No		F202-526-
OCWUT 22-2408-08	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 1.5 inch, O.D. Range: 4.74 - 5.65 - First Offer		2 / each	\$85.60
Product Code: Agency Notes:		Supplier Pro CC6 Supplier No		F202-526-
OCWUT 22-2408-09	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 4 inch x 2 inch, O.D. Range: 4.74 - 5.66 - First Offer	\$42.80	2 / each	\$85.60
Product Code: Agency Notes:		Supplier Pro		F202-526-
OCWUT 22-2408-10	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 3/4 inch, O.D. Range: 6.84 - 7.60 - First Offer	Supplier No \$43.25	150 / each	\$6,487.50
Product Code: Agency Notes:		Supplier Pro CC3 Supplier No		F202-760-
OCWUT 22-2408-11	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1 inch, O.D. Range: 6.84 - 7.61 - First Offer		54 / each	\$2,335.50
Product Code: Agency Notes:		Supplier Pro		F202-760-
OCWUT 22-2408-12	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 1.5 inch, O.D. Range: 6.84 - 7.62 - First Offer	\$52.63	36 / each	\$1,894.68
Product Code: Agency Notes:		Supplier Pro		F202-760-
OCWUT 22-2408-13	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 6 inch x 2 inch, O.D. Range: 6.84 - 7.63 - First Offer		6 / each	\$315.78
Product Code: Agency Notes:		Supplier Pro	duct Code:	F202-760-
OCWUT 22-2408-14	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 3/4 inch, O.D. Range: 8.54 - 10.10 - First Offer	Supplier No \$49.36	tes: 18 / each	\$888.48
Product Code: Agency Notes:	Group 3, section 11. Double-strap rapping saudie, ee rap, siniterbian 313 of Equal. Size. officin x 374 inch, 6.6. Range. 6.544 for the first Orien	Supplier Pro		
	Course Continuity Durish Course 1. C. C. H. Cott. C. M. Dill. 2020. E. L. C. C. C. L. C.	Supplier No		#000 10
OCWUT 22-2408-15 Product Code: Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 1 inch, O.D. Range: 8.54 - 10.11 - First Offer	\$49.36 Supplier Pro	18 / each	\$888.48 F202-979-
OCMUT 22 24 22 15	Cours 2 Contine III Double Cours Translan Coddle CCTra C 211 D1 242 F	Supplier No		#245.25
OCWUT 22-2408-16 Product Code: Agency Notes:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 1.5 inch, O.D. Range: 8.54 - 10.12 - First Offer	\$61.59 Supplier Pro	4 / each	\$246.36 F202-979-
OCWUT 22-2408-17	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 8 inch x 2 inch, O.D. Range: 8.54 - 10.13 - First Offer	Supplier No \$61.59	tes: 8 / each	\$492.72
Product Code:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Biair 313 of Equal: Size: 8 Inch x 2 Inch, O.D. Range: 8.54 - 10.13 - First Offer	Supplier Pro		
Agency Notes:		CC7 Supplier No	tes:	
OCWUT 22-2408-18	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 3/4 inch, O.D. Range: 10.64 - 12.12 - First Offer	\$57.54	4 / each	\$230.16
Product Code: Agency Notes:		Supplier Pro CC3 Supplier No		F202-1212-
OCWUT 22-2408-19	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 1 inch, O.D. Range: 10.64 - 12.13 - First Offer	\$57.54	2 / each	\$115.08
Product Code: Agency Notes:		Supplier Pro		F202-1212-
OCWUT 22-2408-20	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 1.5 inch, O.D. Range: 10.64 - 12.14 - First Offer	Supplier No \$61.34	tes: 2 / each	\$122.68
Product Code: Agency Notes:	, , , , , , , , , , , , , , , , , , ,	Supplier Pro		
		Supplier No		
OCWUT 22-2408-21	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 10 inch x 2 inch, O.D. Range: 10.64 - 12.15 - First Offer	\$61.34	2 / each	\$122.68

roduct Code: gency Notes:		Supplier Product Co CC7	de: F202-1212-
		Supplier Notes:	
OCWUT 22-2408-22 roduct Code:	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 3/4 inch, O.D. Range: 12.62 - 14.32 - First Offer	\$60.41 5 / eacl	
gency Notes:		Supplier Product Co CC3 Supplier Notes:	ue: F2U2-1436-
OCWUT 22-2408-23	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 1 inch, O.D. Range: 12.62 - 14.33 - First Offer	\$60.41 6 / eacl	n \$362.46
Product Code: Agency Notes:		Supplier Product Co CC4 Supplier Notes:	de: F202-1438-
OCWUT 22-2408-24	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 1.5 inch, O.D. Range: 12.62 - 14.34 - First Offer	\$76.57 2 / eacl	n \$153.14
roduct Code: gency Notes:		Supplier Product Co	de: F202-1438-
DCWUT 22-2408-25	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 12 inch x 2 inch, O.D. Range: 12.62 - 14.35 - First Offer	Supplier Notes: \$76.57 74 / ea	ch \$5,666.18
roduct Code: gency Notes:		Supplier Product Co	
OCWUT 22-2408-26	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 3/4 inch, O.D. Range: 14.73 - 15.65 - First Offer	Supplier Notes: \$71.36 1 / eacl	n \$71.36
roduct Code: legency Notes:		Supplier Product Co	
OCWUT 22-2408-27	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 1 inch, O.D. Range: 14.73 - 15.66 - First Offer	Supplier Notes: \$71.36 1 / eacl	n \$71,36
Product Code: Agency Notes:		Supplier Product Co CC4 Supplier Notes:	
OCWUT 22-2408-28	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 1.5 inch, O.D. Range: 14.73 - 15.67 - First Offer	\$86.91 1 / eacl	n \$86.91
Product Code: Agency Notes:		Supplier Product Co CC6 Supplier Notes:	de: F202-1625-
OCWUT 22-2408-29	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 14 inch x 2 inch, O.D. Range: 14.73 - 15.68 - First Offer	\$86.91 1 / eacl	n \$86.91
Product Code: Agency Notes:		Supplier Product Co CC7 Supplier Notes:	de: F202-1625-
OCWUT 22-2408-30	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 3/4 inch, O.D. Range: 17.40 - 18.88 - First Offer	\$84.69 2 / eacl	n \$169.38
Product Code: Agency Notes:		Supplier Product Co CC3 Supplier Notes:	de: F202-1840-
OCWUT 22-2408-31	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 1 inch, O.D. Range: 17.40 - 18.89 - First Offer	\$84.69 2 / eacl	n \$169.38
Product Code: Agency Notes:		Supplier Product Co CC4 Supplier Notes:	de: F202-1840-
OCWUT 22-2408-32	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 1.5 inch, O.D. Range: 17.40 - 18.90 - First Offer	\$105.00 2 / eacl	n \$210.00
Product Code: Agency Notes:		Supplier Product Co CC6 Supplier Notes:	de: F202-1840-
OCWUT 22-2408-33	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 16 inch x 2 inch, O.D. Range: 17.40 - 18.91 - First Offer	\$105.00 2 / eacl	n \$210.00
Product Code: Agency Notes:		Supplier Product Co CC7 Supplier Notes:	de: F202-1840-
OCWUT 22-2408-34	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 18 inch x 1 inch - First Offer	\$100.34 2 / eacl	n \$200.68
Product Code: Agency Notes:		Supplier Product Co CC4 Supplier Notes:	de: F202-2050-
OCWUT 22-2408-35	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 18 inch x 2 inch - First Offer	\$116.76 2 / eacl	n \$233.52
Product Code: Agency Notes:		Supplier Product Co CC7 Supplier Notes:	de: F202-2050-
OCWUT 22-2408-36	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 1 inch - First Offer	\$105.17 2 / eacl	n \$210.34
Product Code: Agency Notes:		Supplier Product Co CC4 Supplier Notes:	de: F202-2220-
OCWUT 22-2408-37	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 20 inch x 2 inch - First Offer	\$124.47 2 / eacl	n \$248.94
Product Code: Agency Notes:		Supplier Product Co CC7 Supplier Notes:	de: F202-2220-
OCWUT 22-2408-38	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 1 inch - First Offer	\$110.14 2 / eacl	n \$220.28
Product Code: Agency Notes:		Supplier Product Co CC4 Supplier Notes:	de: F202-2650-
OCWUT 22-2408-39	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 24 inch x 2 inch - First Offer	\$129.60 2 / eacl	n \$259.20
Product Code: Agency Notes:		Supplier Product Co CC7 Supplier Notes:	de: F202-2650-
OCWUT 22-2408-40	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 30 inch x 1 inch - First Offer	\$217.94 2 / eacl	n \$435.88
Product Code: Agency Notes:		Supplier Product Co CC4 Supplier Notes:	de: F202-3274-
OCWUT 22-2408-41	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 30 inch x 2 inch - First Offer	\$237.03 2 / eacl	n \$474.06
Product Code: Agency Notes:		Supplier Product Co	

I		Cumplion N	tor:	
OCWUT 22-2408-42	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 36 inch x 1 inch - First Offer	Supplier No \$280.60	2 / each	\$561.20
Product Code: Agency Notes:	aroup s, section is booke stup ripping studie, ee rup, smar built sis or equal size. So ner A i men i instrumen		oduct Code:	
OCWUT 22-2408-43	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 36 inch x 2 inch - First Offer		2 / each	\$605.20
Product Code:			oduct Code:	
Agency Notes:		3830-CC7 Supplier No		
OCWUT 22-2408-44	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 42 inch x 1 inch - First Offer	\$325.79	2 / each	\$651.58
Product Code: Agency Notes:		4450-CC4 Supplier No	oduct Code: otes:	-C202-
OCWUT 22-2408-45	Group 3, Section H: Double Strap Tapping Saddle, CC Tap, Smith-Blair 313 or Equal: Size: 42 inch x 2 inch - First Offer	\$343.03	2 / each	\$686.06
Product Code: Agency Notes:		Supplier Pro 4450-CC7 Supplier No	oduct Code: otes:	FC202-
			Lot Total:	\$28,036.99
Item #	Line Item	Unit Price	Qty/Unit	
OCWUT 22-2409-01	Group 4, Section I: Service Body, Smith-Blair or Equal: Size: 18 inch through 48 inch	Cumpling Dr	aduat Cada	No Bids
Agency Notes:		Supplier Pro Supplier No	tes:	otal: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	
OCWUT 22-2410-01	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 3/4 inch cc insert			No Bids
Agency Notes:		Supplier Pro Supplier No		
OCWUT 22-2410-02	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 1 inch cc insert			No Bids
Agency Notes:		Supplier Pro Supplier No		
OCWUT 22-2410-03	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 1.5 inch cc insert	C		No Bids
Agency Notes:		Supplier Pro Supplier No		
OCWUT 22-2410-04 Agency Notes:	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: 2 inch cc insert	Supplier Pro	oduct Code:	No Bids
OCWUT 22-2410-05	Group 4, Section J: Tapped Insert, Ductile Iron, ASTM-536, Grade 60 Buna-N-Gasket: Size: Hemispherical washer; ductile iron, ASTM-536	Supplier No	ics.	No Bids
Agency Notes:	alsop (section) represented octains to the sound of cashed section in the section of the section	Supplier Pro Supplier No	ites:	
Itam #	Line Item	Linia Duina		otal: \$0.00
OCWUT 22-2411-01	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 18 inch, O.D. Range: 19.25 - 20.00 - First Offer	Unit Price \$63.00	6 / each	\$378.00
Product Code:	area for the second of the sec			
Agency Notes:		Supplier Pro	oduct Code:	
Agency Notes:	Crown A Fastian W Dala Accombit for use with 622 Saddler Corbon Steel ASTM A205 Strong ASTM ASSA Aller Notes Size 20 inch A.D. Danger 22 TF 2450. First Office	Supplier Pro STRAPS Supplier No	oduct Code:	F202-2050-
Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 20 inch, O.D. Range: 23.75 - 24.50 - First Offer	Supplier Pro STRAPS Supplier No \$70.00 Supplier Pro STRAPS	oduct Code: otes: 6 / each oduct Code:	\$420.00
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes:		Supplier Pro STRAPS Supplier No \$70.00 Supplier Pro STRAPS Supplier No	oduct Code: otes: 6 / each oduct Code: otes:	\$420.00 \$202-2480-
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 20 inch, O.D. Range: 23.75 - 24.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Astmatical Astmat	Supplier Pro STRAPS Supplier No \$70.00 Supplier Pro STRAPS Supplier No \$70.00 Supplier Pro STRAPS	oduct Code: otes: 6 / each oduct Code: tes: 6 / each oduct Code:	\$420.00 \$202-2480- \$420.00
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer	Supplier Pro STRAPS Supplier No \$70.00 Supplier Pro STRAPS Supplier No \$70.00 Supplier Pro STRAPS Supplier No	oduct Code: l otes: 6 / each oduct Code: l otes: 6 / each oduct Code: l	\$420.00 \$202-2480- \$420.00 \$420.00 \$202-2650-
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code:		Supplier Pri STRAPS Supplier No \$70.00 Supplier Pri STRAPS Supplier No Supplier Pri STRAPS Supplier Pri STRAPS Supplier No \$136.65 Supplier Pri	oduct Code: otes: 6 / each oduct Code: tes: 6 / each oduct Code:	\$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer	Supplier Pri STRAPS Supplier No \$70.00 Supplier Pri STRAPS Supplier No \$70.00 Supplier Pri STRAPS Supplier No \$136.65	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes:	\$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer	Supplier Pristraps Supplier No. \$70.00 Supplier PristraPs Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65	oduct Code: l otes: 6 / each oduct Code: l otes: 6 / each oduct Code: l otes: 3 / each oduct Code: l otes: detes:	\$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for Use Assembly for U	Supplier Pri STRAPS Supplier No \$70.00 Supplier Pri STRAPS Supplier No \$70.00 Supplier Pri STRAPS Supplier No \$136.65 Supplier Pri STRAPS Supplier Pri STRAPS Supplier Pri	oduct Code: l otes: 6 / each oduct Code: l otes: 6 / each oduct Code: l otes: 3 / each oduct Code: l otes: detes:	\$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95 \$202-3274-
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46	Supplier Pristraps Supplier No. \$70.00 Supplier PristraPs Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65	oduct Code: free: 6 / each oduct Code: free: 6 / each oduct Code: free: 3 / each oduct Code: free: oduct Code:	\$420.00 \$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46	Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65 Supplier Pristraps Supplier No. Supplier Pristraps Supplier Pristraps	oduct Code: for each oduct Code: for each oduct Code:	\$420.00 \$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-06 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48	Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65 Supplier Pristraps Supplier No. Supplier Pristraps Supplier No. Supplier No. Supplier No. Supplier No.	oduct Code: for each oduct Code: for each oduct Code: oduct Code: otes: 3 / each oduct Code: otes: oduct Code:	\$420.00 \$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids No Bids
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-06 Agency Notes: OCWUT 22-2411-07 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98	Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps	oduct Code: otes: 6 / each oduct Code: otes: 3 / each oduct Code: otes: 3 / each oduct Code: otes: oduct Code:	\$420.00 \$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids No Bids
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-06 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48	Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65 Supplier Pristraps Supplier No. Supplier Pristraps Supplier Pristraps	oduct Code: otes: 6 / each oduct Code: otes: 3 / each oduct Code: otes: 3 / each oduct Code: otes: oduct Code:	\$420.00 \$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids No Bids
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-06 Agency Notes: OCWUT 22-2411-07 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 Line Item	Supplier Pristraps Supplier No. \$70.00 Supplier No. \$70.00 Supplier Pristraps Supplier Pristraps Supplier Pristraps Supplier Pristraps Supplier No.	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes: oduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes:	\$420.00 \$420.00 \$420.00 \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids No Bids No Bids \$1,627.95 Total Price \$60.78
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-07 Agency Notes: OCWUT 22-2411-07 Agency Notes: OCWUT 22-2411-07 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840 - First Offer	Supplier Pristraps Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier Pristraps Supplier No. \$136.65 Supplier No. Supplier Pristraps Supplier No. Supplier Pristraps Supplier No. Supplier Pristraps	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes: oduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total	\$420.00 \$420.00 \$420.00 \$420.00 \$420.00 \$409.95 \$202-3274 No Bids No Bids Total Price \$60.78 \$60.78 \$138.57 \$141:\$60.78
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-07 Agency Notes: Item # OCWUT 22-2412-01 Product Code: Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840 - First Offer	Supplier Pristraps Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65 Supplier No. \$136.65 Supplier No. Supplier Pristraps	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes: oduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total Qty/Unit Qty/Unit Qty/Unit	\$420.00 \$420.00 \$420.00 \$420.00 \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids No Bids No Bids Total Price \$60.78 \$60.78 Total Price
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-07 Agency Notes: OCWUT 22-2411-07 Agency Notes: OCWUT 22-2411-07 Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840 - First Offer	Supplier Pristraps Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65 Supplier No. \$136.65 Supplier No. Supplier Pristraps Supplier Pristraps Supplier Pristraps Supplier No. Unit Price \$30.39 Supplier Pristraps Supplier No. Unit Price \$32.30	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes: oduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total	\$420.00 \$420.00 \$420.00 \$420.00 \$409.95 \$202-3274 No Bids No Bids No Bids Total Price \$60.78 \$1031 \$1041
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-07 Agency Notes: Item # OCWUT 22-2412-01 Product Code: Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840 - First Offer	Supplier Pristraps Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65 Supplier No. \$136.65 Supplier No. Supplier Pristraps Supplier Pristraps Supplier Pristraps Supplier No. Unit Price \$30.39 Supplier Pristraps Supplier No. Unit Price \$32.30	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes: coduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total	\$420.00 \$420.00 \$420.00 \$202-2480- \$409.95 \$202-3274- No Bids No Bids No Bids Total Price \$60.78 \$73-084-5 stal: \$60.78 Total Price \$64.60 \$64.60
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-07 Agency Notes: Item # OCWUT 22-2412-01 Product Code: Agency Notes: Item # OCWUT 22-2413-01 Product Code: Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840 - First Offer	Supplier Pristraps Supplier Pristraps Supplier No. \$70.00 Supplier Pristraps Supplier No. \$136.65 Supplier Pristraps	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes: coduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total	\$420.00 \$420.00 \$202-2480- \$420.00 \$202-2650- \$409.95 \$202-3274- No Bids No Bids No Bids Total Price \$60.78 \$73-084-5 stal: \$64.60 \$64.60
Agency Notes: OCWUT 22-2411-02 Product Code: Agency Notes: OCWUT 22-2411-03 Product Code: Agency Notes: OCWUT 22-2411-04 Product Code: Agency Notes: OCWUT 22-2411-05 Agency Notes: OCWUT 22-2411-07 Agency Notes: Item # OCWUT 22-2412-01 Product Code: Agency Notes: Item # OCWUT 22-2413-01 Product Code: Agency Notes:	Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 24 inch, O.D. Range: 25.55 - 26.32 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 30 inch, O.D. Range: 31.75 - 32.50 - First Offer Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 36 inch, O.D. Range: 36.75 - 38.46 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 42 inch, O.D. Range: 44.20 - 45.48 Group 4, Section K: Bale Assembly for use with 622 Saddle: Carbon Steel ASTM-A285 Straps, ASTM-A563 Alloy Nuts: Size: 48 inch, O.D. Range: 50.50 - 51.98 Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 1/2 inch x 4.5 inch, O.D. Range: 0.840 - First Offer Line Item Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 411: Size: 3/4 inch x 4.5 inch, O.D. Range: 1.050 - First Offer	Supplier Pristraps	oduct Code: lotes: 6 / each oduct Code: lotes: 6 / each oduct Code: lotes: 3 / each oduct Code: lotes: coduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total Qty/Unit 2 / each oduct Code: lotes: Lot Total	\$420.00 \$420.00 \$420.00 \$202-2480- \$409.95 \$202-3274- No Bids No Bids No Bids Total Price \$60.78 \$73-084-5 stal: \$60.78 Total Price \$64.60 \$64.60

Product Code: Agency Notes:		Supplier Pro	oduct Code: otes:	FC3-132-5
- g,		 -		: al: \$199.32
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2415-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 414: Size: 1.25 inch x 5 inch, O.D. Range: 1.660 - First Offer	\$33.42	12 / each	\$401.04
Product Code: Agency Notes:		Supplier Pro Supplier No		
Itom #	Line Item	Unit Price		al: \$401.04
OCWUT 22-2416-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 415: Size: 1.5 inch x 5 inch, O.D. Range: 1.900 - First Offer	\$35.52	Qty/Unit 18 / each	\$639.36
Product Code:	Group 3, Section E. Fiexible Steel Gasketed Couplings, Smith Ball 413, Size. 1.3 met 8,3 met 9,00. kange. 1.500 - First Oriel		oduct Code:	
Agency Notes:		Supplier No	ites:	:al: \$639.36
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2417-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 416: Size: 2 inch x 5 inch, O.D. Range: 2.375 - First Offer	\$41.93	12 / each	\$503.16
Product Code: Agency Notes:		Supplier Pro Supplier No	oduct Code: l otes:	FC3-238-5
			Lot Tot	al: \$503.16
Item#	Line Item	Unit Price	Qty/Unit	
OCWUT 22-2418-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 417: Size: 2.5 inch x 5 inch, O.D. Range: 2.875 - First Offer	\$62.84	3 / each	\$188.52
Product Code: Agency Notes:		Supplier Pro Supplier No		FC3-288-5 :al: \$188.52
Item#	Line Item	Unit Price	Qty/Unit	
OCWUT 22-2419-01	Group 5, Section L: Flexible Steel Gasketed Couplings, Smith-Blair 418: Size: 3 inch x 5 inch, O.D. Range: 3.5 - First Offer	\$70.86	4 / each	\$283.44
Product Code: Agency Notes:			oduct Code:	
			Lot Tot	: al: \$283.44
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2420-01 Product Code: Agency Notes:	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 4 inch, Catalog #: 1504 - First Offer	\$38.00 Supplier Pro	1 / each	\$38.00 UFR1390-C-
		Supplier No	tes:	
OCWUT 22-2420-02	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 6 inch, Catalog #: 1506 - First Offer	\$44.53	1 / each	\$44.53
Product Code: Agency Notes:		Supplier Pro 6-I Supplier No	oduct Code: otes:	UFR1390-C-
OCWUT 22-2420-03	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 8 inch, Catalog #: 1508 - First Offer	\$70.65	1 / each	\$70.65
Product Code: Agency Notes:		8-1	oduct Code:	UFR1390-C-
OCWUT 22-2420-04	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 10 inch, Catalog #: 1510 - First Offer	Supplier No \$126.28	1 / each	\$126.28
Product Code: Agency Notes:	Group 3, Section W. Serrated Fitting Retainer for Duttile Hoff Pipe, EDAN 1300 of Equal. Size. To file, Catalog #. 1310 - Pilst Offer	Supplier Pro	oduct Code:	
OCWUT 22 24 20 0F	Course Continue McCountry Citizen Details of the District Course Course Course Country	Supplier No \$130.55		#120 FF
OCWUT 22-2420-05 Product Code:	Group 5, Section M: Serrated Fitting Retainer for Ductile Iron Pipe, EBAA 1500 or Equal: Size: 12 inch, Catalog #: 1512 - First Offer		1 / each oduct Code: I	\$130.55
Agency Notes:		12-I Supplier No		011(1330-6-
			Lot Tot	al: \$410.01
Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2421-01 Agency Notes:	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 4 inch, O.D. Range: 4.74 - 5.00	Supplier Pro	oduct Code:	No Bids
OCWUT 22-2421-02	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 6 inch, O.D. Range: 6.84 - 7.10			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 22-2421-03	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 8 inch, O.D. Range: 8.98 - 9.30			No Bids
Agency Notes:		Supplier Pro Supplier No	oduct Code: otes:	
OCWUT 22-2421-04	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 10 inch, O.D. Range: 11.03 - 11.40	C		No Bids
Agency Notes: OCWUT 22-2421-05	Group 5, Section N: Stainless Steel Line Shop Fittings, JCM 440 or Equal: Size: 12 inch, O.D. Range: 13.12 - 13.50	Supplier Pro	oduct Code: otes:	No Bids
Agency Notes:	e. eep a, eessen maaa soosi eine ahay mangaj jenn ma ah equan alee, te manj alah mange, ta te 1 1330	Supplier Pro Supplier No		Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	
OCWUT 22-2422-01	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 4 inch, Catalog #: 440-4HF	JINE FIRE	Qcy/OIIIC	No Bids
Agency Notes:	STOUP S, SECTION OF MURPHING TO THY STOUP MIRE THING, JUNI 440 OF EQUAL SIZE, 4 HICH, CATALOG #. 440-497	Supplier Pro Supplier No	oduct Code: otes:	מטום טויו
OCWUT 22-2422-02 Agency Notes:	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 6 inch, Catalog #: 440-6HF	Supplier Pro	oduct Code:	No Bids
OCWI IT 22 24 22 62	Crown E. Castian O. Adoptor Flangs for Livdes Stop Machina ICM 440 as Freezis Circuit Circuit Castland # 440 OUT	Supplier No	ites:	NI= D1 1
OCWUT 22-2422-03 Agency Notes:	Group 5, Section O: Adaptor Flange for Hydra-Stop Machine, JCM 440 or Equal: Size: 8 inch, Catalog #: 440-8HF	Supplier Pro Supplier No		No Bids
				Fotal: \$0.0

Item #	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT 22-2423-01	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 1: All replaceable components/attachments			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 22-2423-02	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 2: All replaceable components/attachments			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT 22-2423-03	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 3: All replaceable components/attachments			No Bids
Agency Notes: Supplier Product Supplier Notes: Supplier Notes:				
OCWUT 22-2423-04	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 4: All replaceable components/attachments			No Bids
Agency Notes:		Supplier Pro Supplier No		
OCWUT 22-2423-05	Group 6, Section Q: Repair / Replacement Parts for Repair Clamps: Group 5: All replaceable components/attachments			No Bids
Agency Notes:		Supplier Pro Supplier No		
Lot Total: \$0.0			Total: \$0.00	

	Close Print	
Tresha Williams	Chad Harrison	Brett Rangel
City Clerk	Purchasing Agent	Auditor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.